





SAMICK
LINEAR MOTION SYSTEM

Linear Bushing 011
Polygon Guide 271

Actuator 317



IMAGE MAP

Linear OFA|O} X
Bushing 2|L|ojRY

P. 066 P. 068 P 070
LMKP_L LMHP LMHP_L LMFM LMKM
/ ;f/"‘f‘,\f X /
o~ / | // N ‘f )/ AT

-/ v/ 7

P 080 P. 082 P 084
LMES_OP LMBS

P. 096 P. 098 P.100



LMBS_OP CLB LME_L
Qgx « ) )
2|L|ojs1Al | ’ Q
P110
LMEF LMEF L LMEK
e -
N o P
‘e B . ek
\“.5‘ ue\‘;ﬁ‘ ""‘ e
PTS Y -5
- / o // -
P 116 P 118 P 120
LMEFP_L
e /
P 126 P 128 P 130

2R0lE
HolA JLIE

SCW_N SCV SCJ SBR TBR

P.142 P 144 P.146
SCE SCE_W SCE_V

SUS SERIES
OfAlo BE
2|LI0j R

P. 152 P 154 P. 156



LM_L-SUS

LMK-SUS

P. 162

P172
LMFP_L-SUS

P.182
LMFM-SUS

P.192
LME_L-SUS

P. 202
LMEK-SUS

/

j(.
( \ ‘/_
\

1 /
'

|
g
(5

"/"

P.212

LM_AJ-SUS

P. 164
LMK_L-SUS

P174
LMKP-SUS

P.184
LMKM-SUS

[ g

P ')* A

y
/'
P 194

LME_AJ-SUS

P. 204
LMEK_L-SUS

‘o /
®

>4
5.':,

z

P 214

LM_OP-SUS LMF-SUS LMF_L-SUS
.fQ . - Y4
L | ”QW;J
-
o// Y
P 166 P 168 P 170
LMH-SUS LMH_L-SUS LMFP-SUS
e N
e ® @
2 =
P 176 P 178 P 180
LMKP_L-SUS LMHP-SUS LMHP_L-SUS
/ ’, (,7 y
Qn ‘/
] |
P 186 P 190
LMHM-SUS LME-SUS
A /
SUS SERIES
QU BE o))
a[L|ojAl
P 196 P 200
LME_OP-SUS LMEF-SUS LMEF_L-SUS
2 /
" /
.,‘ o
4 4
\
P 206 P 208 P210
LMEFP-SUS LMEFP_L-SUS LMEKP-SUS
£ - p // V// -
_a ) Y = 2 q
| | [ ° |
/Q‘ ‘ Q‘ ‘/ QM '
O 2 y . \ A
7 ___ ' 4
P 216 P 218 P 220



LMEKP_L-SUS  LMEFM-SUS LMEKM-SUS SC-SUS

_— P -
ST AW TYINFFe "4 sussres
Q Y Y Q S
<) i 4 - %LIE
P 222 P 224 P 226 P 230
SCW-SUS SCW_N-SUS  SCV-SUS SCJ-SUS SBR-SUS
' IQ' ®
P 232 P 234 P 236 P 238 P 240
TBR-SUS SCE-SUS SCE W-SUS  SCE V-SUS
® ’ ‘ Iﬁ,
P 242 P 244 P 246 P 248
SBS TBS SK SF
LMAKZLE & , s K
MEE # / | @
fLIE <
P 256 P 258 P 260 P 262

Guide Master McGuide PBG

P 273

Actuator

P 319



BEsEs Fraunhofer BEsEs Fraunhofer BEEEs Fraunhofer
MEEEE TesTeD” || MMMMESEE TeEsTED” || MMMMSSEE TESTED

DEVICE

SAMICK PRECISION IND.CO., Ltd

SAMICK PRECISION IND.CO., Ltd SAMICK PRECISION IND.CO., Ltd
LME25uu-RESIN LME25uu-STEEL
Report No. SA 1709-944 Report No. SA 1709-944

Report No. SA 1709-944

| HHH Fraunhofer Fraunhofer
BEEEE TESTED TESTED"
DEVICE

SAMICK PRECISION IND.CO., Ltd
LMES25uu
Report No. SA 1709-944

DEVICE
SAMICK PRECISION IND.CO., Ltd
LMES10uu
Report No. SA 1709-944

27122 82 AU AAHIZFAS[A YL USLICE
20

22 22pt g8 2 =82 7|20(1 2L, D= 27511 HE
S0l AL €27 2SS

[540] Lo, QAL B3I 013} A3t OfH 3t 2oj CAAME BA}
£ #0/2 2|2 gfoL] 01 Y3 BILICE 2 FIR0 LjRo| U8 U HEE 235t Haie Ao
7 LoD, GASl S 30l Kt U HHMESOR I3 ROl LIST FRE2 AR S2) 80| HAf]

of3f 17 4 USUC
2712 Yoo BE 32 U 1SS 43S 9
L= nl
—

=
1, =2 Ol ElE 2= 2os

[utor

i AFEEIE &, AHEAe] 2522 Qo 2EE|
3

M 5
GAIRL RS FAISHAI7| BRI

The copyright of the contents of this publication is obtained by SAMICK
Precision Ind. Co., Ltd.

Every care has been taken to ensure the contents and all data has been checked for their
accuracy, but no liability can be accepted to us for any incorrect or incomplete data. We
reserve the right to modify the contents inside. And because of continuous improvement and
development, contents can be modified by us without any prior notice. All information and
pictures in this publication are illustrative purpose only. No responsibility for the consequences
caused by user’s own estimation can be assumed to us.

ol MAYIFAG AL Published by SAMICK Precision Ind. Co., Ltd.

T4 UPEYA EMT dMSEHERZ 322 39 Address (P.C 42721) 39 Seongseogongdannam-ro 32-gil,
($42721) Dalseo-gu, Daegu, Korea (South)

A 3} (053)666-7100 Tel +82-53-666-7100

ot A (053)583-4669 Fax +82-53-583-4669

STO[Z] www.mysamick.com Web site www.mysamick.com

0| ¢ sales@mysamick.com E-mail sales@mysamick.com

Publication No. 2101K

8| SAMICK



Linear Bushing

o[o|z]
2|Lioj T 274
HE7l=

OFAJO} ZZ 2|L{of
Ak 2|LjofA)

—

ALt 22| 2|LjofA

—

mplad Z2KH2|E 2|L|0j8A

0|5 S 2H o5

ASZAY 2lLjofey
AE7I

SUEE AHSZAE 2|Lo}A
DIZEE ASZAY 2/UojsA
ZWES 2/L0jA

QUEZ 2|Ljojs4

A 2LjofA

AL B2/ 2|L0jA

Uzt BRI 2|LIoj=Al
228 2|Liof

o d

(==

UR0ls Hoj2 FLIE
OfAlo} EE

OfA|OF BE 7
Ry BE

SUS SERIES OFA|O} B 2|L|0{EA
SUS SERIES 83 HZ 2|L|ojgAl
SUS SERIES ¥Z0|5 #o|A FLIE

LMAFZE & MEE 32 SLIE
MEE Y RUE
LMAZE MZE

LMAEZE

004
013
041

049

089

107

137

159
199
229

251

265

Polygon Guide

Guide Master 273
Guide Master 274

Guide Master 7t

Guide Master A2| & ZO|At5}

HEY SHE

SHEE

Reference Data

McGuide 297
McGuide 271 (8% X5
S gAl U =2ex|4

SEFZ 0l

PBG 305
PBG 271 (++2 Z&))

PBG Ex

o 7y

HYEY

SR EIY

AFZIERY

EFZ 04|

Mctuator 319
Mctuator 274 (2= 28

PAI2IZ 3 T4 U ALY

McOmni 274

AAE M

HMI

2l pe

CAIZIZ 3% 74 U ALY
ZR3|5(2Z

EXIT
=T 0

Servo Cylinder 339
Servo Cylinder 27l (2 ZType)
Servo Cylinder 27H(&&Type)
ac
g0
YR AR
7129 Efe| of
F2z|4

EIO|2E3 (212 Type)
EIO|2E3 (HE Type)
21 (212 Type)
2+ (HE Type)

PICA 355

Picker Actuator 274 (2= 23}
TN QAL

SAMICK |9



10| SAMICK




LINEAR BUSHING

LINEAR BUSHING

SAMICK |11




12| SAMICK



Overall Linear Bushing technology by SAMICK

Look at the technology here,
and feel the Instinct of Linear Art at the field.

¥ Relohlz

SAMICK |13




2| L0 AN

]
o
N
1 bt
o

 2|L| 0| T4

A 0 22

L0124 (7Y, 0= S8 S 7

0| 7}55t0 30| LA

JleL2 4|7t 80|g(As24+0.5%)

(2 2H0E YA, I =3 2 20|HE A2,
AE|Ql2f|A 2 Z2{|0|E(LMES 120|3t, LMBS 80|3}), AE[Ql2|A &

LMES, LMES_OP : F&3& HEF(mm), p34

LMBS, LMBS_OP : 0|=2& HEZ(inch), p38

0

=

e Rl

rc ob
Ho og! ofN
> O

>

> ol Jp
00 py
It n]

- CHASH 01 2|0 M0 ALE L= FAH AR AIE

« S HUS FE5 of = BUE ALO[2

- E4R 2 I RILAMARR7 ER = TR A2 HA

- S8 5O LYt ot A8 Jts

+ 100% S8t : EFALS] Compact Al2| 22} A S 3t
CLB, p42

cUYAE Qs LA &2 LY 0|THE X, AH QA
LM, LM_OP. LM_AJ, LM_L : OFA|O} B2 p62
LME, LME_OP LME_AJ, LME_L : 8 EZ p102

* Resin 2[E0|H(7|2Y)2t Steel 2[EH|0]H (22, 115E) 7t5
-UAE S UZ =3 Y 2f0|HE A2, AHI2|A =

14| SAMICK



Linear Bushing

Xr
~
=)
<
J|J
o
Ryl
o
fo
1jo

<0

]

A 2|Lof

Hiru
s
ol

2 2

It

1], 2EQle|A =

LMFP_(L), LMKP_(L), LMHP_(L) : OfA[O} BE, p82

LMEFP_(L), LMEKP_(L) : REEZ, p118

<0

f

27h 223 2Uof

oy
Xr
%0
ol
ol
o
L]
an
X
S
bl
1
Jo =
~ O
N g
X _._.T_
M o
ol &
Tl &I
=~ Rr
=)
2 o
X o
ol
o) |
50 Uo
T O

~r

wT

— Jlo

<, ~

BN — Iju

J|J RoA_

UG Y

WXl

[) oo O

B o<l

1jo _Il_llp
— n -

w TR

5 SowH O
T oo o

o ws =

a Jo Lo DL T H

o~ &5 =

ot BT o

ATME%IEM..

NS

m_._m_uul:ll_ S 5

—_ S W = =

o 7 of = —

7T 0 o - L,M,

r;?q_._eﬂ_mno“_owg

0 OF & <r

Hi & F = =

ol
4
1o. -
X
Moo=
o om
g <
2 il
ol
= O
. =]
0O
g 9l
L 25 8
N S
C
N o X0 H
oy of TV &
o 1o © =< o
W wo Jo B S of
— 5 B
- = <0
ﬂ..l_lo_._._o :_LL_
oo X S Y
S T2y
ﬂ o ~ - = r_L_
Jjo Jo ot Mo O
= O W o g
SR RO RO
UF v M & 2 A
OE L] o .

A
L b

750
T~
on
or
=0
-
>
)

— _|C

B

== 10

=K

wl =

u X
oF

ok s

<

=)

= U

Jo o

T K
20

- =

ol -

LY

o] Jte 9R0)5 52

O

o~
M
o
NHI
==
oo 2
< OF
= -
B o
@ <
- o
on -
=
L Ba)
o
< &

SAMICK |15



2lLjojs4) 74

SUS SERIES-2tte] 2|L|0j 24
LS U2 ABQIHAALR LHALK HIE
« IMAFZE 217 5~25mm7t2| Med 7hs
* Resin 2|E{0]4 (7| 2&)2} Steel 2[H|0|H(22&
(LMS5, LM8S< Resin 2/E/|0] {2t 7ts)
LM, LM_AJ, LM_(L) : OtA|ot EZ, p154
LME, LME_AJ, LME_(1) : % B2, p194

SUS SERIES-SZHA| S 2] L|o1 B Al

|
* Resin 2[H|0]H (7| =) 2t Steel 2|E0|H(L12E,

LMEF_(L), LMEK_(L) : & #&, p202

D8
O o

LMF_(L), LMK_(L), LMH_(L) : OtA[Ot &, p162

) 7ts

SUS SERIES-TI 3! S| 2|L|0j 54

|
» Resin 2|H[0|H (7| 2&)2t Steel 2|E{|0]H (1=
(

LMEFP_(L), LMEKP_(L) : R&EEE, p210

- S = U SR AEQIRIAAE LAY HE

L), LMKP_(L), LMHP_(L) : OFA[OF —i— p174

P~ SUS SERIES-S7t E3H2| 2|L|0j 54
Q&f QEN = L SHUR|  AHIQIAAE WAIY A
o Chobst CIRIOIDE ZHHH M2[7} 7S
P~ . 2E30| 5120| AYHOR 2|L{ofR 40| HE T, TS OF
04F 2SN U2 4 YO0 BAUE 550| 22l RO
5122 20| 21 82| 715
M( Resin 2[E[0]H(7|2%)2t & 2[H0|H (228, J3E
@ ‘ LMFM, LMKM, LMHM : OfA[O} &, p186
b LMEFM, LMEKM : 921 B2 p218

Z0
a4%!

16| SAMICK



2|L{01Fd AN

MEE g FLIE

. 420|5 2UD} LMAFZES] A3

I 220)5 Ho|A SUESH B AIS
SBS, TBS : OFAIO}, 92 2, p248, p250

LMA';:I:I: E./A|::I:I: E k|:l;|: E
. JA H.||0-|a|7l- LMA':JIE(EE#;(.Ial al E_|-D}-7|. 7|'o)
LA ABQIYA LMAIEE
- A20|E LMAFZE MEE
SK: AFZLE MZE OfAOF, RE HF, p252
SF: LMAFZE, OFA[O}, & BHE, p254

=
=
©
)
=
o]
c
)
=
=
Q@

19)SBy 3pIng

@9PINYIN

94d

IUWQIN B 101BNIDY

Japunhg ontag

Vvaid

SAMICK |17



2| L0 AN

@ AtSZHY 2|L|0j 7

LM ES 16 UU OP -N S|

0715 4o 2lLjotsy

X2
4

% LMES 1012, LMBS 4-6-8%t 7t&

18| SAMICK

=
o
o EE MY (RY, 0l=)

S | Metric series (mm)

m

[os}

S | Inch series (inch)

O UHAZ (LMALE 21 F) MY

10~50mm | Metric (mm)

#4~#32 | Inch Series

01PU Y

Blank

M
=
u_ | &
bl

U

O/ el HY

Blank | 7|

OP | HYAMEE | LE)

0= S3|0|E BTA2| 1Y

o |m

Blank

=
N [FHURES

M* | AEfQI2|A

C |38&s

0= HE M)

Blank | DEAHIFY =

S |2HQRIAE




2|L{01Fd AN

02!
rE
i
=
11

=
5
©
Y
=
v
c
)
=
5
Q@

® 2|L|0j 7%

LMEEF P 20 LUUOP-AN'S

07| g9 2lHoiRd
O EE MY (OrAlOL 7E)

Blank | OfA|Ot HE

E | REEE
0S| Hef MY
Blank | 8+
F | o SH3Y

K[ A SRy
H | B SHAS

0S| 2| {Y
Blank | 7|23
P | THUS 2347
M | S7HEHAY

OUIHAZ (LMAFZE 217) M

|=FaNe) —— 10/ 0O
5~100mm | 7|29
6~80mm | S22

|

S
S

ogk

o2|Ljofs Zo| M3
Blank | 7|23
L |89
Ok
Blank |4 glg
| %24
u |Es4
O SEf M
Blank | 7|29
OP | WYYMEEYE)
Al | EMZER0IRZRY)
02[H|0[H MERE)
Blank | Resin (£~Z|A))
A | Steel @5A) 7

00rR 2|8 MY (BT
Blank |8
N | Rdof YA =S
R | 2O0[HE Xz
—o= HERZ)
Blank | DEHA H|O|ZY &
S |2HQgA =

% 21) U Z 06~0250t JHs (S LM8S A|2))

SAMICK |19



2|L{01Fd A1

@ UZ20|5 Ho|A FLE

SC'EJ 20WUUN-AN S

07|F Ao Y20|E AHo|A RUE
(712 2|L01R4 ALE)
oL 2LOIRY i BE MY
Blank | OFA|O} B2 2|L|0{EAl Al
E |78 EZ 2UORY AL

OSHZH IH50lE 4y P

Blank

7]
) | SMZEEOMo R0l 287

OLHAZ (LMALE 21Z) MY

[ 8~50mm [ Metric(mm)

00|A FLIE Zo| MY

Blank | 7|2%
vV | SHE™
S
0024 413
Blank |4 ¢S
W |¥=4
U |[H=4

L

x 1) SM2EY 2205 512 RUEE OHA|OF B0 2B LiEEY
% 72) 257 2/H|0|HE oMot Y RE BRI HE Tts

% 3) AS2YY 2|UoRYUE 2F0| 715RHSCE TYPE)

x 4) WHAE 08~0252 7ts

20| SAMICK

2lEjo|H M (RfR) *2
Blank | Resin (5°2|Al)

A | Steel @5A) ™

10~50mm7H2| M 7ts

00rR&2|E MY (BEA2])
o

Blank | £

N |FHH LR =S

R | H0|HE 2|

-0 1A

Blank | DEMA HOIRIZ &

o
S | AHEAE




2|L{01Fd AN

o2t
rE
i
=
113

=
5
©
Y
=
v
c
)
=
5
Q@

® 2F0|E #0|A FLIECHE)

SBR 20 UU-N S

ne

O
oir | oir|
Q'E

ol
=5

o
or
ob
Jo
o
40
-
Im

M

ot
2| ook

| 4

015y

N
0| ok
oglt| ok
2N
Q| rix

|H {neln
N | ot

L
Im| Tm
x|~
ogt

=S

g =
=2

x| o
4o|90

Jo|Ho

im
Jﬁ
o
rx
o
E

O LB (LMAL

o)
1
wn1
=)
S
3

% 21) SBR UIZYKZ(LMAIEE 21Z) : 16~50mm, TBRUIZAZ (LMAIRE 2/) : 16 30mm
% 7202 I A0|A RUEE ASEAY 2|U 0|24 2§0| E7H5o1R|2 Y2 FHO| s = s 24 Y 2|U o124 3tE 230] 7HsotY

LRSI DM E GALZ 29 BRI

SAMICK | 21



2lLjojs4) 74

® MEE U FLIE

SBS C gé 30 - 1000

01T YA MEEYL RUE

SBS | SBR A2 MEE U SLE

TBS |TBRUE MIE Y FLIE

OLMAIZE MY (B TA2])

Blank | 2

C |38==s

N ng Eg_ 1)

R Z|0|HE 2|

OLMAIEE 32t MY

\ 16~50mm
TE OLMAFZE Zo| MY
o LMAI:—— \ 100~3000mm

SF (C gé 30 -11000

07|Z M9 LM LMAIZE
OLMAFZE MF(HEHA2)

Blank | &

C |3E==

INCEE

R HO|HE Xz2|

0314 58 23 4

O LMAIZE AEE OLMALZE 20| M3

\ 100~3000mm
'SK | 20

07|Z : SAMICK LMAFEE MEE (Y20|E)
OLMAFZE 214 N

\ 8~40mm

% 1) 20| 1m OJLY

22| SAMICK



2lLjoj4) 274

Linear Bushing

Jlo
o

wr

A4

or

70

-POM

1 2[&flojL

-POM

zee2

50

<0

-
=3
3

[T}
®

Jo
o

ujr

A%

or

760

-POM
- AH|Ql2|AY

1 2[efloj

H

Ik op
JU Tk of
U <
o <Ir i)
o A1 2
& Rz
o I n.nﬂ
=T Jjo
KD R0~
&I OF oy
SURTS) %
= m.._o 110
U~

&2

30

o)
__O._

2HE 0
A2

tol &

3
=

A Y2340} o2
EERL

Al
| U

- IMAFEESQ}
- 2|LjojgAl2

SAMICK |23



24| SAMICK



Wonna be supported?

Hey, You've got SAMICK Support!

Ralohlz

SAMICK |25




2l
BSAIAHO|CH Bot=2 LIMAIZE
o

HA
QE|L|01TO'
1510}3_ &*ZIDFZI 'l%f%%"ul% 2|EflojLof 9
0 2

StO LIMAFZE ggro2 Y &1 9|§2 Il_EJ_/.\_ s H1| 2 o*% E=

T3IM
2| RO 47 2|es2ts BESE[0f Q7| 20| 284S 71ZICH IMAIZEE 7150] 0[5t fSA4
22 7t55h7| thzoll 1Y =0| 7|9 %kE SM(Clearance) 7t O ZIC

2 Z(High Carbon Chromium Bearing Steel)= At25t0{ M Hx2|L|0f
= 102 2SI AR 7HsSIT,

DAEO| 2E|0]L
4

~62:0] 2L QIL3Hs 2IE|0|Ls YA|AHOR 2ol FaHo| Chato] FEH ALstn, oy 23

i o 3=

ox
|.|—|
N
ne
<
™
an

920k A0 SLIE SC,SCERE 229 2500 A0A LE0| Z210f 908 e
20| ZEZ 2o 2TH JYABIOR M7} IHSAHT) 2|Lioj o] 2 22 HO|A AT 5150 o3t
0 2222 FHFHES 2SI 4B 452 FYAIL 4 ULt

part 224
- POM
= - ek H01-Y
2% - AHQI2IA Z

A01d o
SUREAR g =ars

4 D4 o

26| SAMICK



2|Ljojy

=
5
©
Y
=
v
c
)
=
5
Q@

® 2|L|0jF%

LMEF P 20 LUUOP-AN'S

071Z 1 4 2oy
O HZF M (OtAlO}, R&)
Blank | OFAJO} BE
E | fREES
OSTA| HEf MY
Blank
F
K
H
05HA| 2
Blank

P
M

OUHAZ(LMA
5~100mm
6~80mm

2/Ljof4 20| 43
Blank S

u
==

K

N

ujr| 02
o2k} 02| hon

o) ne

0| 152 ogk| rT

m| >
=5

N

TU[H| fulH
|
RIS

rx
o

>0

u
£

K

ogk| 33

ogk

| no|rix
| ¥R | 02

ojN| =
e
R

x

r
ox

[H
[m
X
o

)

| rhr
ot

| N
ook

ol
Mg

A

—

o2t rHr
o

=

loe)

[oN

o}

=1
rE|oo|ux| 0¥ |ofu

gQ

ojo

] I[N

x|

Oy e

rx
ox

O | rfT

b |02k | ok

oX|>
e

im

&

0

[ )
g

rx (om 2|~
=

2|g|o|Y4
Blank | Resin (4=2|A))
A | Steel @&A) T

00tRE2|E WY (BETUA)

Blank | £
o
El

ox
>~
=
X

X |=|=
ox!
)
Y

—e=

o
QO
o}
2
-
(A
B>
£
=)
on
oy
T

wv
NE
m
o
i
>
T

x 21) L

ox

06~0252 7Hs(@8S A|2)

SAMICK |27



2|Ljojy

c|LO1RH2] Y4552 stS Yool st =22 B0l Tt Bttt 2|20 AAlE 7[2Y 4552 128
d 0

q | 1
o [
9| 25t=0] 5t39| HZ Lol U W] ZrS LT stSHH0l| CHoto] ChZC R 2ote| =S Mx|otH Of2f
223 20| YHAZ0| Z715H0 2HHSS FY AL 4 ULt 2LOIRAO| SIESTLS S1EYY U 2
B, LMAZES| Z&0f w2t 4~Hof| FekS 0J2ICY,
F
0
@)
e"\‘
Q”Q
F=C
F F
0 0
&) &
Q=% NG
F=141xC F=1.46xC F=1.26xC

Aol 2042 A8 LMAHZES| 20| 37 2495/0, SHABZ0/2 SYHI A2
7t SOk SRS 1 90%2| AZIES HBAIZ 4 Yl HCALIIFS oJojsict 23

L=[ 5 x50 L HZAR(50km 21E, Tl km)
Lo : AALE(100km 7|2, B2 km)
o C  :7I2SHHAZ(50km &, TSI N)
Lioo = [ 5= "% 100 Cioo : 712 SHABIZ(100km 7|F, T2 N)
P HE5ZE

SHA|2 HAHO 2 20RO +F0= AT, StEAT, HEAT S 22 02 24350] &= D|RIG

L_[M x%PXSO fo  EEAL
@ o EEAR

fr 2

Lioo = [ fo]fiTxfc X % Px100 £ CHEAE

28| SAMICK



2|Ljoj4y

2|L| o2 Ale| L2tALE 1t SHA|ZE =
QIE 17} = 271 U AR BHUE B2 e A20]= SI}20/0|Y SRS AT g
ov]
g
Pu=K- M Pu :STho|CIY SE(N) 3

(BHE 320 of3t 1)

K SoHAsORlel & 2%)

M HII2HE (N-mm)

DOIE 3127} 20|C|Y 5120 SA|0] B3lEl= 0= H|0[C|Y SR ST} H0|C|Y 1RO FAeR 4
HS ALZFICH O[AQ] AlORA| 4B (L)S 23I0| AE2 39} SE3I47F URFH A ABAZFS TS Alof 0
8 PalICH
L = L x10° L 2GARHh)
2% s x Nex 60 05 AE2320|(mm)

Ne :OHEE 3|4 (cpm)

E 6. 2|L|0}FY S/l E

S 7tA & (K)

g 14 27 22t Y 11 Y 14 27K 22
LM 05 1.253 0.178 LM 05L 0.223 LME 05 0.669 0.123
LM 06 0.553 0.162 LM 06L 0.201 LME 08 0.514 0.116
LM 08S 0.708 0.166 LM 08L 0.151 LME 12 0.389 0.090
LM 08 0.442 0.128 LM 10L 0.118 LME 16 0.343 0.081
LM 10 0.389 0.101 LM 12L 0.113 LME 20 0.291 0.063
LM 12 0.389 0.097 LM 13L 0.107 LME 25 0.209 0.052
LM 13 0.343 0.093 LM 16L 0.096 LME 30 0.167 0.045
LM 16 0.279 0.084 LM 20L 0.082 LME 40 0.127 0.039
LM 20 0.257 0.071 LM 25L 0.060 LME 50 0.105 0.031
LM 25 0.163 0.054 LM 30L 0.053 LME 60 0.093 0.024
LM 30 0.153 0.049 LM 35L 0.050
LM 35 0.143 0.045 LM 40L 0.043
LM 40 0.117 0.040 LM 50L 0.034
LM 50 0.096 0.032 LM 60L 0.031
LM 60 0.093 0.028
LM 80 0.077 0.022
LM 100 0.065 0.017

21) LMF/K/H, LMFP/KP/HP, SCE2| STIAIS= LME
22) LMF/K/H-L, LMFP/KP/HP-L, LMFM/KM/HME2)
23) LMEF/K/H, SCE™Q| S7M A4 LMEY 2t SYatCt.

- oln _".—_‘
-i>
rlr
-
<
l_
ogh
i)
o
ne
_O'I_
o

SAMICK |29



2|Ljojy

e AEZJ0| MY

2|Ljoj=440]

27ss |25 Y2AE

=S 0450

ZO[Ax(Ka)oll Bl2fstE2 7258 4Hs

]

(KOS &t

2| A(Grease) &2t
27| ZotA| 2|L{O{EA2

B2 AEZ230
O] 2YECt LMAIRES| 2~

2489 32, 2/Li0f=y

0| o BOLAICE 0] AP
S 72! 501M B Hret 20|
stz 2oy A
Bttt

HHOR2 CIC|0 QoD2 A5

BH
Sh

2| A5 ERESHO0F oL FEE(UU)S 3 ZEAO 2O RHe =

a3 5. Z0|A%(Ke)

0.9

0.8

0.7 /

0.6

0.5

0.4 /

0.3

0.2

0.1

0

0 05 1 156 2 25 3

AEES
"NEE

2 J2|A T 90U 8FS AREI

SQU 71N HE & AZAIZ TS

a
Zoi| 12|AS =2510] ArgSttt J2| 1

oT L+
M (seal)0| Qe HRO|T A7|9F 22 BHS ALRSIALE LMAFLEQ| D2|AS 21 Z1510] AL25HH ETt
AME d2|A= YA 2|§A d2|A(IS25)E MLt
22(0il) &<t
AMERE He| H £ (Viscosity) TS ZHOE REREMNET FR EE
Z[0] Y Ao HHRE AAT LRIt
-30 ~ 50C VG 15 ~ 46 oact e SO AT FAVG15~1002]
HQAUO| HS AtESI=S HASICH AIRE
50%C ~ 80°C VG 46 ~ 100 = B2Re HUlg, AR, ATUSRI Y
HHH0ICH /= LMAFZE Q|0 Hojca|A
. Lt, J2 61t 20| 51232 7t&3t0] 7|18+
S o = HOZ ZQUSHe WHOR Sict Cf Y=A
i (Seal) ¥ A= 0| LR E AHsH| WE
9'*'“ T IR - of Yatg e AFRE|R| ettt E5F 2|Lof
| i 24 9|20 7157%0| 7138 HBE 27
‘ of 2kA|2t0] 7HsotE 2 SAtE o2t btgt
% s, LICt,

30| SAMICK



2|Ljoj4y

oA 5
©
2L RE2 dSTH AO|0]| BSH| 22 AESIH 1E25S S22 OAY0| ACt £5| Z0oE CHHS| 3
A0 S0p 210|7F Mol gleBz A AE'*E 2 o140[ LlistA| 20 Y EO| 0|50[ 7tsstA =L S42| of %f’
A ee J70 20 DRI YHEE ChZ Ao 2l #& 4~ ALt =
((=]
F=yu -P+fs == ()
fs s Aol Agt (0.3 ~ 2.4N)
| QIR AE SIF(LMAIREL SAM 22121 5+F)(N)
D 0RAR(E E= F)
2|L|0j R 2| SOatAl
H
0 oY 2%
©12~ 28
0.005 oo e
0.004 48
————————————— 59
0.003| . NN\ N\ e 6%
0.002
R P pP:&otots
0.001 —ITI-O|' 0|’3H| T < C %%3'7—1 3}%

25 50 75 100 125(%)

a3 7. 2|L{oF o] SOt

SAMICK |31



2|Ljojy

E

2| Lol 22
SELIERS

Ofefjo] oj| LIE
229Uz oz

Lt ALt

b
StCt.

4c

LME

LMF / FP
LMK/ KP
LMH / HP
LM _L
LMF/FP_L
LMK /KP _L
LMH/HP _L
LMFM

Q| E1} LMAFEEC| 22|0j2A(Clearance)

2| ZES IMAIZESRL 2815t0] AlESte 29

S ¥ Sel0jziAZ Bt Offe] B 20| ol H3AE

382E

38 %9334

ogk
1z

oQk

H
LM

LME

LMF /FP
LMK/ KP
LMH / HP
LM _L
LMF/FP_L
LMK /KP _L
LMH /HP _L
LMFM

Tt 28 29| 22|0{&dA(clearance)E OI0|HAZ 5t= F
O 2 5t0{0f iCt.

sd @Az
tE

oHd
oOT

il 79 %ze HE

3t

_o'l_l
4o
o

SH IS

H7
H7

H7

LMAIZE

2E 2oL

f6, g6
h7

f6, g6

M 518

12 Byt

E M 5|22|(Radial Clearance)m

=XREEED

17

A(Clearance)E g

h6

Ofl=

3

Z|(Radial Clearance)Z 42|

| == oo
=2
EfOI:H_O 05 06 085 08 10 12 13 16 20 25 30 35 40 50 60 80 100
[=]
Mym) -3 5 -5 5 -5 -5 -7 -7 -9 -9 -9 -13 -13 -13 -16 -20 -20
LME@m) -5 =5 -7 -7 -9 -9 -9 -13 -13 -16

32| SAMICK



<0

I+

2|L{0f

Linear Bushing

o

2| 52| 42

8

T7F ACHA| ZRSHA| FA|0t e

3

183

0|

F

=1
=}

9. 1YW Mz o

2 (mm)

.z_.n

UZE8(FE8)

<r
100

_z_.n
1]

160

|
&0
o

1160

_z_.ﬂ
@i

1160

.z_.n_
1)
Ho

1160

10
12
15
15
19
21

10
12
15
15
19
21

10
12
15
15
19
21

10
12

LM 05

LM 06

LM 08

LM 08S
LM 10

19
21

LM 12

23

23

23

23

LM 13

28
32

28 28
32

32

28
32

LM 16

LM 20

40

40

40

40

LM 25

45

45

45

45

LM 30

52
60
80
90

52
60
80
90

52
60
80

52
60
80
90
120

LM 35

LM 40

LM 50

90

LM 60

120 120 120

(150)

LM 80

150

LM 100
LM, LM

O_H._

jo

_L3

L
=

x A B

SAMICK |33



2|Ljojy

Of2h 21 20| 2/ S9| 2|d3 1749 ME A3R2 YOE0] 1Yo}

7t A2 52 T|oHOf BtCt.

a3 10. HIEA3F 43| of

LMF, LMK, LMH(Z Et% Z£g}) &2 S22 2| SSAH 0[] 20

/|1E 2

2|A| 2|2 E 9]

M
ogt

34| SAMICK

a3 1. SHAY 22| of



2|Ljofy

Sc(ofEA 2HH(A)9
o| 22| AE EOI5H : $o'9| b
=0l Cis 90°2f #1212 st

=
5
©
Y
=
v
c
)
=
5
Q@

a 12, SM2HE 23] of

el
i}

IS AlS St ole{et Y2 42 & o 9

_o'l_l
4o
oo

Al

N v o
oN o J
ol

203 A2 FLioiRAel Zellp=s) IMAmES] BRSOl P2 S48 ol QuHoR 2
MAEZE0] 19| 2IL{of 40| MBStk 512212 0f2h 2012 el rtrar}_elam 2SN 43 3
0{0} BICH. Biof S7Ho| 2|L{0f=AZ 742D 9l UX|FO| (SCW TYPE)S] Z 0] T10| BRgct
(3 5129] 7|23 LMAHE 7122 0,025mm S04 B SA/si0i0} 8k, st920] ZE2 42
£ 493210] Tf2tM ATJOIA(SPACE)S 719 LS ZHFHRIN BER HZ B 4= St 3232 ofefel
2 M0f ol BHE of Fo|t0] Aa/3ict

a3, gl 14
1) Teble 330 £:20f i 22t WAhE Z8stof 2l lojey 28 7|BHE WHla)
)28 1208 2R Sjol 5238 Yasiol e
) oblcl il ci2 fe| S48 SAHD SEE A2
4) 40 5120 e 2 ZO| he i g6 LMAFZES Hel31 9| 2) Bo| 22t o2 Sy

4 6
LMAFRET}Z]|9] 72|18 S 3t
5) IMAFZEZ 11H5}0] Tableg 5 StCt.

6) 0I5 F49| ot LefelHE 20| 2== ?—OH Table# stede ngsts 2ES Ao A Zeitt.

_of
=)
ne
n o
_E
o
ne
A
FI'F
ﬁ
N o
ro

SAMICK |35



2|Ljoj=y

|
Tabled| 5t ZEYHO = 7|A S22
FHS Qo= 2EZIU IMAIZES| R ZTt0.025mm OfLiof] Z2|SHt IMAIZE 4
7|-|_‘_|.
E .

2) YO|ALE 25 Z22|H0[E 22 CIE F87|7|SS Ao Zat0l'd 29| 2EE £ of8M 2ER2
YIR|of Y3t

1) 24 e 71Ol LIMAFRE (BTHA[Z| 22 HH|Z| ) S BIHEHO| Y220 511 S2ES A 23t
P

3) AHR LMAIZES 145t 20f, CI2 IMAIZES 9|0 512 SES £22 A Z5H

4) IMAFZES 7|4 0f| 7128 HEHOIA Tables Z&ol0] AEZ AL FHS o510, FHR| LMAIZES XA
o galistH| St

5) ojf olgh A2, HH|ZA| A AHIS| B Tables ZE A2 S22 2YAHAM 2EE 1Y5H0{0F 5101,
2 22| A|AHOME REIHE LMAIZE 2CHO2 0|&5t & SEE NETC2M 2 ZENYR2 20| H

Cf.
6) 371422 Table 22| 7|ZHO0| LIMALZEO A5 Z2]0|=A1S 21 20| HARSH = 4 UL ofr
Table 2Az2| 7|ZH0| HaiU= ACIFH|0IE] k0] #stiM= et

36| SAMICK



3Bl 22
Y (OP) = ofetel Jgdat Z0[ 22| AT 2 JF
US F0f AtgaiLt, =3 0l

NS 2lLoFe] Lo mtE FA3IS2| Hel

B2 dA 301

2 2T =2
A F
Z|ti5tkE: Iy!

A §F i
- @%

Y
AFAL
Al % F=0.64x%xC

LMAFZE MEEO| M3|

LMAFLE MILE (SK)& Ef0|80f H2ZE2M O[5t

AL | 2 4 QUC

7 20. LMAIZE MEE H3] of

o = o
A o|SI=L © o =] =
07 4 9lon|, 4st LSS WafsA EC

2|Ljojdy

=
>
o
1}
=
o]
c
[0
=
>
«Q

=Zo| bl
4¢ =
F
!

F
F=0.54xC F=0.57xC

1YY 4+ UCH, IMAIZES] d2|= A Z=EZM

SAMICK |37



20

Ik

2|L{of

OMete SE2M 2 20| 7ts

[
— =

o

of
<]

a8 21, #|0|A FLIE 42| o

S AFESI0| Ofef

12]7| Q== 27

4
=]

o)

D-03

a3 22, A0~ FLIE 23] of

oAU, 2

T =0

j

5

AFO
S

M

= 4% IMAIZES WZ0{2l HEfo|

}

5

IIEZ AtO
—= "y

;

2|HOISH0 LMA

O3 23 LMA}

38| SAMICK



2|Ljofy

BUE 5F H31A =
2L0{2AE 8 HER 1 Z0[0] Z3M PEF 5152 BEE o0} ALRaHOF BTt S8 RUET} 4R3I
A9 129 IMAZED 27} 0|49] 2|LO{SAS ASIES 512 2 2] Lof5le] 4132t Aale s & 2
©2 510] ALRTICH E3, DUE 25 Helik ARBS]E H20ls ERI0ITY 61ES AEdlc] BHS & =

((=]
Ql3HoF B

N
ro
i
-
<
S
or
10
nx
ﬁ
rr
_O'ﬂ
O\
M

H
njn

=]
N
_o'ﬂ
2

(@]
o

|
oy
=
my!
o
ux
ﬂ
[
P
njo
-
ox
rob
iml

2|LOIFEE 2 Ofefiet 22 3|23 0e HRiotA| Kbt FelotA| 8|MAI7 |2 20| 0|1E dde= O

G x

SAMICK |39



40| SAMICK



Overall Linear Bushing technology by SAMICK

Look at the technology here,
and feel the Instinct of Linear Art at the field.

SAMICK |41




AZ7 =

F

)

Off CetAd

.I

o
N
olo

£ Af

(Hof

=
A+
2|

S
—_

I =20i| 2|

=

=

123/0] w2t =20| 7

S
a

of

2q
=

g0
=c

i

—

(=]
4, 715820l ofgh 2g=ol B S ofd 2[9f o[H0|

7 279] 2|20 7|24=[0f AL,
£

S0 ASO[L

S22 Yolota QUCt. T2tM 7|

0

gfolcd

—

—

fs
Co

WESE

_
40 =)
o O

—_—
ile}

I -

off o

=
=)

ot

o

LIEFHCY,

=2

=

2 M Tol= SAAIL /Al 2Agt0] 2 2t

o
H
Ch39l e YAA[A 0| 7122

|

[k
o

42| SAMICK



AE7l=

Linear Bushing

oo 11 oT sWET
< O8% N - rJ O__Low_._”_.__.*l
il — 995 <
o gt g X g
ol mo wmno m:._o.cm_”_ - ol njo
A = B < ol g
E LA =< U O oy o
® 22 2w g0 D o 2 oF mo IF
ol w2 ] Moz sT e
"r N KO =1 <1 ol &wujq &)
&0 H_I..H_.__mo_.A. Mnl_uA n_EW_&
- g oY _. - W] -
& K< U glo T < S Ko
£ <X oo & o
: W~ = < %O N
= <k o £ 3 Wop M~
< NS ol oI & o
LH - O - | 7o —
RO o<k N = o=
o y o2 7 © B2 B0
Ol o N <
= = OF OH o mr
= S 0 — ™
X of ® ol ojg Of %0
| ob /o JJ o 5 < o1
= WO 25y o v = Ar F0
N4 oF oF = ofu ol 1o =0 < o
RO RO Mo <k 0 40 ob S
OF 41y OF 4 o = < = Z o=
;5 RO 76 N Ma_e._m.__._ s = N o
Juclo Jjiclo IF KT Wo o o mM AN
SINT OINT A ok O oju o NI J|J on Xd
S5 55 o S < o o KT
R /AL SN R0 A = o o
o o o o o ol Eo K o o 0 B
X O L0 LHO 4O Ay Qo> ol @o <| &
NE IR <l oF Ll & Ho <F <
— — 12t < _._.___.=
~ RO = ol = < H ol o1 4o ==
T m Ml bo <F ol opy T
— — 2_.0 —_ - —_ mo Eh_ I__/l
= [=) o ClrlmeT_Z A_IA_”_AILH
<F o o w0 X oy o = < N
& TRk DR S ujo ol
= = B RO o Mo = =y i O o
S & SO V1T R R A HN
— ~ o = = ol
OB G-} B au oM KO mm obgum  EO g Rr _mu_.,L Jlo
RO SR 0 Ho Mo oui <k b=~
= | = o = o rEz oo
- T = oo XMoo BT 23 ob ol iw
n"_ ~ ~ iolio ~NS <0 RrE KUY

SAMICK |43

Al

=2
=2

UsH 222
)*% 100
(100Km)

L=

SHCt,

19

jgo| Aoz A 7
% Croo



AE7l=

A 220 YBES 0|2 2452 D2f3 AR RS0l Alog it
_ fr xfr x fc £ 3 . A . A
L=( ; X 3 )*x 50 L HHLY(50Km) Lioo : ZZ4(100Km)
v C  JIBSHASZ(GOKM) Coo : 7IEFZSHE(100Km)
P AHMEENN) fo AEARQ 2R)
SIS fxffixf § % Px100 f REALQE2EE) o YEANE22R)
fu o SERASES YR
A7) AloflA ZZHSL ()0 PRI AEZ 3 Zo|ot 3|47t UHFH AL SYAZHS TS| Ao o)
F3ict,
Ly = L x10° L 28AZHA) 6 AE2320|(mm)
2> b:xNx 60 Ne @ OHEHE 8|%(com)
A Sk L OA 1'0\
O‘I'oo'” s 0|2z 84 08\
() 08 \
AT 5 () A 07 \
AHSSAATS| Bo52S 225 YFAI7| el i
M HERI| AEE 58~64HRCE Medafof BTt Of n 08
ATEC e AR J|2EHZEE U IR Y YA E 0.4
O] X319 2 242to| AZ=ASES FHiCt 0.3
0.2
0.1
60 50 40 30
H5H AT (HrC)
231, AEAR(F)
(2) 0.8 T *'M"EAIAE“OI ABRE7}H 10002 HS ZR0=
E o7 N 20f 93 AYEFS 125t REH4E 251010} 5t
A e , 43t 2lefo] SO LS neAjtoR HAs L
T s QJ} T MY AFg &&= -200~807 0|0, 120
' M AFE 7H5H AE0| WL AR YAIZ 29| Hiat|
100 150 200 Ch
2H 22 (C)

a3 2. 2=A1x(f1)

44| SAMICK



AE7l=

L

=}

&

= =

HEAR () @

(2]

2R SAIARI0)| 2710|142 2|L{01RAS TAHENOM AESte 29 ZUEL HR|H YTt MR SAIA =

gl 250 Y2 0| AUt SISEE % 2717t 25t | tzof 2] ._-E-% |A8H0]| 274042 2[L0 R4 =
= Y2I510] Al 8Ste 8% o] EASE 7128 HotE Co, COIl H510{0F SHTY,

B2, BEAx ()
LMAFZEO| ZYE|= 2|LI0FY| A (Fo)

2 0.81
3 0.72
4 0.66
5 0.61
0| At 0.60

EAMAIR 1.0

= A
ot 2l (fw)

AUSEAALY HEFHE S1ZS Auet B2 B0 FF0l 254 EE}EH@EJQI Yo B
BUE 313 52 | ANE TR} UE

Al
o

=2 O/ —_e 2 2L o I_
S5k Lo B, £5| 1£ 2HA0| 2lSts JISO[LE MA| BHES IL A= "*ZIAI | 22 s 44|
Stz A2 O{ZL TtM £, 232 0| 2 3R 0l22] 5t3AE 7258 45HE(0)0| L+01ZLt
& 3, 5t5 Al (fw)
gz
: S A (fw)
=2 =
2AS0| Y= AR 15m/min 0|5} 1.0~1.5
2AZ0| 2 Y= A2 60m/min 0|3t 1.5~2.0
272502 E2 60m/min 0|4 2.0~4.0

SAMICK |45



AS7le

O

NAR 515 A

AN SALEE 5122 BASHRZ|, 22|, 7HAE0| T2 2HdH 52| 021714 2|F 20150 2lsl 4
SO0l IS &2 = A2BZ HAA| 0218 Q0ISS 112{5t0{0F SiCt CH32 o= £2of Yk FAZH
9I3|7} AMSEAIALI0] MO OfF Y2 3 4 ULAUS BOITE AMAO|CE FHEAMO| 222 ALY
0l 2-85t= 20152 12510 2[4 X|FS 2dst=0 UCt
A28 | S425 52 HAU S
W, W dy W ds i T B e
= " + -7 . ML - 27 .2 ‘
Fe=g* (7 g/ (75 = e
A =
Fr=W (W d2y W et ——te2]
4 2 do 2 i ij
Fr=W (W d2), (W di =~
4 2 do 2 i e s
W, W d W . ds I i
= AL AT N
Faz ( 2 do )+ ( 2 i J %
AW28 | S425 52 HAU N
W, W d W . ds =—lo}=
= o g W, = Y, YW
Fiz 4 ( 2 do) ( 2 d7) _N.13
W oW dy  Wd g | el
= (%) (7 LW a
= ﬂ = m dZ + W ° @ l ’ d
Fezg (3 @)t (7 4/ . -
W, W d W . ds i i
= 4 (. o o Y
Fe (2 @/t 7 a8’ Eﬁg

W ds " W
Fiv~-Fay= ( 2- £ ) | F Fa I
2 Flﬂ FL
= _Ww W . d; St B2 Fiy Far
= =__ 4+ e o i S
Fusfe=p+ (3 g T ] |
=W W d [l B EEN
Foz = F3z T ( > do) %

I

Fix+ Fax~Fax+ Fsx
Fiv+Fay~Fav+F3y

X
80 : do=#O|ARUES| SYH Af0]9] A2 di = LMAIZES| S A0 2| dp = 2EH|9| S} SHEAEH A0|2] 2|
;= 29 SYH SHEAEY A0 AH2| W =3IE(N) Fix = XZ g2 &(N)

o = Y3 89 2N) o= 2% 439 1)

46| SAMICK



AE7l=

Linear Bushing

olJ Yo Njo
ojr 1 ﬂom
ok & K i <
®o )y o ot
JJ = Njo o
o T ic N -
Kl jon o o = i I -
ot _._._o”_u_l kO & h o o
n{ ®J or ol — o 0 :
o] Houm J1 s - B __% -
I.ILI.' — - — o —
BE < o y Eh i :
We <l o i XC H T oKl o ujo
Xz2o® oo : 5 = i
ol ™ <k < Ea 750
o0 N{ olJ 7! ot _ i
I = ™ ol ToEee - !
A .
__&___._J_wﬁm.ﬁ_u
WS o = ~
__oklﬁDmM = o~ _q
= No 2
A1t
0o
of u_.mwa = o
q oy = N = y s - P
XD um_n_M% : -
Of oX 1o ’
i < |_./I_._._o =
M DL l = =
oro U= m =
= Bl © o IS
z_._.= = o ol &5 '
1 ~ ~U o ol =y g =
p N2 0 o S —
Zl madi T s Eh °T
nrR < B & ZZEwW :
of =X w0 B m_m
N @t Top ok i KH s ZZZ=
o Pusgr w | 5 b L
= Tlilo & I o — o o
ilo = Do e o Ju — o2 0 +
I ol oll ijol0 T ~ _|_._0| L m__lom.*lou__/l__o ..__A < Xjo Njo Njo N 5 %
bl swH Ny @ 7 et B men woE g
™0 K H ou < 0 o - 4_..__nm_u _._._m_v NI o_m_ W.L — LT m_ N N
H WIS o FO B 0 o 2 e mow R o
ou_oﬂzn_ﬂ.r_lq_ ol . = I | %0
sIRr oS 77w £ o&a s __-ﬁ_ s s=Ed m.m o
Rofoic &S o w5 es R o=

SAMICK |47



48| SAMICK



J

obA|o 2 2|1 o] A (LM)

i
¥
o)
=
q
)




OfA|OF HZE 2|L| {24 (LM)

07|Z  ¢ol 2lYojey

50 SAMICK

e QUHYAMAILE 217) MY
0178 U
Blank | A gle
w924
u | ma4
o280l MY (E)
Blank | Resin (4=Z|A))
A | Steel @&A) ™"
00IRE2E MY (EFEA2)
Blank | 2
N | Rdsiyz =2
N EREEEE
o= MERE)
Blank | DEA HOj2IZ &
S | 2HQ2AE

% 21) LMO6~LM252+ 75 (T LM8SE #|2)




OfA[OF BE 2L FE(LM)

SAYH LHHE D L B CECE ()
|:|7.||$2)
W D 1) 22 T(gf)
: 25) dr. | 3{8af 5|82} 5182} 5184} E4AY) HyA
Resin Steel mAlom) mm (o] mm (i} mm i) 0 (o)
0 0 0
LMO5UU 5 0,008 10 0,008 15 01 10.2 111 96 | 167 206 4 4
LMO6UU LM06-A 6 12 19 13.5 1.1 1115 | 200 260 4 8
LM08SUU 8 15 0 8“ 17 115 11 1143 | 170 220 4 11
LMO8UU LMO08-A 8 15 24 17.5 11 [ 143 | 260 400 4 16
0 0
LM10UU LM10-A 10 -0.009 19 29 0 220 02 13 ] 18 | 370 540 4 30
0.2
LM12UU LM12-A 12 21 0 30 23.0 13 | 20 | 410 590 4 | 315
-0.013
LM13UU LM13-A 13 23 32 23.0 13| 22 | 500 770 4 43
LM16UU LM16-A 16 28 37 26.5 16 | 27 | 770 | 1170 | 5 69
LM20UU LM20-A 20 32 42 305 16 | 305| 80 | 1370 | 5 87
0 0
LM25UU LM25-A 25 0,010 40 0016 59 410 185( 38 | 980 | 1560 | 6 | 220
LM30UU 30 45 64 445 185| 43 | 1560 | 2740 | 6 | 250
LM35UU 35 52 70 0 495 0 21 | 49 | 1660 | 3130 | 6 | 390
0 0 -03 -0.3
LM40uU 40 0012 60 0019 80 60.5 21 | 57 | 2150 | 4010 | 6 | 585
LM50UU 50 80 100 74.0 26 | 765 | 3820 | 7930 | 6 | 1580
LM60UU 60 0 90 0 110 85.0 3151865 | 4700 | 9990 | 6 | 2000
-0.015 -0.022
LM8oUU 80 120 140 0 105.5 0 415 116 [ 10130 | 12000 | 6 | 4100
A36) 0 0 04 04
LM100UU-A™| 100 0,020 150 0,025 175 1255 415 | 145 [ 14100 | 34800 | 6 | 8500

31) 84452 50kme| AT 7|E22 A Lkat
100kmE 7|22 & F2? HO| Y ZHots S 1.262% LI 71 £+ U3,
of) LM122] 50km 7|& 5845 C=410N

LM122] 100km 7|& S8 Z45tE Cioo=410/1.26 = 325.40N

2) A= Resin 2|E[0|H 7|& FA Y.

3) F2|42| Hele mm Y.

4) 1N = 0.102kgf

5) LM06~LM258} 7H5(E LM8S A[2])

6) LM100UU-A2] A< Steel 2|E{|0|H2t 715

SAMICK |51



OfA[OF EE 2|H AT (LM)

LM 20 L UU-A NS

52| SAMICK

OUHHEB(LMAIZE A1) MY
02U 0EY EY(5tEE)
01 MY
Blank | & gle
UU_ | ¥&4
U H=4
———0gH0|Y MY RE)
Blank | Resin (5=2|A))
A | Steel @&A) 7"
—00IR52|E MY (EPA2)
Blank | £
N S U &3
R 2f0|HE 2|
0= HEAE)
Blank | ZEMA HOZZL =
S AEQIZ|A =

% 21) LMO6L~LM25L2 7ts




OfA[OF BE 2L FE(LM)

s3gd &3 D L B YN
|:|7.||$2)
W b 1) L T(gf)
, dr. | 3182 o1&at 5183 518t 447 334
Resin Steel em)| mm) ™ @m) ™ mm) | ™| (mm) Q | (Co
LMO6LUU LMO6L-A 6 12 0 35 27 1015 320 | 520 | 4 16
-0.013
LMO8LUU LMOBL-A 8 15 45 35 11 (143 430 | 780 | 4 | 3
LM10LUU LM10L-A 10 0 19 55 44 13| 18 | 580 | 1100 | 4 | 62
0010 0 0
LM12LUU LM12L-A 12 21 57 46 13 20 | 650 | 1200 | 4 | 80
0 03 03
-0.016
LM13LUU IM13LA | 13 23 61 46 13 ] 22 | 810 | 1570 | 4 | 90
LM16LUU LM16L-A | 16 28 70 53 16 | 27 | 1230 | 2350 | 5 | 145
LM20LUU LM20L-A | 20 32 80 61 16 | 305 | 1400 | 2750 | 5 | 180
0 0
LM25LUU LM25L-A | 25 0012 40 0019 112 82 185 | 38 | 1560 | 3140 | 6 | 440
LM30LUU 30 45 123 &9 185 43 | 2490 | 5490 | 6 | 580
LM35LUU 35 52 135 0 9 0 21 | 49 | 2650 | 6470 | 6 | 795
0 0 04 04
LM40LUU 40 0015 60 0022 154 121 21| 57 | 3430 | 8040 | 6 | 1170
LM50LUU 50 80 192 148 26 | 76,5 | 6080 | 15900 | 6 | 3100
0 0
LM60LUU 60 0,020 90 0,025 211 170 3.15 ] 86.5 | 7650 | 20000 | 6 | 3500

F1) SYZ5tE2 50kme| ALY 7|E 22 ALt
100kmE 7|22 & 22 HO| 344535 U2 1.2622 LI5S0 18+ US.
o)) LM12L2| 50km 7|& sd45tE C = 650N
LM12L2| 100km 7|& &&435+S Cioo=650/1.26=515.87N
2) 2= Resin 2lE[0]H 7|& A Y.
3) F2|42| Hele mm Y.

4) 1N = 0.102kof

SAMICK |53



OfA[OF BE 2L FE(LM)

071F 1 9 2|L{01 R4
OUHAZ(LMARE A1) M
'_Tl__I?_MI A ‘|

2 O
Blank | A gle
W | =4
U | m24

OSMZ=YEY LAY
LEE M)

Blank | Resin (£=Z]|Al)

A | Steel @&A) ™V

00IR&2|E MY (HHA)
Blank | 2
N | R U =2

R | EIOHE 22|

Blank | 1EFA H|Of
AHQl2|A

% 1) LMOBAI~LM25AJ8H 7Hs (TH LM8S= A|2))

54| SAMICK



OFA[OF EF 2|L AT (LM)

b L D L B H453(N)
|:|7.||$2)
w L D 1) =2 T(gf)
. dr. | 5183 5184t 5184 5184} E4AY)| HuA
Resin Steel el (G mm (im] mm (o] mm il 0 o)
LMO6UU AJ | LMO6 AJ-A 6 12 19 13.5 1.1 1 | 115 200 260 4 8
LMO08SUU A 8 15 9 (()m 17 115 1.1 1 1143 | 170 220 4 1
LMOSUU AJ | LMO8 AJ-A 8 15 24 175 1.1 1 1143 260 400 4 16
LM1OUUAJ | LM10AJIA | 10 0 19 29 220 13| 1 18 | 370 540 4 | 30
-0.009 0 0
0.2 0.2
LM12UUAJ | LM12AIA | 12 21 0 30 23.0 131151 20 | 410 590 4 | 315
-0.013
LM13UUAJ | LM13AJIA | 13 23 32 23.0 13| 15| 22 | 500 770 4 | 43
LM16UUAJ | LM16AJIA | 16 28 37 265 16 | 15| 27 | 770 | 1170 | 5 | 69
LM20UUAJ | LM20AJIA | 20 32 42 30.5 16 | 15305 80 | 1370 | 5 | &7
0 0
LM25UUAJ | LM25A-A | 25 0010 40 0016 59 410 185 2 | 38 | 980 | 1560 | 6 | 220
LM30UU AJ 30 45 64 445 185| 25| 43 | 1560 | 2740 | 6 | 250
LM35UU AJ 35 52 70 0 495 5 21 125 | 49 | 1660 | 3130 | 6 | 390
LM40UU AJ 40 0 60 0 80 03 60.5 03 211 3 57 | 2150 | 4010 | 6 | 585
-0.012 -0.019 ‘ :
LM50UU AJ 50 80 100 74.0 26 | 3 |765|3820 | 7930 | 6 | 1580
0 0
LM60UU AJ 60 0015 90 0022 110 85.0 315| 3 [865] 4700 | 9990 | 6 | 2000

21) SHZFIR2 50kmO| HHAY 7|ZO2 AAKS!H
100kmE 7|22 & 32 B2 SYHotS o= 12628 L+ 1 + AUS.
) LM12AJ9] 50km 7|2 S22t C= 410N
LM12AJ2] 100km 7|2 S Z51S Cioo =410/ 1.26 = 325 40N

2) A= Resin 2/EI0]4 712 AURSE 712)
3) 222142 Hel= mm ¢

4) AF2 Y 2149,

5) 1N = 0.102kgf

SAMICK |55



OfA[OF EE 2|H AT (LM)

LM_OP

071% : 4ol 2|Ljof
OUHUE(LMALE 2i) 43

z
=
0124 M

nE e

4

4

01 2|L{0jR4

00IRE2|E MY (HHA2)

Blank | £
I EE ]
R H|O|EHE 2|

Blank | DEIA HO{™HZY =
AHQIZ|A

X 1) 2EY 2|L0{EA2 UU EIYSt 7hsot,
No seal & ™24 E}AE X552 SELICH
% Resin 2/E{0|H8t I7ts

56 | SAMICK



OFA[OF EF 2|L AT (LM)

[
=5
(]
o
=
ov]
c
=
L L D™ L B HAHZN) E}
u;.ll%-l)
W | h | 8 ) £9 T(gf)
) d. | siex 323 3123 323 SHAY | Ay
Resinenm) | om) | ™ | am) | ™ | om) | ™ | (mm) @ | (Co)
LM12UU OP 12 21 30 230 13 8 80 410 590 3 315
LM13UU OP 13 0 23 0 32 230 13 9 80 500 770 3 43
-0.009 0.013 0 ' 0 '
-0.2 -0.2
LM16UU OP 16 28 37 265 16 11 80 770 1170 4 69
LM20UU OP 20 32 42 305 16 11 60 860 1370 4 87
0 0
LM25UU OP 25 0,010 40 0016 59 410 1851 12 50 980 1560 5 220
LM30UU OP 30 45 64 445 185 | 15 50 1560 | 2740 5 250
LM35UU OP 35 52 70 0 495 0 2.1 17 50 1660 | 3130 5 390
0 0 03 03
LM40UU OP 40 0012 60 0,019 80 60.5 2.1 20 50 2150 | 4010 5 585
LM50UU OP 50 80 100 740 26 25 50 3820 7930 5 1580
0 0
LM60UU OP 60 0015 90 0,022 110 85.0 3.15| 30 50 4700 9990 5 2000

Z1) 384tE2 50kme| FA4Y 7|F2 2 ALt
100kmS 71222 & 32 O SYHINS U2 12622 LI=0 718 + Q3.
of) LM12 OPQ| 50km 7|& S8 25tE C=410N
LM12 OP2] 100km 7|& SA A= Cioo=410/1.26 =325.40N
A= Resin 2[H0]H 7|& AL (HET 7|2).
Q2|49] Hl=mm &
4) [FE YA 2[+Y.

ogh

SAMICK |57



OfA[OF EE 2|H AT (LM)

58 SAMICK

07|F : Ae Y5 S| 2L EA
OUHHE(MAIEE 21 H) MY
014 MY
Blank | & SIS
Ww_|¥=4
u | ma4
o2/gofH ME ()
Blank | Resin (4=2|A))
A | Steel @A) 7"
00IR52|E MY (HHA)
Blank | 22
N | R8s U &=z
R | 2f0[HE 2|
Blank | DEA HOj2IZ &
S | AHQIRIAE

% 1) LMFO6~LMF252t 7H5 (T LMF8SE A2])




OfA[OF BE 2L FE(LM)

Sy LjRAA D L D, HAHFZ(N)
AlZH (=BT
H|PCD| d, | d, | h AA% £¢ 0
. | d | sea | lsga lsex| | sign *m) |z g | | O
Resin Steel (m) [ cm] mm (o] mm (o] mm i) 0 (o)
LMFOSUU | LMFOG-A | 6 12 19 28 5 120 034|65/32] 12 | 220 | 260 | 4 | 265
LMFO8SUU 8 15 _08” 17 £ 5 | 24 134]65/32| 12| 170 | 20| 4 | 34
LMFOSUU | LMFOS-A | 8 5 2 3 5 | 24 134|65|32]| 12 | 260 | 400 | 4 | 40
LMFIOUU | LMF10-A | 10 _0809 19 2| | 6 |29 45|80[42] 12 | 370 | 540 | 4 | 76
02
IMF120U | LMF12-A | 12 2| | 42 6 |32 (45(80(42] 12 | 410 | 500 | 4 | 78
0013 0
IMF13UU | LMF13-A | 13 23 3 B | o, | 6|3 |a5(80(42| 12|50 |70 4|4
IMF16UU | LMF16-A | 16 28 37 18 6 |38 |45|80(42] 12 | 770 |1170| 5 | 134
LMF20UU | LMF20-A | 20 ) ) 54 8 | 4355|9552 15 | 860 |1370| 5 | 180
0 0
MFSUU | IMF2S-A| 25 | 0|40 | 0] 59 62 8 | 51 (55|95[52] 15 | 980 |1560| 6 | 340
LMF30U 30 15 64 74 10| 60 | 66110] 65| 15 | 1560 | 2740 | 6 | 460
LMF350U 35 52 70 8 10 | 67 | 66/110] 65| 20 | 1660 | 3130 | 6 | 795
LMFAOUU 0] 9 160! .9 |80] 0 | 13178 | 9.0 [140] 86| 20 | 2150 | 4010 | 6 | 1054
0012] 8 {0019 03 O
LMF50UU 50 80 100 6| | 13|98 |90 140/ 86| 20 | 3820 | 7930 | 6 |2200
03
LMF60UU 60| |0 |10 134 18 | 112 11.0[175]108| 25 | 4700 | 9990 | 6 | 2960
0015|0022
LMF8OUU 80 120 140 164 18 1142 111.0[175]11.1] 25 |10130|12000] 6 |5400

21) SHATIZS 50kme| FHLY 7|20 AlAtet
100kmE 7|22 & 22 HO| 344535 U2 1.2622 LI5S0 18+ US.
of) LMF129] 50km 7|& 58 25t& C=410N

LMF122] 100km 7|2 &4 #5t3 Cioo=410/1.26 = 325.40N
2) A= Resin 2lE0]H 7|2 AL,
3) 2|59 Hele mm Y.

4) 1N = 0.102kof

SAMICK |59



OfA[OF EE 2|H AT (LM)

LMF_L F

60| SAMICK

07|F : Ae Y5 S| 2L EA
OUHYUZ(LMAIZE 21H) MA
02[L[0RY &Y
024 MY
Blank | & SIS
Ww_|¥=24
u | maA
02lg0|H MY (HE)
Blank | Resin (4=2|A))
A | Steel @&A) 7"
00IR52|E MY (HHA)
Blank | £
N Sl LA &g
R H|O|HE 42|
0= MERE)
Blank | DEAHEL S
S AEQ2|A =

% 1) LMFO6L~LMF25L8t 7t




OfA[OF BE 2L FE(LM)

EL Weed | D L D, 2A50)
bibi] =] |E)]
H |PCD| d, | d, | h na% 22 0
. L wed| lsex aen| | sie K | x| g | | (O
Resin Stee mm)! @ ™ | m) | ™ | m) | ™ | mm) 9 | (Co)
LMFO6LUU| LMFO6L-A | 6 12 0 35 28 512013416532 15| 320 | 520 | 4 |
-0.013
LMFO8LUU| LMFOSL-A| 8 15 45 32 51243416532 15 | 430 | 780 | 4 | 53
LMF10LUU| LMF10L-A | 10 0 19 55 40 6 |29 45180142 15 580 | 1100 | 4 | 100
0,010 0
LMF12LUU| LMF12L-A | 12 21 0 57 03 42 6 |32 45|80 42| 15 | 650 | 1200 | 4 | 105
-0.016
LMF13LUU| LMF13L-A| 13 23 61 43 0 6 |33|45/80 42| 15 | 810 | 1570 | 4 | 130
0.2
LMF16LUU| LMF16L-A | 16 28 70 48 6 | 3845|8042 15 | 1230 | 2350 | 5 | 187
LMF20LUU| LMF20L-A | 20 32 80 54 8 | 43 155|95(52| 20 | 1400 | 2750 | 5 | 260
0 0
LMF25LUU| LMF25L-A | 25 0012 40 0,019 112 62 8 | 51 [55]95(52| 20 | 1560 | 3140 | 6 | 515
LMF30LUU 30 45 123 74 10 | 60 | 6.6 [11.0] 65| 20 | 2490 | 5490 | 6 | 655
LMF35LUU 35 52 135 0 82 10 | 67 | 6.6 |11.0] 65| 25 | 2650 | 6470 | 6 | 970
0 0 04
LMF40LUU 40 0015 60 0022 154 9% 131 78 1 9.0140| 86| 25 | 3430 | 8040 | 6 | 1560
LMF50LUU 50 80 192 116 _003 131 98 | 9.0(140| 86| 25 | 6080 |15900| 6 |3500
0 0
LMF60LUU 60 -0.020 90 -0.025 211 134 18 | 112111.0{17.5/10.8| 30 | 7650 |20000| 6 |4500

0||

F1) SYA3E2 50kme| A+ 7|22 ALHgt
100kmE 7|22 & 42 H9| %@7_4\8}2 UE 12692 LI et £ Qle,
of) LMF12L2| 50km 7|& %;é 6f 650N

LMF12Le| 100km 7|2 sd45ts Cwoo—650/1 26=515.87/N
2) A= Resin 2lH[0[H 7|& 2A Y.
3) 22|52 e mm 2.

4) 1N = 0.102kof

O||

SAMICK |61



OFA|OF 2 2]LI0j= A (LM)

62| SAMICK

07|F : Aol 23 S247] 2|L| oA
OUHYUAH(LMAIZE 21 A) M A
02 MY
Blank | &8I
uw | ¥=4
u =4
0 2[H|0|H M)
Blank | Resin (&=2|H))
A | Steel @EH) "
00}R&2|E MA(ET2))
Blank | =2
N | PR =S
RIENEEEE
e 8RR
Blank | NEMHIOIRZLE
5 AEfRlglA &

% 1) LMK0B~LMK252t 7H5 (4 LMKSS= H|2)




OFA[OF EF 2|L AT (LM)

i Weed | D L D A3
212+ o7
HIPCD| K | dy | dy| h|1rs g2 |7
. CLa we e lsen| (st *n) | x| | O
Resin Steel )| mm ™ | @m) | ™ | mm) | ™ | mm) 9 | (co
LMKO6UU | LMKO6-A| 6 12 19 28 5120122 34165[32| 12 | 200 | 260 | 4 | 265
LMKO8SUU 8 15 0 81 1 17 32 5124 125(34165[32| 12 | 170 | 220 | 4 | 34
LMKOSUU | LMKO8-A| 8 15 24 32 5124 |25(34|65(32| 12 | 260 | 400 | 4 | 40
LMK10UU | LMK10-A| 10 _0809 19 29 0 40 629|30|45|80(42| 12 | 370 | 540 | 4 | 76
-0.2
LMK12UU | LMK12-A| 12 21 0 30 42 6|32|32(45|80(42] 12 | 410 | 590 | 4 | 78
0013 0
LMK13UU | LMK13-A| 13 23 32 43 02 6|33 |34 |45|8042| 12 | 500 | 770 | 4 | %4
LMK16UU | LMK16-A| 16 28 37 48 6|38|37|45|80(42| 12 | 770 |1170| 5 | 134
LMK20UU | LMK20-A | 20 32 42 54 8 | 43|42 |55(95|52| 15 | 860 [1370| 5 | 180
0 0
LMK25UU | LMK25-A| 25 0,010 40 0016 59 62 8 | 51|50 |55 195]52| 15 | 980 |1560| 6 | 340
LMK30UU 30 45 64 74 10| 60 | 58 | 6.6 |11.0] 65| 15 | 1560 |2740| 6 | 460
LMK35UU 35 52 70 82 10| 67 | 64 166|110/ 65| 20 | 1660 |3130| 6 | 795
LMK40uU 40 0 60 0 80 0 96 13178 | 7519.0(140] 86| 20 | 2150 [4010| 6 | 1054
-0.012 -0.019 0.3 ’ T
LMK50UU 50 80 100 116 0 1319892 (90|140| 86| 20 | 3820 |7930| 6 |2200
03
LMK60UU 60 0 90 0 110 134 18 1112106 [11.0{17.5[10.8| 25 | 4700 [9990| 6 | 2960
-0.015 -0.022
LMK80UU 80 120 140 164 18 11421136 [11.0{175]11.1| 25 | 10130 {12000| 6 |4900

Z1) SYA552 50kme| FH,Y 7|FO= A4k
100kmE 7|22 & F2? HO| Y ZHots S 1.262% LI 71 £+ U3,
of) LMK122| 50km 7|& 54 25ts C= 41ON
LMK122] 100km 7|2 s845l= Cioo=410/1.26 =325.40N
2) A= Resin 2lE0]H 7|2 AL,
3) F22|2| Hel= mm ¢

4) 1N = 0.102kof

SAMICK |63



OfA|OF HZ 2|L {24 (LM)

XXX

TR =N

40 © o o
rio

Oc[E0|H HY ()

Blank | Resin (4~2|A))

A | Steel @&A) T

o0tRLa|E MH(EHH2)
Xz

Blank | 2
[}

N |FHHUREES

R | EIOHE 22|

Blank | DEAHOZAE

S | ZEQRAS

% 21) LMKOBL~LMK25L0+ 7Hs

64| SAMICK



OFA[OF EF 2|L AT (LM)

g Wz D L D, YASIEN)
bibi] o952
H|PCD| K [ d | d | h SR =2 0
. L se| sea e st K0 | e | | (O
Resin Stee mm)| mm) | ™ mm | ™ | ) | ™™ | m) 9 | (o)
LMKO6LUU | LMKO6L-A | 6 12 0 35 28 512022 |34165|32] 15 | 320 | 520 | 4 | 3
-0.013
LMKOBLUU| LMKO8L-A | 8 15 45 32 5124 |25(34|65|32| 15 | 430 | 780 | 4 | 53
LMK10LUU| LMK10L-A| 10 0 19 55 40 6 29|30 45|80 42| 15 | 580 |1100| 4 | 100
0010 0
LMK12LUU | LMK12L-A | 12 21 0 57 03 42 6 |32(32|45|80(42| 15 | 650 |1200| 4 | 105
-0.016
LMK13LUU| LMK13L-A | 13 23 61 43 0 6 |33 34 45/80|42 | 15 | 810 |1570| 4 | 130
0.2
LMK16LUU| LMK16L-A | 16 28 70 48 6 | 38|37 458042 | 15 | 1230 | 2350 5 | 187
LMK20LUU | LMK20L-A | 20 32 80 54 8 | 43142 |55[95|52| 20 | 1400 | 2750 | 5 | 260
0 0
LMK25LUU | LMK25L-A | 25 0012 40 0,019 112 62 8 | 5150 [55[95|52| 20 | 1560 |3140| 6 | 515
LMK30LUU 30 45 123 74 10 1 60 | 58 | 6.6 110/ 65| 20 | 2490 | 5490 | 6 | 655
LMK35LUU 35 52 135 0 82 10 | 67 | 64 |66 110/ 65| 25 | 2650 |6470| 6 | 970
0 0 04
LMK40LUU 40 0015 60 0022 154 96 13178 | 75(9.01(140]| 86| 25 | 3430 | 8040 | 6 | 1560
LMK50LUU 50 80 192 116 _003 13198 |92 (90(140]| 86| 25 | 6080 {15900/ 6 | 3500
0 0
LMK60LUU 60 -0.020 90 -0.025 211 134 18 [ 1121106 (11.0{175/10.8| 30 | 7650 {20000/ 6 |4500

1) SHAs1E2 S0kme) HALE 7F0 A
100knE 7202 8 3 B SH3E 242 12692 L0 73 4 92,
o) LMK12L9| 50km 7|& &4 Z5tsE C= 650N
LMK12L2| 100km 7|& SE&5HE Cioo =650/ 1.26 = 515.87N
2) 27/ Resin 2IEf0|L 712 2A2.
3) 223149 Hels mm 2

4) 1N = 0.102kgf

SAMICK |65



OfA[OF EE 2|H AT (LM)

66| SAMICK

T A EY SRR
OUHHE(MAIEE 21 H) MY
0178 HY
Blank | & SIS
Ww_|¥=4
u | ma4
02l8|0|YH MY (=E)
Blank | Resin (4=2|A))
A | Steel @&A) 7"
00IR52|E MY (HHA)
Blank | &
N | R8s U &=z
R | 2f0[HE 2|
e MAERIR)
Blank | NEIAHIOEY =
S | AHQIRIAE

% 21) LMHO6~LMH258t 715




OFA[OF EF 2|L AT (LM)

B LiHE D L D, HAsS(N)
217+ (=l )
H{W|A|F|d | d]h A =2 A
5122 5123 5123 5123 X0m) | 222600 | 247424 (af)
Resin Steel dr 0{07*" mm °‘|ozl‘ mm °‘| ozl' mm °101|' SoA |©°5
(mm)| (mm) (mm) (mm) (mm) 0 | (Co)
LMHO6UU | LMHO6-A| 6 12 0 19 28 5118120 34(165(32] 12 | 200 | 260 | 4 | 265
-0.011
LMHO8UU | LMHO8-A| 8 15 24 32 512124 3416532 12 | 260 | 400 | 4 | 40
LMH10UU |LMH10-A| 10 0 19 29 40 6 | 25|29 45180(142| 12 | 370 | 540 | 4 | 76
0,009 0
LMH12UU|LMH12-A| 12 21 0 30 02 42 6 |27 |32 45180142 12 | 410 |59 | 4 | 78
0013 0
LMH13UU|LMH13-A| 13 23 32 43 02 6 29|33 45180142 12 | 500 | 770 | 4 | %4
LMH16UU|LMH16-A| 16 28 37 48 6 |34 131122145|801(42| 12 | 770 [1170| 5 | 134
LMH20UU | LMH20-A| 20 32 42 54 8 | 38136 |2455/95(52| 15 | 80 [1370| 5 | 180
0 0
LMH25UU | LMH25-A | 25 0010 40 0016 59 0 62 8 |46 140 |32|55/95(52| 15 | 980 [1560| 6 | 340
-0.3
LMH30UU 30 45 64 74 10151149 |35|66|11.0/65| 15 | 1560 |2740| 6 | 460
Z1) SYHSE2 50kmo| FALY 7202 A A
100kmE 7202 & 3 BO| SHZHHE 242 12602 Like0] 2¢ 4 9IS,
of) LMH122| 50km 7|& 58 &5tE C=410N

LMH122| 100km 7|

=
z 537

2) 27 Resin 20| 7|2 2.
3) 22|52 e mm 2.

4) 1N = 0.102kgf

ot& Cio=410/1.26=325.40N

SAMICK |67



OfA[OF EE 2|H AT (LM)

68| SAMICK

07|F : 29 EIYE S| 2|L|012A
OUZEHAE(LMAIZE 2/F) MY
02[L[02Y &Y
01178 MY
Blank | & glg
Uu | ¢=M
U |m24

ocfE0lH HY ()

Blank | Resin (£=ZA)

A | Steel @5H) ™"

023 =5 (HA4Y) 647 Y

Blank | 2

% 1) LMHO6L~LMH25L%t 7+s



OFA[OF EF 2|L AT (LM)

L wegd | D L D, 2230
bibi] =} &l
HIW[A|F|d|d| h o= gg 7
. | d e lsen lsen| sied %08 a0 g | (0
Resin Stee mm)| @m) | ™ | @m) | ™ | @mm) | ™™ | () 9 | (o)
LMHO6LUU | LMHO6L-A| 6 12 0 35 28 5118120| - |34]65|32| 15| 320 | 520 | 4 | 31
-0.013
LMHO8LUU | LMHOBL-A | 8 15 45 32 5121124 - |34[65|32| 15 | 430 | 780 | 4 | 53
LMH10LUU | LMH1OL-A| 10 0 19 55 40 6 25|29 - |45|80(42| 15 | 580 |[1100| 4 | 100
0010 0
LMH12LUU | LMH12L-A| 12 21 0 57 03 42 6 27|32 - |45|80(42| 15 | 650 [1200| 4 | 105
0,016 0
MH13LUU | LMH13L-A| 13 23 61 43 02 6 129(33| - |45|801(42| 15 | 810 [1570| 4 | 130
LMH16LUU | LMH16L-A| 16 28 70 48 6 | 3413122458042 15 | 1230 |2350| 5 | 187
MH20LUU | LMH20L-A| 20 32 80 54 8 |38136|24(55|95(52| 20 | 1400 [2750| 5 | 260
LMH25LUU | LMH25L-A | 25 0 40 0 112 62 8 |46 40|32(55|95(52| 20 | 1560 |3140| 6 | 515
-0.012 -0.019 0
-04
MH30LUU 30 45 123 74 10 151149 135|66(11.0/65| 20 | 2490 |5490| 6 | 655

F1) SIS 50kme| FH+Y 7|Eo= AL
100kmE 7|22 & 39 BO| SYFotS ¢S 12622 LiF0| 71 4+ U3,
Oil) LMH12L2| 50km 7|& S8 25tE C = 650N
LMH12L9| 100km 7|& S 25t& Cioo=650/1.26 = 515.87N
2) RA= Resin 204 7| RAY.
3) F22|59| HelE mm .

4) 1N = 0.102kgf

SAMICK |69



OfA[OF EE 2|H AT (LM)

70| SAMICK

07|F : 2ol |3 malad Sah2| 2|L|01 24
O LRI (MARLE 212) 413
019 43
Blank | & SIS
TR
U H=4
0280l MY (=E)
Blank | Resin (£=2[A))
A Steel (344 7"
02E TF(LfAIH) ofF MY
Blank | £
N S U =3
R O|HE Z2|
Blank | TEIA HlO[ZY £
S AHQIRIA =

% 21) LMFPO6~LMFP258t Tts




OFAIOF BZ 2|L{O{ R4 (LM)
L LiHeA D L D, HAsS(N)
217+ (=}
2 | H[PCD| d, | d,| h AAT =2 0
2193 =193l |+ 2195 X(ﬂm) S | M2 A (gf)
Resin Steel dr, °{o7*|' mm 0{07*" +0.2 mm °‘|oZ|' coa |09
(mm)| (mm) (mm) | mm (mm) @ | (Co)
LMFPO6UU LMFP06-A | 6 12 0 19 | 28 5 5120346513212 | 200 | 260 | 4 | 265
-0.011
LMFPO8UU LMFP08-A | 8 15 24 | 32 5 5124 (3465|132 12 | 260 | 400 | 4 | 40
LMFP10UU LMFP10-A | 10 0 19 29 | 40 6| 6 |29 (45| 8 [42] 12 | 370 | 540 | 4 | 76
-0.009
LMFP12UU LMFP12-A | 12 21 0 30 | 42 6| 6 [ 32(45] 8 [42] 12 | 410 [ 590 | 4 | 78
-0.013
LMFP13UU | LMFP13-A | 13 23 32 | 43 0 6| 6 |33|45| 8 (42| 12 | 500 | 770 | 4 | %
0.2
LMFP16UU | LMFP16-A | 16 28 37 | 48 6 | 6 |38 (45| 8 [42| 12 | 770 |1170| 5 | 134
LMFP20UU | LMFP20-A | 20 32 42 | 54 8 | 8 | 43|55/95[52| 15 | 860 |1370| 5 | 180
0 0
LMFP25UU LMFP25-A | 25 0010 40 0016 59 | 62 8 | 8 |51 [55[95]|52| 15 | 980 |1560| 6 | 340
LMFP30UU 30 45 64 | 74 1011060 66|11 65| 15 | 1560 |2740| 6 | 460
LMFP35UU 35 52 70 | 82 1011067 |66 11 | 65| 20 | 1660 |3130| 6 | 795
0 0
LMFP40UU 40 0012 60 0,019 80 | 96 131131781 9 1486 20 | 2150 |4010| 6 | 1054
LMFP50UU 50 80 100 | 116 _(?3 13113198 9 |14 86| 20 | 3820 | 7930| 6 |2200
0 0
LMFP60UU 60 0015 90 0022 110 | 134 18 [ 18 | 112 11 {175/10.8| 25 | 4700 {9990| 6 |2960
31) SEA43}E2 50kme FH4F 7|22 AlAteh
100kmE 7|02 &t 4R HO| SHASIE 2 1.2622 LIL0] et 492,
of) LMFP122] 50km 7|& 5dZ435tS C=410N

LMFP122] 100km 7|2 Sd&5t= Cioo=410/1.26 = 325.40N
2) 2A1E Resin 2lEf0]4 7|& A Y.
3) 22|49 Hel= mm Y.

4) 1N = 0.102kof

SAMICK |71



OFAlOF B 2|L| 02 A (LM)

LMF

02[L[0RY &Y
01RH MY
Blank | & glg
w | ¥4
IREES

OcfE0lH HY ()

Blank | Resin (4~Z|A))

A | Steel @5H) ™"

028 Ea(UAY) 6F 1Y

Blank | 2

N |RHHUEES

R | EIO[HE X2

Blank | DEHA Hjoj2IZH &
SIS

% 21) LMFPO6L~LMFP25L2 75

72| SAMICK



OFA[OF EF 2|L AT (LM)

3 W | b | L] D 30

212t o7

2 | HI|PCD| d, | d, | h SR £¢ 0

. o d s s s03) ise *n) | gz 2| | (O

Resin Stee (i) (M) mm (mm) | mm mm (mm) @ | (Co)
LMFPO6LUU | LMFPOGL-A | 6 12 0 35| 28 515120 (34(65(32] 15 | 320 | 520 | 4 | 31
-0.013
LMFPOSLUU | LMFPOSL-A | 8 15 45 | 32 515 (24134165(32| 15 | 430 | 780 | 4 | 53
LMFP10LUU | LMFP10L-A | 10 0 19 55 | 40 6| 6 (29|45 8 [42| 15 | 580 |1100| 4 | 100
-0.010
LMFP12LUU | LMFP12L-A | 12 21 0 57 | 42 6| 6(32|45| 8 |42] 15 | 650 | 1200 4 | 105
-0.016
LMFP13LUU | LMFP13L-A | 13 23 61 | 43 0 6|6 |33[45]8 42| 15| 810 |1570| 4 | 130
0.2

LMFP16LUU | LMFP16L-A | 16 28 70 | 48 6| 6 38|45 8 |42] 15 | 1230 [2350| 5 | 187

LMFP20LUU | LMFP20L-A | 20 32 80 | 54 8 | 8 |43(55[95|52| 20 | 1400 | 2750 | 5 | 260
0 0

LMFP25LUU | LMFP25L-A | 25 0012 40 0019 112 | 62 8 | 8 |51 [55(95]|52| 20 | 1560 [3140| 6 | 515

LMFP30LUU 30 45 123 | 74 10 10|60 |6.6]11]65] 20 | 2490 | 5490 | 6 | 655

LMFP35LUU 35 52 135| 82 10 |10 | 67 |66 11 65| 25 | 2650 |6470| 6 | 970
0 0

LMFP40LUU 40 0015 60 0022 154 | 96 131137819 |14]86| 25 | 3430 |8040| 6 |1560

LMFP50LUU 50 80 192 [ 116 _003 13113198 |9 |14(86| 25 | 6080 |15900| 6 |3500
0 0

LMFP60LUU 60 0,020 90 0,025 2111134 18118 | 112| 11 |17.5/10.8| 30 | 7650 |20000| 6 |4500

F1) SHHSIE2 50km2 FHSY 7|FO2 ALk,
100kmE 7|E22 & 2% B SYHotE 32 12622 L0 718 4+ 3.
off) LMFP12L2| 50km 7|& S4Z5tE C= 650N

LMFP12L2| 100km 7|2 88 23HS C 4 =650/ 1.26 =515.87N
2) 2= Resin 2lH[0]H 7|& A Y.
3) 22|30 tele mm 2.

4) 1N = 0.102kof

SAMICK |73



OFAlOF B 2|L| 02 A (LM)

74| SAMICK

Blank | &4 gle
uu | ¢=4
u |z
0 2[Eo]H MY (ZHE)
Blank | Resin (4~2|A))
A | Steel (@&A) 7Y
0012428 M (HBH2|)
Blank | &
N | Rdsiyz=d
R | HOJHE A2
03 HEAE)
Blank | 1EHA HORZ &
S | AFQIRAE

% Z1) LMKPO6~LMKP258F 7Hs




OFA[OF EF 2|L AT (LM)

L L3 D L D, R ()
AlZF [=§1 5]
2| HIPCD| K |d |d,]|h SAT =9 0
| || s | sga |02 s Rad=" gl I
Resin Steel (iR mm (il mm (i) 0 | (o)
LMKPO6UU | LMKPO6-A | 6 12 . 19 | 28 5| 5120(22(34/65[32| 12 | 200 | 260 | 4 | 265
-0.011
LMKPOSUU | LMKP08-A | 8 15 24 | 32 5|5 |24]25(34|65(32] 12 | 260 | 400 | 4 | 40
LMKP10UU | LMKP10-A | 10 . 19 29 | 40 6|6|29/30|45| 8 42| 12 | 370 | 540 | 4 | 76
-0.009
LMKP12UU | LMKP12-A | 12 21 . 30 |4 6|6 |32/32145| 8 (42| 12 | 410 | 590 | 4 | 78
-0.013
LMKP13UU | LMKP13-A | 13 23 32|43 . 6|6 |33/34|45 8 42| 12 | 500 | 770 | 4 | 94
-0.2
LMKP16UU | LMKP16-A | 16 28 37 | 48 6|6 |38|37(45| 8 [42| 12 | 770 |1170| 5 | 134
LMKP20UU | LMKP20-A | 20 32 42 |54 8|8 [43]42|55(95(52| 15 | 80 |1370| 5 | 180
iMkp2500 | imkp2s-A |25 | 9 tao | O 5o |6 8|8 [51|50|55[95(52| 15 | 980 |1560| 6 | 340
-0.010 -0.016
LMKP30UU 30 45 64 | 74 101060 |58 66| 11|65] 15 | 1560 |2740| 6 | 460
LMKP35UU 35 52 70 | 82 10|10 |67 |64 66| 11(65] 20 | 1660 |3130| 6 | 795
0 0
LMKP40UU 40 | 012| 60 |g010| 80 | % 1301378 175] 9 | 14 /86| 20 | 2150 |4010| 6 |1054
LMKP50UU 50 80 100 116 _003 1311398 (92| 9 [14(86] 20 | 3820 [7930| 6 |2200
0 0
LMKP6OUU 60 | o015 90 |0pp| 110|134 18|18 [112[106| 11 [17.5[108| 25 | 4700 |9990| 6 |2960

Z1) SYHEHE2 50km2| A4 7|22 AHAkgt
100kmE 7|22 & 22 HO| 3YA5IE ¢S 1.2622 L0 18 + AUS.
0f) LMKP122| 50km 7|# S #st&E C=410N
LMKP122| 100km 7|& S8 43tS Cioo=410/1.26 = 325.40N
2) A= Resin 2lE0]H 7|2 2AY.
3) F2|42| Hele mm Y.

4) 1N = 0.102kgf

SAMICK |75



OfA[OF EE 2|H AT (LM)

Oc[E0|H HY ()

Blank | Resin (£=2|A))

A | Steel @&A) T

00tRE2|E MY (BHA2)

Blank | 2

N | S L g

R | EIOHE 22|

% 1) LMKPO6L~LMKP25LEt 7t

76| SAMICK



OFA[OF EF 2|L AT (LM)

L LiaH D L D, HAZ(N)
AlZF [=§1 5]
2| HIPCD| K |d |d,]|h SAT =9 0
. b se| s s03] st *8) g g | (O
Resin Steel (mid i) mm (il mm (i) 0 | (o)
LMKPO6LUU | LMKPO6L-A | 6 12 . 35 |28 5| 5020]2234/65[32| 15| 320 | 520 | 4 | 31
I 1-0.013
LMKPOSLUU | LMKPOSL-A | 8 15 45 | 32 5|5 |24]25/34/65[32| 15 | 430 | 780 | 4 | 53
LMKP10LUU | LMKP1OL-A | 10 . 19 55 | 40 6|6 [29(30|45| 8 [42| 15 | 580 |1100| 4 | 100
00101 |
LMKP12LUU | LMKP12L-A | 12 21 . 57 | 42 6|6 [32]32|45| 8 42| 15 | 650 |1200] 4 | 105
10016
LMKP13LUU | LMKP13L-A | 13 23 61 | 43 . 6|6 [33]34|45| 8 (42| 15 | 810 |1570] 4 | 130
] 02
LMKP16LUU | LMKP16L-A | 16 28 70 | 48 6|6 [38|37|45| 8 |42 15 | 1230 |2350| 5 | 187
LMKP20LUU | LMKP20L-A | 20 32 80 | 54 8|8 43|42 |55(95(52| 20 | 1400 |2750| 5 | 260
LMKP25LUU | LMKP25L-A | 25 _0812 40 _0319 112 ] 62 8|8 [51|50|55(95(52| 20 | 1560 |3140| 6 | 515
LMKP30LUU 30 45 123 | 74 1010 |60 |58 66|11 |65] 20 | 2490 |5490| 6 | 655
LMKP35LUU 35 52 135 | &2 1010|6764 66| 11|65] 25 | 2650 |6470| 6 | 970
o 1o
LMKP40LUU 40 | 0151 60 | 0000|154 | 9 1301378 175] 9 | 14 /86| 25 | 3430 |8040| 6 |1560
LMKP50LUU 50 80 192 1116 _(?3 1311398 |92| 9 | 14|86| 25 | 6080 15900/ 6 |3500
0 0
LMKP60LUU 60 | 000! 90 |0 0p5/ 211|134 18118 |112/106| 11 [17.5/108] 30 | 7650 (20000 6 |4500

Z1) SHABZS 50km| HHLY 7|ZO2 AHAks!
100kmS 7|E22 & 42 HO| SIS o= 12622 L0 12 + QS
0f) LMKP12L2] 50km 7|2 4251 C = 650N

LMKP12L2| 100km 7|& 3 &5tE Cioo =650/ 1.26 = 515.87N
2) 2= Resin 2|01 7|2 SAY.
3) 22|49 ttole mm ¢,

4) 1N = 0.102kgf

SAMICK |77



OfA[OF EE 2|H AT (LM)

o 33Yo| 7Y

LMHP (20 UU-AN'S

78| SAMICK

ES E=3
o o — o =
OUHHEA(MAIZE 21F) MY
0128 HY
Blank | & gle
Uu | ¥&4
U H=4
o2/Eo|u M (=)
Blank | Resin (2| Al)
A | Steel &)
00IRE2|E MY (HHA2))
Blank | &
N S U &3
R HO|HE 2|
Blank | DEA HO2IZ &
S AHQIEZ|A

% 21) LMHPO6~LMHP258t 715




OFA[OF

£ 2/HAHFH (M)

3 Weed | o | L| D AN
b.ipi] o7
LIH W AF d|d|h T g ¥
. ||| we| s r02) Isen *n) g g | (O
Resin Steel m)| m) | ™™ | emm) | mm | ™ () @ | (Co)
LMHPO6UU | LMHPO6-A | 6 12 0 19 | 28 51511820 34165(32| 12 | 200 | 260 | 4 | 265
-0.011
LMHPOBUU | LMHPO8-A | 8 15 24 | 32 51512124 34165(32| 12 | 260 | 400 | 4 | 40
LMHP10UU | LMHP10-A | 10 0 19 29 | 40 66 [25[29 4518 (42| 12 | 370 | 540 | 4 | 76
-0.009
LMHP12UU | LMHP12-A | 12 21 0 30 | 42 6|6 |27]32 45| 8142 12 | 410 | 590 | 4 | 78
0013 0
LMHP13UU | LMHP13-A | 13 23 32 |43 02 6]61]29]33 45| 8 |42 12 | 500 | 770 | 4 | %4
LMHP16UU | LMHP16-A | 16 28 37 | 48 6634312245 8 |42 12 | 770 |[1170| 5 | 134
LMHP20UU | LMHP20-A | 20 32 42 | 54 818 |38/36]24(55/95(52| 15 | 860 |1370| 5 | 180
LMHP25UU | LMHP25-A | 25 0 40 0 59 | 62 8 |8 |46140(32(55/95(52| 15 | 980 |1560| 6 | 340
-0.010 -0.016
LMHP30UU 30 45 64 | 74 10110 |51 149|35|6.6| 11 (65| 15 | 1560 {2740 | 6 | 460
21) SYHSIBL S0kmel YA4Y 7|FO2 AN,
100kmE 7|20 & 2 Bo| SHGHZ 2B 12692 Li-0] 78 4 S,
0f) LMHP122] 50km 7|2 S22 51% C = 410N

LMHP129] 100km 7|

= =
Y45

2) 27 Resin 2[E{0]L 7|2 2.

3) #22|50] HelE mm ¢

4) 1N = 0.102kgf

= Cio=410/1.26 =325.40N

SAMICK |79



OFAlOF B 2|L| 02 A (LM)

02lg0|H MY (=HE)
Blank | Resin ($2[4)

A | Steel @A) "
00IRE2|E MHE(EHA2))
Blank | &

N | 2 LA =2
R | HOJHE A2
——o= MFERE)
Blank | HEHAH|O2Z &
S | AfQIRAE

% 21) LMHPOBL~LMHP25L2 7Hs:

80| SAMICK



OfA[OF BE 2L FE(LM)

o LA D L D, AAEN)
A1ZF o7
2HWAFd1d2h'."'E %%'TJH
. ;L aEed| e 03] | sied *n) x| O
Resin Stee (i) o) mm (il om mm (mi) 0 Co)
LMHPO6LUU | LMHPO6L-A | 6 12 . 35 |28 5/51(18(20| |34[65/32| 15 | 320 | 520 | 4 | 31
-0.013
LMHPOSLUU | LMHPOSL-A | 8 15 45 | 32 5152124 |34(65(32] 15 | 430 | 780 | 4 | 53
LMHP10LUU | LMHP1OL-A | 10 . 19 55 | 40 66|25(29| 45| 8 (42| 15 | 580 |1100| 4 | 100
0010 |
LMHP12LUU | LMHP12L-A | 12 21 . 57 | 42 6|6|27(32| |45]8 (42| 15 | 650 |1200| 4 | 105
-0.016 0
LMHP13LUU | LMHP13L-A | 13 23 61 [43] o, | 6|6]29(33| |45/ 842 15 | 810 [1570| 4 | 130
LMHP16LUU | LMHP16L-A | 16 28 70 | 48 6|6 |34|31|22/45| 8 |42| 15 | 1230 |2350| 5 | 187
LMHP20LUU | LMHP20L-A | 20 32 80 | 54 8|8 38(36(24/55/95(52| 20 | 1400 |2750| 5 | 260
LMHP25LUU | LMHP25L-A | 25 _0812 40 _0819 112 62 8|8 |46(40(3255/95(52| 20 | 1560 |3140| 6 | 515
LMHP30LUU 30 45 123 | 74 10]10(51149|35(6.6/11(65| 20 | 2940 |5490| 6 | 655

Z1) SHABZS 50km| HHLY 7|ZO2 AHAks!
100kmS 7222 & 42 HO| SIS o= 12622 L0 12 + QS
of) LMHP12L2| 50km 7|2 S 25t2 C = 650N

LMHP12L2| 100km 7|& SE&5IE Cioo =650/ 1.26 =515.87N
2) 2= Resin 2|01 7|2 SAY.
3) F22|59| Hel= mm .

4) 1N = 0.102kgf

=

SAMICK |81



OFAlOF B 2|L| 02 A (LM)

LMF

LEE MBI

Blank | Resin (4~Z|A))

A | Steel B5H) ™"

o0[Ra2lE M@

Blank | &
N S U &3

R 0|HE 2|

0= MFAE)
Blank | 1EHA HORZ &
S | 2EpQIRAE

% 1) LMFMO6~LMFM258t 75

82| SAMICK



OFA[OF EF 2|L AT (LM)

& HHHZE D L D, AN
AlZF [=§11E]
2 |H|PCD| d,|d,|h nA% £¢ A
: L d sE| st (k03| s *n) a2 | O
Resin Stee (rren) L imim) mm (mm) | mm mm (mm) @ | (Co)
LMFMO6UU | LMFMO6-A | 6 12 . 35 |28 1515 ]20(34(65(32] 15 | 320 | 520 | 4 | 31
10013
LMFMOSUU | LMFMO8-A | 8 15 45 |32 20| 5 |24|34|65(32| 15 | 430 | 780 | 4 | 53
LMFM10UU | LMFM10-A | 10 . 19 55 | 40 245 6 |29 |45| 8 |42 15 | 580 | 1100 | 4 | 100
0010 |
LMFM12UU | LMFM12-A | 12 21 . 57 | 42 255 6 |32 |45| 8 [42| 15 | 650 | 1200 | 4 | 105
| ]-0.016
LMFM13UU | LMFM13-A | 13 23 61 | 43 . 275 6 |33 |45| 8 |42 15 | 810 | 1570 | 4 | 130
] 02
LMFM16UU | LMFM16-A | 16 28 70 | 48 32| 6 |38|45|8 |42| 15 | 1230 | 2350 | 5 | 187
LMFM20UU | LMFM20-A | 20 32 80 | 54 36| 8 | 43|55/95(52| 20 | 1400 | 2750 | 5 | 260
iMiM2sou | vem2sA | 25 |9 sl O 112l e 52| 8|51 |55/95[52| 20 | 1560 | 3140 | 6 | 515
-0.012 -0.019
LMFM30UU 30 45 123 | 74 565/ 10| 60 |66 11 (65| 20 | 2490 | 5490 | 6 | 655
LMFM35UU 35 52 135 | 82 62510 | 67 | 66| 11|65 25 | 2650 | 6470 | 6 | 970
o | | o
LMFM40UU 40 | o015 0 | 00pz | 14| % 7051378 | 9 | 14|86 25 | 3430 | 8040 | 6 | 1560
LMFM50UU 50 80 192 [116 _3)3 89513198 | 9 [14(86| 25 | 6080 |15900| 6 |3500
0 0
LMFM60UU 60 | o000l 90 | 0005|211 134 96.5| 18 | 112] 11 [175[108| 30 | 7650 |20000| 6 | 4500

F1) SZZ5E2 50kme| ALY 7|22 H L
100kmE 7|22 & 22 HO| 344535 U2 1.2622 LI5S0 18+ US.
of) LMFM122] 50km 7|& &8 25S C = 650N

LMFM122] 100km 7|2 SHZH51% Cioo= 650/ 1.26 = 515.87N
2) 2= Resin 2lH[0]H 7|& A Y.
3) F2|42| Hele mm Y.

4) 1N = 0.102kof

SAMICK |83



OfA[OF EE 2|H AT (LM)

S2l3Ho| 1M

O O L.

LMKM 20 UU-A N S

84| SAMICK

7|E  oel 2t 7t STA| 2[L[0fR A
WHHB(MAIZE A1) MY
24 MY
Blank | 4 gle
W |34
U |m=4
2[gfolH ME(AHZ)
Blank | Resin (4=2|A))
A | Steel @&A) ™"
OfRs2|E MY (EHHA2)
Blank | &
N | F8a U &=
R | 2f0[HE 2|
= HMEAZ)
Blank | DEIAHOFY =
S | AHQIRIAE

% 1) LMKM06~LMKM252t

s




OFA[OF EF 2|L AT (LM)

3 Wi | o L | D 2230
217t =12
| H|PCD| K | d | d | h[3o= 24 T"l
. o Ld wsa | lseait03] lsex *m) | gz g | | (O
Resin Stee ) mm) | ™| emm) | mm | ™/ (mm) 9 | (o)
LMKMO6UU | LMKMO6-A | 6 12 0 35|28 15151(20)22(34/65(32| 15| 320 | 520 | 4 | 3
-0.013
LMKMO8UU | LMKMO8-A | 8 15 45 | 32 205 |24125|34165|32| 15 | 430 | 780 | 4 | 53
LMKM10UU | LMKM10-A | 10 0 19 55 |40 24516 129 30|45] 8 |42] 15 | 580 | 1100 | 4 | 100
-0.010
LMKM12UU | LMKM12-A | 12 21 0 57 | 42 255/ 6 |32 (32|45] 8 |42] 15 | 650 | 1200 | 4 | 105
-0.016
LMKM13UU | LMKM13-A | 13 23 61 | 43 0 275/ 6 |33 [34145] 8 |42] 15 | 810 | 1570 | 4 | 130
0.2
LMKM16UU | LMKM16-A | 16 28 70 | 48 32|16 (38|37]45| 8 |42 15 | 1230 | 2350 | 5 | 187
LMKM20UU | LMKM20-A | 20 32 80 | 54 36| 8 |43]42|55(95|52| 20 | 1400 | 2750 | 5 | 260
LMKM25UU | LMKM25-A | 25 _0812 40 _0819 112 | 62 528 [51|50(55[95(52| 20 | 1560 | 3140 | 6 | 515
LMKM30UU 30 45 123174 565/ 10|60 | 58 6.6 11 |65| 20 | 2490 | 5490 | 6 | 655
LMKM35UU 35 52 135 82 625/ 10 | 67 [ 64 | 66| 11 |65| 25 | 2650 | 6470 | 6 | 970
0 0
LMKM40UU 40 0015 60 0022 1541 96 705013178 75| 9 | 14|86 25 | 3430 | 8040 | 6 | 1560
LMKM50UU 50 80 192|116 _(?3 895113198 92| 9 [ 1486 25 | 6080 [15900| 6 |3500
0 0
LMKM60UU 60 -0.020 90 -0.025 2111134 9.5| 18 |112[106| 11 [17.5/108] 30 | 7650 |20000| 6 |4500

21) SHATIE2 50kme| H24Q 7|20 2 HAkst
100kmE 7|22 & 32 B2 SYHotS o= 12628 L0 1 + AUS.
ofl) LMKM129| 50km 7|& & 253 C= 650N

LMKM122] 100km 7|Z S A5t Cioo =650/ 1.26 =515.87N
2) PH= Resin 2[E{0|H 7|2 2AY.
3) #2252 Hele mm .

4) 1N = 0.102kgf

-

SAMICK |85



OFAlOF B 2|L| 02 A (LM)

/F
<
L
3
N
S
c
t5
1
>
z
©w

86| SAMICK

U ErHE =
OUHYZ(LMAFEE 2IZ) M3
on7d dy

Blank | 4 gle
uu | g2
U H=4
02lg0|YH MY (=E)
Blank | Resin (4~Z|A))
A | Steel @&A) ™V
00IRE2|E MY (HHA2))
Blank | &
N | R8s U ==z
R HO|HE 2|
02 MEAE)
Blank | DEIA H02IZ &
S AHQIEZ|A

% 1) LMHMO6~LMHM258 7Hs:




OFA[OF EF 2|L AT (LM)

g LiHHA D L D, HAsIS(N)
2zt oy
BHWAFd1d2h'."'E %%'TJH
=193 =193l |+ 2195 X(/ATI) S | M2 A (gf)
Resin Steel dr, °‘|o7*|' mm °{ozl' +03 mm °'io7*|' coa |09
(mm)| (mm) (mm) | mm (mm) 0 | (Co)
LMHMO6UU | LMHMO06-A | 6 12 0 35128 151511820 34165(32| 15 | 320 [ 520 | 4 | 31
I ]-0013
LMHMO8UU | LMHMO08-A | 8 15 45 | 32 20052124 34165(32| 15 | 430 | 780 | 4 | 53
LMHM10UU | LMHM10-A | 10 0 19 55 | 40 2451 6 | 25129 45| 8 |42 15 | 580 [1100| 4 | 100
-0.010] |
LMHM12UU | LMHM12-A | 12 21 0 57 | 42 2551 6 | 2732 451 8 |42 15 | 650 [1200] 4 | 105
| |-0016 0
LMHM13UU | LMHM13-A | 13 23 61 |43 ) 2751 6 (2933 45] 8 [42| 15 | 810 [1570| 4 | 130
LMHM16UU | LMHM16-A | 16 28 70 | 48 3216 (34|31(22|45| 8 [42| 15 | 1230 |2350| 5 | 187
LMHM20UU | LMHM20-A | 20 32 80 | 54 36| 8|38|36(24|55/9.5(52| 20 | 1400 |2750| 5 | 260
LMHM25UU | LMHM25-A | 25 _0812 40 _0319 112 | 62 52| 8 |46|40(32(55/|9.5(54| 20 | 1560 |3140| 6 | 515
LMHM30UU 30 45 123 |74 565/ 10 | 51149 (35(66]11(65| 20 | 2490 [5490| 6 | 655
Z1) SYA}S2 50kme] LT 7|F22 AlAst
100kmS 71202 & 22 BO| SHZSIZ S 12622 Li-0| 28 4 9IS,
0fl) LMHM129| 50km 7|& 54 435t& C =650N

LMHM122] 100km 7|

2) &= Resin 2[H|0]H 7|& &

3) #22|50| Hele mm ¢

4) 1N = 0.102kgf

=2 =
54845

|O|
o.

t& Cio=650/1.26=515.87N

SAMICK |87



88| SAMICK



Would you align, please?

No, | don’t need!
| am Self-Aligning!

(STN'T ‘SINT R ixlo

SAMICK |89




AHS 24 2|Ljoj4

O zsizg Asz4E 2L ojRA

IX | S

Aol M A 35t= Az 2 A Linear Bushing, Super Ball Seriese= 2t20| £ Z2{0|E= Z3lE 348 A2
St0, 2 AfO|2EL} ofZk 37| 7t5E 2 220|E2| 2 1R E(Ball Groove)= HEHAZ Bt I ASa2
24, gt 2[L{01R4 20t 38 71 O 2 5152 HE & QUCH £t 34| 201 5tE 58S Yt 2|LI0RA
| WS o), SUSHALR R BH0I[A 278 7t 21 +HE ASBICH

LE

= SH0|E= A52HE 2o SUHUM 0.5 RS 4 AEE A0 QL. 0] A2 7Is2 7|
ALl 71322 U ZY PO OtL2t LMAZES| HHO = Qlof WAig & Q= & ooty TR = 1Y
Al el SEO| S AANY 4 U, SHEO| DYt ZE} A0t 2SS Al St

SO ECRe 24U A4S

13IEE As2AY 2|U0IRHE 3, A0, J2|1 L{0H240] Foh AIR[L 01 Z2|HZ A2 0] =
WAl YHst= 230l oot 2t & &2HA| OFof o3t 438 43| 200 RE22 FAS 7tsdt o
Ct.

SM=4

= 220|E= 2I& OM ZAHH22 A4E(0f UR| 41 HU= HEfO7| Th20i| 5HRA0| 2 E M 21t LM
MNZEZIO| S5 2 4= Tt

o2

12l 3, Super Balle| ¢HH 12l 4, Super Ball2| AFEZ A

90| SAMICK



<0

I+

2|Lof

160
<0
3!
Lo

Linear Bushing

~O

;[0

BlojA0 £HeES B

oIS

AE24 7502

<

nO

ojo

n

(#143)

(2Erg)

|

._oo
ol
i

E

4

o]

== SA (0 2L

<
Bl

o

Kjo

o

~

G

()
X
<

{

F

g
)
S

1.26xC

F=

1.46xC

F=

F=

SAMICK |91



AHS 24 2|Ljoj4

o

7|12s4A%E(0) 2 &
MR sE 249 82 AEots 28 2450 [t 2HL|0, 5445S0[2t SAXQl AR Hot0f| A
2|7t 50km7tA| =EE M 90%2| A28 HEAIZ & Us ZHHESISS Q0[S AL
9| 7|22 Of2fiet 2Tt
L= % I*x50 L - AA4LH(50km 7|&, B2 km)
Lioo : AZ$HH(100km 7|2, 2| km)
Co C 712538 Z5=(50km 7|&, T2l N)
Lioo = [ e ’x 100 Cioo : 7|2SZAHEZ(100km 7|2, T2 N) = C/1.26
P . 4815

SHA|RH HAH 22 2|L{0 242 £0= Of2Het 22 0f2f 2450 F&S D|RIC

L:{Mx% I x 50 fo EEAA
" fooeAs
o (2EAS

Lo = [ Bxfixe o Sm g g0

fo  E@EAS

A719 Ao 95l HA+H(L)0| AR H, AEZT 20| L &=F 3|47 UPT L +YAIZ2 CHZ A0
ol azICH
b = L x10° L 2AIZHAD
2 X fs X Nex 60 0 : ﬁgiaéol(mm)
Ne :O§EES 3|4(cpom)

4 el 2|20 Z2f= 2|tHF5t ot
ot +~FOICt CHS Ofl= Oild 2 ALkt 2145 2|L|0jR o @S ZYst= Of|o|Ct.

- 28312 250N (P) -AER3 : 250mm (2s)
-geheEA 60 (Ny) -IMAFZE A& HRC60 (fu=1.0)
-AFB A& 30m/min (SHEE AL 2HR)

AEEE V= 2x0s XN,

= 2x250x60

=30,000mm/min (fu = 1.6 : 324 2%)
CI2 H459| 2 fc = fr= 12 71AsiCt

92| SAMICK



sz 2|H0Rd

o

=
5
©
Y
=
v
c
)
=
5
Q@

WS 7|22 ot J|2sE Aot B=A (), 2=A41%(f), BEAT()2 242 108,
| 2SI 2(9f Z2A0IM LMES20

ook oh
rE ofN

_ . 1.0x1.0x1.0 | 2,580 p _ 13417x10°
L=1 16 X Seq ) X230 b = 5250 %60 %60
=13,417 km = 7,454 hours
S M
2|L|0{EAI0] @14 A|7H2 15,000A|7t2.2 o1H,

L = 15,000 x 2 x 250 x 10° x 60 x 60 = 27,000km

_ 250x16 . 2[27,000 _
C=1oxtox10 * V750 -3>2N

M2kA 2f 2A0H| 2= 27tet 2|L01F 42 725 45t50] 3,800N ¢ LMES252 4ottt

AS2HY 2|HORYE AE3I7| flet 5+220] 2ol Ojnf 5ty2| ES2s +Ea Y=o Sg=

SE2HY U R AHES fleh ofRd SAkes 029 BE FIett}, T 52| ESAE HY

OJ2IC. 2t s 3
2 Y 3 IMESEIYS 0= 2lS2| FTHOM A2|7|9| S50 SYstt.
B 4. 51284719 %=

YtH(mm) LMES10 LMES12 LMES16 LMES20 LMES25 LMES30 LMES40 LMES50

LHZH (mm) 19 22 26 32 40 47 62 75
23HH7) +O.(())21 +0.825 +O.(§)30

A% (Inch) LMBS04 LMBS06 LMBSO8 LMBS10 LMBS12 LMBS16 LMBS20 LMBS24 LMBS32

LHZ(Inch) 0.5 0625 0875 1.125 125 15625 2 2.375 3
- +0.0007 +0. +0.001 +0.0012
2aKH7) O%OO 0%008 0(())0 0 0(())0

SAMICK |93



AHS 24 2|Ljoj4

LMAZE
Aol 2|LJoj A4S LMAFEE 2810 2 H25(0 727 120, LMAIIES] 2=, BRZE U 2430
70| 3 Wet 9o, 0l 2|LoiAlol ZHMs0| S5 %S stk

AE3Hs IMAFEE L Ch29) 2242 81251010} BiCt,

NEE
LMAFEZES| H== HrC58~647} £[0{0F BTt HrC580(512] AR0= +8E HEAI7|= Q10| ECt

2) BHRE

FEYHZ A2 Sl BH2 2(Cf 1.650[50[0{0F BHCt,

3) LMAFRE 33}

2| RYS ALE S I 28 247t E|0, LMA} | g5t Of2ie| 5 =ttt

B 5 LMAIZES} || 22

#¥M(mm)  LMES10 LMES12 LMES16 LMES20 LMES25 LMES30 LMES40 LMES50
21 (mm) 10 12 16 20 25 30 40 50

0 0 0 0 0 0 0 0
-0.009 -0.011 -0.011 -0.013 -0.013 -0.013 -0.016 -0.016

&itH(Inch) LMBS04 LMBS06 LMBSO8 LMBS10 LMBS12 LMBS16 LMBS20 LMBS24 LMBS32
2 3(Inch) 0.25 0375 0500 0625 0750 1.000 1.250 1.500  2.000

23H(g6) -0.0002 -0.0002 -0.0002 -0.0002 -0.0003 -0.0003 -0.0004 -0.0004 -0.0004
S -0.0006 -0.0006 -0.0007 -0.0007 -0.0008 -0.0008 -0.0010 -0.0010 -0.0012

94| SAMICK



HSZAY 2LiofRy

O a4 74

® ASZAY 2|Ljojsy

LM ES 16 UU OP -N S|

=
5
©
Y
=
v
c
)
=
5
Q@

07| ¢of 2|HoiRd
o EE MY (RY, 0l=)

ES | Metric series (mm)
BS | Inch series (inch)

OUEHE(MAIRE 2 F) 4

10~50mm | Metric (mm)
#4~#32 | Inch Series

01PU Y

Blank |4 glg
| ¥4
U |24
O SEf M
Blank | 7|29
OP | WYY MEE 2LR)

0= S0|1E A2 MY
Blank | %

N | PHe A e

3=

(@)

0= HYA)
Blank | EtA HjOj2IY £
S | 2HQRAZ

SAMICK |95



ASZAY 2lLiofRy

96| SAMICK

HHE(LMAIE M3
0178 HY
Blank | A gle
w_| 224
u | ma4
0= S2{0|E BHA2| MY
Blank | £
N S U2E2
C 3ezg
Blank | NEIAHIOEY =
S | AHQIRIAE




A2y 20 Fd

LA A D) | L L HAIZE(N)
S2l8H Ly 29 il
TUT O de | seR 0 o BEEAY wyE | 7T (o
(mm)| (mm) | ™ | = M@ | (Co)
LMES10UU 10 +0.008 19 29 22.0 1.30 750 550 5 17
LMES12UU 12 0 22 32 229 0 130 | 1230 1100 5 23
LMES16UU 16 26 36 249 0.2 1.30 1550 1250 5 47
+0.009

LMES20UU 20 -0.001 32 45 315 1.60 | 2580 1670 6 61
LMES25UU 25 10011 40 58 44 1 1.85 | 3800 2750 6 122
LMES30UU 30 -0.001 47 68 521 0 185 | 4710 2800 6 185
LMES40UU 40 10013 62 80 60.6 03 2.15 | 6500 5720 6 360
LMES50UU 50 -0.002 75 100 | 77.6 2.65 | 11460 | 7940 6 580

Z1) Nominal 5t22 L4AS 2|0|gt,
2) SHH}E2 50kme| ALY 7|FO 2 AHlAE
100kmE 7|22 & F2? HO| 53 25ts 242 1.2622 LI 1& £+ U3,
of) LMES129| 50km?|& S8 &3ts C=1230N
LMES122] 100km 7|& S&Z5tS Cioo = 1230/ 1.26 = 976.20N
3) 22|42 Hel= mmY.
4) 1N = 0.102kgf

['

SAMICK |97



ASZAY 2lLiofRy

F\
<
m
«
N
S
c
<
o
T
z
©w

£
alo

rE(oQ|ux
JNe{ N
UE|uE

98| SAMICK

Oigd 2[L{0fFY

0= S2f0|E BB A2| 1Y

Blank | 2
N ol e =y
C 383
0= MEAE)
Blank | ZJEMA HjO|2IZ £

LEQ2A =




A2y 20 Fd

WHeZ D L Lo Y4H55(N)
- 2A
533 =
_9_%) OHJ dr %‘I%il’ \ 2 L1 . h 9 F G J %zo_la_f_z) 16'%17_1 =22 (gf)
(mm)| (mm) | ™™ *0 min © | (o)
+0.008
LMES12UU OP| 12 0 22 | 32 1229 1301 65| 66 |@3.2] - |09 1290 1260 | 4 | 18
0 )
LMES16UU OP| 16 +0.009 26 | 36 {249 0.2 130/ 9 | 68 |@3.2 09| 1640 1320 | 4 | 34
LMES20UU OP| 20 -0.001 32 | 45 [315 160/ 9 | 55|@3.2] - | 1.1] 2630 1720 5 | 51
LMES25UU OP| 25 10011 40 | 58 441 185115 57 |@3.2115]16| 3910 2850 5 1102
LMES30UU OP| 30 -0.001 47 | 68 |52.1 0 185/ 14 | 57 |@3.2120122| 4850 | 2900 5 1155
LMES40UU OP| 40 10013 62 | 80 [60.6 U2 2.15/195] 56 |@3.21 15| 27| 6700 5900 5 1300
LMES50UU OP| 50 0.002 75 11001776 265|225 54 |@52125|23| 11700 | 8100 5 1480
% 218 Hole 21| LMES12-0P LMES16-0P,LMES20-OP
F J F
m & m \ g m
e
0
LMES25-0P LMES30-OP, LMES40-OP, LMES50-0P
F J F

G
=
D)
G

=

Z1) Nominal ot2& LHAZ 9|0|g.
2) 884stS2 50kme| YAT-Y 7|E 2= A bk,
100kmE 7|22 & F2? HO| 53 25ta 42 1.2622 LI 1& £+ U3,
o) LMES12 OP2| 50km7|& S4A5I= C = 1290N
LMES12 OPQ] 100km 7|& SZAIE Cioo=1290/1.26 = 1023.80N

3) #22|40| HelE mmY.

4) 1N = 0.102kgf

SAMICK |99



A5 ZAE 2|L{ofR A

100 SAMICK

07|12 AZ2 A 2| 018 Al (inchd)
OUIHAA(LMAILE 1) M
0P MY
Blank | 4 ¢l
R
U |m
0= Z20|E BERH2| MY
Blank | 2
N 2Hs LREF
C EEEE
R HEMR)
Blank | HEIA HlOZY &
S | AHQIAE




sz

% 2lLiofy

RStk D* L | 4455 (b) _
pcta PR O L - e T &ﬂ
(nch) | (nch) | N mn 70 | (Co)

LMBS04UU| 0,250 0.5000 | 0.750/0.735 | 0.511/0501 | 0039 | 57 | 49 | 4 | 001
LMBSO6UU| 03750 06250 | 0.875/0860 | 0.699/0689 | 0039 | 78 | 66 | 4 | 002
IMBSOUU| 05000 | | 08750 | 1250/1.230 | 1.032/1.012| 0050 | 210 | 190 | 4 | 005
wvestouu| 06250 | %% | 11250 | 150011480 11051095 | 0.056 | 290 | 340 | 5 | 008
LMBS120U| 0,750 12500 | 16251605 | 1270/1.250 | 0.056 | 500 | 430 | 6 | 0.14
LMBS16UU| 10000 15625 | 2.250/2.230 | 1.884/1864| 0070 | 820 | 780 | 6 | 029
IMBS2000 12500 | | 20000 | 26252600 | 2.004/1.984 | 0.068 | 1240 | 1270 | 6 | 040
wmes24uu| 15000 | 00%% | 23750 | 300012970 | 241012300 | 0.086 | 1510 | 1540 | 6 | 0.80
IMBS3200| 20000 | O | 30000 | 40003960 | 31933163 | 0.103 | 2230 | 2580 | 6 | 138

1) Norinal 6122 U218 200/

2) SHAFZ2 50kme| H2AE 7Z02 AM,

100kmE 7|22 gt 2 HO| 5
off) LMBS122] 50km?|
LMBS122] 100km 7|& &3

3) 2|9 Hl=inchg.

4) 11bf = O.453kgf

E3Y5otS

EHASIE IS 12622 L0 &t 4
C =500 Ibf
HA5IZ Cioo=500/1.26 = 396.83 Ibf

|2
Mo

SAMICK | 101



ASZAY 2lLiofRy

o

LMBS

F
<

0

15}
N
S
c
<
o
T
z
©w

102| SAMICK

07|F  As2AY 2|H 24 (inch®)
OUIHAAE(LMAIEE 2| A)
o178 HY
Blank | A gle
W | =4
u | ma4
O7ES 2|L|0| 24
0= S2{0|E EHA2| MY
Blank | 2
N e [ e e
C Jg=Z
A O )
Blank | DEIAHO{™-Y =
S | AHQl2lAE




A2y 20 Fd

LiZ A D L, A H51Z(Ibf)

L FI G| | h
dr, o8zt | . .
(inch) | (inch) inch min (@]

o
27| = = (Ibf)

toh

2ol
ogk
rE
—
e
ng

LMBSO8UU OP | 0.5000 0.8750 1.250/1.230 | 1.032/1.012 |0.14]0.63| Thru {0.050]0.32| 210 | 190 | 3 |0.03

LMBS10UUOP | 0.6250 1.12501 1.500/1.480 | 1.105/1.095]0.11/0.13/0.039|0.056|0.38| 320 | 340 | 4 |0.06

LMBS12UUOP | 0.7500 0.0005 1.25001 1.625/1.605 | 1.270/1.250 | 0.1410.13/0.059 |0.056/0.43| 510 | 430 | 5 |0.11

LMBS16UU OP | 1.0000 1.562512.250/2.230 | 1.884/1.864 10.14/10.13/0.047|0.070/0.56| 830 | 780 | 5 |0.21

LMBS20UU OP | 1.2500 2.0000 | 2.625/2.600 | 2.004/1.984 10.20{0.19]0.090 1 0.068|0.63| 1250 | 1270 | 5 |0.35

LMBS24UU OP | 1.5000 00006 2.375013.000/22.970 | 2.410/2.390 |0.20{0.19/0.090|0.086 | 0.75| 1520 | 1540 | 5 |0.67

LMBS32UU OP | 2.0000 -0.0008 3.00001 4.000/3.960 | 3.193/3.163 |0.27{0.31| Thru |0.105|1.00| 2250 |2580| 5 |1.10

% 17 Hole 93|

LMBS08-0OP LMBS10-0OP LMBS12-0P through LMBS32-0OP

&

S
110.125
—

w7
o | =
3

Z1) Nominal ot Wi&2 2|08t
2) SHZBIE2 S0kme] B4y 7|Z0= At
100kmE 7|22 & A2 HO| SH A= S 1.2622 LI0f & £ 92
o) LMBS12 OPQ| 50km7|& S&Z5t= C =510 Ibf
LMBS12 OP2| 100km 7|& SEA3HE Cioo =510/ 1.26 = 404.76 Ibf
3) 22|42 Hel=inch.
4) 11bf = O.453kgf

SAMICK |103



AHS 24 2|Ljoj4

oo

)

2240

s

104 SAMICK

7%7 7777777777777 V5| o
® 23O M
07|% : ZYE 2|Ljoiey
OUHHE(LMAIZE 21 H) MY
UnCERE:
Blank | A oig
W | ¢=4
U Ha4
0= 520|1E BOA2| MY
Blank | £
N S UAEZ
C 3=cZ
e MERNR)
Blank | ZEMA HOZZL =
S AEQIZ|A




A2y 20 Fd

o A Afok e HHHZ (NP
A8 et 2
d(mm) | Without | . D™ | L(mm) s8a | £¥3 | Huy | Y
seal | WithSeal mm) | 02 | 9mm et %9 | (o)
8 CLBO8 | CLBOSUU 4 15 24 8 350 260 6.29
10 CLB10 | CLB1OUU 4 17 26 10 416 320 7.65
+0.008
12 CLB12 | CLB12UU 4 19 28 12 0 480 385 13.20
14 CLB14 | CLB14UU 5 21 28 14 640 440 15.00
16 CLB16 | CLB16UU 5 24 30 16 925 625 2144
+0.009
20 CLB20 | CLB20UU 6 28 30 20 ~0.001 1165 790 26.10
25 CLB25 | CLB25UU 6 35 40 25 2100 1370 57.20
+0.011
30 CLB30 | CLB30OUU 6 40 50 30 -0.001 2870 2100 80.42
40 CLB40 | CLB40OUU 7 52 60 40 10013 5200 4100 143.30
50 CLB50 | CLB50UU 8 62 70 50 -0.002 6620 5600 197.85

21) Nominal 5t L{Z2<€ 2|0|gt,
2) SHAHGE2 50kme| ALY 7|F 02 AHlAg
100kmE 7|22 & 22 Ho| 5 ZslE 42 1.2622 LI 18 4+ AUS.
of) CLB129| 50km 7|& & &5ts 480N
CLB12°| 100km 7|2 S8 Z5tS Cio0=480/1.26 =380.95N
3) £22|49| thel= mmYl.
4) 1N o 102kgf
5) 2|4£ 1S0 10285 Al2|Z 10f THEL|Ct,
6) ¥¥ ot U sat: H7
A2 AFLE 21A 23} he"

SAMICK | 105



106 | SAMICK



@ANDEal O

SAMICK | 107




TYEE 20T (LME)

BDOOOOOOOE

108| SAMICK

=]
0FH MY
Blank | 4 gle
w | ¥4
IREES
02lg0|YH MY (=E)
Blank | Resin (&2|4)
A | Steel @&A) 7V
00IR52|E MY (HHA)
Blank | 2
N |2dsiyR=a
R | 2f0]EHE Az
Blank | DEIA 02 E
S |2HpRIRAE

% 21) LMEO8~LME258 7t




FYEE 20T (LME)

LME -
=}
[
QO
=
v}
c
5
- UiHaz D L B CECE () 2
u;."%z)
w D 1) =2 1igf)
, dr. | 383 5183 5182t 5182t 543" 2434
Resin Steel mm| e ™ mm | ™ mm | ™ (mm) © | (o
LMEO5UU 5 12 0 22 145 1.1 115 | 200 | 260 4 12
+0,008 0008
LMEO8UU| LMEOS-A | 8 0 16 25 16.5 1.1 152 | 260 | 400 4 20
LME12UU| LME12-A | 12 22 32 0 229 0 1.3 21 410 | 590 4 4
0 02 02
-0.009
LME16UU| LME16-A | 16 26 36 249 13 | 249 | 770 | 1170 | 5 57
+0.009
-0.001
LME20UU| LME20-A | 20 32 45 315 16 | 303 | 80 | 1370 | 5 91
LME25UU| LME25-A | 25 40 | 0 58 441 185 | 375 | 980 | 1560 | 6 | 215
+0.011 001
-0.001
LME30UU 30 47 68 0 52.1 0 185 | 445 | 1560 | 2740 | 6 325
0.3 0.3
LME40UU 40 62 0 80 60.6 2.15 59 | 2150 | 4010 | 6 705
+0,013 0013
LME50UU 50 20,002 75 100 776 2.65 72 13820 | 7930 | 6 | 1130
LME6OUU 60 90 0 125 0 101.7 0 315 | 865 | 4700 | 9990 | 6 | 2220
0.015 04 ’ 04 : :

F1) SZHsIE2 50kme] FAeY 7|E2 = At
100kmS 71222 & 32 HO| SYHINS U2 12622 LI=0 718 + Q3.
0fl) LME129] 50km 7|Z 58245tE C=410N
LME122] 100km 7| SHZA5HE Cioo =410/ 1.26 = 325.40N
2) BH= Resin 2/E0]H 7| FAY.
3) F22|%9| Tl mm &,

4) 1N = 0.102kgf

SAMICK | 109



FHEE /YOI (LME)

110 SAMICK

07|Z : QEHE M 2|LEA
OUHYUZ(LMALLE 217) ) MY
02[L[0RY &Y
017E MY
Blank | &4 2le
uu | ¥=4
IREES
02lg0|H MY (=E)
Blank | Resin (4=2|A))
A | Steel @&AH) "
00IRE2(E MY (BHA
Blank | 2
N | 2HH LA S
R | 2f0]EHE A2
0= ME(RE)
Blank | DEFA HjO2IY &
S | AHPQlRAE

% 21) LMEOSL~LME25L2 7Hs




FYEE 20T (LME)

=
=}
oD
Q
=
us)
c
s
3 e 0 L 5 AN S
u;."%-z)
w D 1) 22 1igf)
. dr. | 5183 5184 5184 5|82} E4AY) 34
Resin Steel il G mm i) mm i) mm Tl © | (o
LMEOSLUU| LMEO8L-A | 8 6| O | 4 3 11 | 152 | 430 | 780 | 4 | 3
+0,009 10009
-0.001
LME12LUU| LME12L-A | 12 2| S| |8 |13 | 2 | @0 | w4 &
0,011 03 03
LMET6LUU| WWEISLA| 16 | | 26 70 498 13 | 249 | 1230 | 2350 | 5 | 145
+0.
-0.001
LME20LUU| LME20L-A | 20 7, 80 61 16 | 303 | 1400 | 2750 | 5 | 180
LME25LUU| LME25L-A | 25 w | 0 1 8 185 | 38 | 1560 | 3140 | 6 | 440
+0013 0013
-0.002
LME30LUU 30 47 123 1042 185 | 445 | 2490 | 5490 | 6 | 580
LME4OLUU 40 62 154 o, |212) g, 215 | 59 | 3430 |80 | 6 | 1170
0 B B
+0.016 0015
LME5OLUU 50 | 00| 75 192 1552 265 | 72 | 6080 |15900| 6 | 3100
LME6OLUU 60 0 | o0y |20 170 315 | 865 | 7650 |20000| 6 | 3500

1) SYHoIS2 50kme| YH+F 7|Z22 Alike
100kmS 7|222 & 32 B2 SYHoHS ¢S 1.2622 LiF0f 78 £ 3.
0f) LME12L2| 50km 7|& S8 &5t C=650N

LME12L2] 100km 7|& SE&5tS Cioo =650/ 1.26 = 515.87N
2) F= Resin 2H0]H 7| 2.
3) #22|50| Hele mm ¢
4) 1N = 0.102kgf

SAMICK |111



RYEE 2|L01FH(LME)

Blank | &gl
uu =4
EEEE

OSMZHY 2|LojRY
O2fE0lH MY ()

0.

Blank | Resin (4=Z|A))

A | Steel @2H) "

0012428 MA(EBA2))

Blank | 2

L=

R |EIO[HE %2

ez MERE)
Blank | DEMAHO{ZL E
S | AHQIRAE

% 21) LMEOSAJ~LME25AJ2 7Hs

112| SAMICK



FYEE 20T (LME)

LME -
=5
(]
o
=
ov]
c
S
3 T ™ L 5 AN S
|:|7.||1’-2)
WD | h ) £¢ T(gf)
. dr. | 322 o122t 122t 5122t EXHY| 43A
Resin Steel il i mm (mm) mm bl mm G © (o)
LMEOSUUAJ | LMEOSAFA | 8 w65 O | s 16,5 14 152] 1| 260 | 400 | 4 | 20
+0,008 10008
0
LME12UUAJ | IMET2A-A | 12 2| jm | jns| 13|21 |15 |40 0 | 4|4
10,009 02 02
LME16UUAJ | MEIGAMA | 16 26 36 249 131249015 770 | 1170 | 5 | 57
40,009
-0,001
LME20UUAJ | ME2OAMA | 20 R 15 315 161303 2 | 860 | 1370 | 5 | o1
IME25UUAJ | ME2SAMA | 25 s | 9O s 14,1 185(375| 2 | 980 | 1560 | 6 | 215
+0,011 0.011
-0,001
LME30UUA) 30 47 @ | || o |1ss|ws) 2|60 | 240 | 6 |3
03 03
LMEAOUUA 40 @ | 60.6 215 59 | 3 | 2150 | 2010 | 6 | 705
+0,013 0.013
LMESOUUA 50 | 200 | 75 100 7756 2650 72| 3 138207930 | 6 |1130
LMEGOUUAJ 60 o | 9 || 9 lwo17] O [315|865| 3 | 4700 | 9990 | 6 |2220
0015 04 [1OV7] g4 31086

F1) SYAoIE2 50kme| Y24Y 7|02 AlM %:.
100kmE 7|22 & 32 B2 SYHotS o= 12628 L+ 1 + AUS.
0f)) LME12AJ9| 50km 7| SHZHHE C = 410N
LMET2AJ9] 100km 7= S8H5t& Cioo=410/1.26 = 325.40N
2) FH= Resin 2[E0]H 7|2 FAY.
Q2|49] Hl= mm ¢
4) 2Z2 Wy 2|+,
N = 0.102kgf

SAMICK | 113



TYEE 20T (LME)

DOOOOOOOE

oYY 2L
00tRE2|E MY (EHA2)

114 SAMICK

Blank | £

ICEE RS

R |EIO[EHE 2|

0= ME(RE)
Blank | DEA HO2IZA &
S | AHQlRAE
CESVIE

HEERES

% 1) 2EY 2L o{RH2 U
No seal L HEM EIQS



FYEE 20T (LME)

r
3
oD
o
=
ov]
c
g

g e D L B AeEN) 3
|:|7.||1’-2)
W | D | h | ® ) £¢ T(gf)
. dr. | 322 5122t 5122t 5182t EXAT| WA
Resnenm) | om) | ™™ | mm) | ™™ om) | ™ | (mm) Q | (Co
LME12UUOP | 12 +8‘°08 2 . EY) 29 13121 | 7578 | 410 | 590 | 3 | 41
-0.009 0 0
LME16UUOP | 16 26 36 249 131249 10 | 78| 770 | 1170 | 4 | 57
+0,009 02 02
-0.001
LME20UUOP | 20 EY) 45 315 16303 10 | 60° | 860 | 1370 | 4 | 91
LME25UUOP | 25 40 | 0 58 44.1 185|375/|125| 60° | 980 | 1560 | 5 | 215
+0,011 0.0
-0.0011
LME30UUOP | 30 47 68 . 52.1 . 185 (445|125 50° | 1560 | 2740 | 5 | 325
03 03

LME40UUOP | 40 62 . 80 60.6 215| 59 | 168 50° | 2150 | 4010 | 5 | 705

+0.013 -0.013 \

LMESOUUOP | 50 | o> | 75 100 776 265| 72 | 21 | 50° | 3820 | 7930 | 5 | 1130

0 0 0 \
LMEGOUUOP | 60 0 | oors | 15| g4 |1017| 4 |315]865|272| 54 | 4700 | 9990 | 5 | 2220

F1) 84532 50kme dH+Y 7|F2= A bt
100kmE 7|22 & 22 HO| 3YA5IE ¢S 1.2622 L0 18 + AUS.
0fl) LME120P2| 50km 7|& 54 45ls C=410N
LME120P2]| 100km 7|I SHAGE Coo=410/1.26 = 325.40N
2) 2= Resin 2lE0]H 7|& A Y.
Q2|40] Hel= mm %'.
4 9|7o:|0 7|.||:||-1-| ;(|AOI
N = 0.102kgf

SAMICK | 115



TYEE 20T (LME)

0 SUYH 14

LMEF 20 UU-A N S

0715 QUEZE 4o 4F Z247) 2Liojey
OUHHEA(MAIZE 21FH) MY
010 K43
Blank | & gle
UU_ | ¥&4
U H=4
0280l MY (=E)
Blank | Resin (£=A|4|)
A | Steel @&A) T
00IRE2|E MY (HHA2)
Blank | &
N S U &3
R HO|HE 2|
02 ME AR
Blank | DEA HO2IZ &
S AHQIEZ|A

% 1) LMEFO8~LMEF258t 7ts

116 SAMICK




FYEE 20T (LME)

LME .
3
o
o
=
o
c
s
e LT D L B HAE0) 5
b.ipi] =} &l
H|PCD| d, | d; | h ;(“E) £9 T(H})
Resin | steel |06 | 318% 583t CEC o *U | S| A J
G € L) | mm) | ™™ | om) | ™ | @mm) | ™™ | (mm) @ | (Co)
LMEFOSUU | LMEFO8-A | 8 16| O |25 32 5124 (34|65(32| 12 | 260 | 400 | 4 | 44
+0,008 0008
0
LMEF12UU | LMEF12-A | 12 2 | |e 6 32]45]8 (42| 12 | 410 | 590 | 4 | 86
-0.009 02
LMEFI6UU | LMEF16:A | 16 26 36 46 6 3645|842 12 | 770 |1170] 5 | 120
+0,009 0
-0.001 02
LMEF20UU | LMEF20-A | 20 3 45 54 8 | 43/55(95|52| 15 | 860 |1370| 5 | 184
LMEF25UU | LMEF25-A | 25 w0 | 0 | 58 62 8 | 51[55[95(52] 15 | 980 |1560| 6 | 335
0,011 0.0
-0.001
LMEF30UU 30 47 CHE 10| 62 |66 11 65| 15 | 1560 [2740| 6 | 545
03
LMEF40UU 40 2| | 98 13]80| 9 | 14|86 20 | 2150 |4010| 6 | 1185
0013 0013 0
LMEF50UU 50 75 100 112 13]94| 9 |14]86| 20 | 3820 [7930| 6 |1730
-0.002 03
LMEF60UU 60 90 _0815 125 _(?4 134 18 [112| 11 [17.5/10.8| 25 | 4700 [9990| 6 |3180

Z1) SYASIER 50kme| HHLY 7[Fo2 A4S
100kmE 7|22 & 2 319| %Mﬁfz U2 12622 LI0] 71t 4 QI3.
of) LMEF122| 50km 7|& S A5t= 410N
LMEF122] 100km 7|I = 07_4.6}3 Cio=410/1.26 = 325.40N
2) A= Resin 2[H[0|H 7|& FAY.
3) F2|42| Hele mm Y.
4) 1N = 0.102kof

SAMICK 117



RYEE 2|L01FH(LME)

118 SAMICK

0713 FYEE Ho ¥ S| 2L olRY
OLIHAZ(LMAILE 212) MY
02U 0RY &Y
0124 Ny
Blank | A olg
uu Y=4
U |H24
oz|EolH MY (&)
Blank | Resin (4=2|4))
A | Steel @£A) 7V
00IR42|E MA(EHA2)
Blank | £
N | 2o U &=
R | Ef0[HE 2|
e MAERE)
Blank | DEIAHO{ZL E
S | AHolgAE

% 21) LMEFO8L~LMEF25L2 75




FYEE 20T (LME)

LME !
3
o
o
=
o
c
=
2 e D L B 530 5
b.ipi] o7
H|PCD| d | &, | h |3r= g2
v | s | O |BEA|ESA| sex| |58k *m) g | (O
esin teel | eom) | m) | ™ | @m) | ™ | mm) | ™ | (mm) Q | (Co)
LMEFOSLUU | LMEFOSL-A| 8 16 | 0| 5 EY) 5 | 24 [34|65]32] 15| 430 | 780 | 4 | 53
+0,009 0.009
-0.001
LMEFI2LUU |LMEF12LA| 12 2| || e 6 |32|45| 8 |42| 15 | 650 |1200| 4 | 100
0011 03
LMEFISLUU | LMEFISLA| 16| | 26 70 4| 6|3 |45] 8|42 15 1230 2350 5 | 187
+0.
-0.001 02
LMEF20LUU | LMEF20L-A| 20 2 80 54 8 | 43|55]95|52| 17 | 1400 | 2750| 5 | 260
LMEF25LUU | LMEF25L-A| 25 w |0 62 8 | 51|55(95/52| 17 | 1560 |3140| 6 | 515
+0013 0013
0,002
LMEF30LUU 30 47 123 76 1062|6611 |65| 17 | 2490 | 5490 | 6 | 655
LMEF40LUU 40 | s I 1380 | 9 | 14|86] 20 | 3430 |8040| 6 | 1560
+0.016 0.015 0
LMEF50LUU 50 75 192 112 1394| 9 | 14|86] 20 | 6080 [15900 6 |3500
-0.004 03
LMEF6OLU 60 90 | 4050 | 2" 134 18 |112| 11 [17.5/10.8] 30 | 7650 20000, 6 |4500

21) SUAHSE2 50kme| FZH4H 7|02 A Ak
100kmE 7|22 & 42 #O| 3 23E 42 1.262% L0 18 £+ U3,
0f) LMEF12L2] 50km 7|2 S 25} C = 650N

LMEF12L2] 100km 7|¢ Sd46tE Cloo=650/1.26 =515.87N
2) Rl Resin 2[E[0] 7|& 2A1Y.
3) £2|42| tele mm Y.
4) 1N = 0.102kgf

SAMICK |119



TYEE 20T (LME)

o 33Yo| 7Y

LMEK 20 UU-A NS

2 O
Blank | & gle
uu | ¥=24
U H=4

LEE MR

Blank | Resin (£=2|A))

A | Steel @&A) 7

00tRE2|E MY (EHA2)

Blank | £

N |FHHUREES

R | EIOHE 22|

Blank | ZEFA H{Of
AFQIZ|A

% Z1) LMEKO8~LMEK258t 7Hs

120 SAMICK



FYEE 20T (LME)

L1 Wz D L D, 2AH3N)
21ZH = T
H |PCD| K | d | d, | h SR =2 0
. | o sea | leen| sew lsex *0o) a0 gym | O
Resin Stee (e |G mm i mm fi mm il 9 | (o)
LMEK0SUU | LMEK0S-A | 8 6] 9 |25 E) 51 24(25(34(65(32] 12 | 260 | 400 | 4 | 44
+0.008 | 0.008
0
LMEK12UU | LMEK12-A | 12 2| |2 e 6 |32|32(45| 8 (42| 12| 410 | 59 | 4 | 86
0,009 02
LMEK16UU | LMEK16-A| 16 26 36 46 6 36|35 /45| 8 42| 12 | 770 |1170] 5 | 120
+0.009 0
-0.001 02
LMEK20UU | LMEK20-A| 20 32 45 54 8 [43]42(55(95|52| 15 | 80 |1370| 5 | 184
LMEK25UU | LMEK25-A | 25 40| 9 | s 62 8 [ 5150559552 15 | 980 | 1560 | 6 | 335
40011 |00
-0.001
LMEK30UU 30 47 8 | 10 (62 |60 |66/ 11|65 15 | 1560 | 2740 | 6 | 545
03
LMEK40UU 40 6| |8 %8 1380 |75| 9 | 14|86/ 20 | 2150 [4010| 6 |1185
+0013| . | 0013 0
LMEK50UU 50 | "oona| 75 100 12| o3| 13|94 /88| 9| 14|86] 20 | 3820 7930 | 6 |1730
LMEK60UU 60 9 _0815 125 _(?4 134 18 [112[106| 11 17.5110.8| 25 | 4700 | 9990 | 6 |3180

F1) SEHotE2 50kme| FH+Y 7|22 A bkt
100kmE 7|22 & 22 HO| 34 Hol3 US 1.2622 LIF0 18 = U,
0f) LMEK129] 50km 7|2 S A5tZ C= 410N

LMEK122| 100km 7|& &4 243tE Cio=410/1.26 = 325.40N
2) 2= Resin 2[E[0| 7|& 2AY.
3) £2|42| tele mm Y.

4) 1N = 0.102kof

SAMICK |121



RYEE 2|L01FH(LME)

122| SAMICK

0|35 RYEE M 2y S| 2L K24
OLIHAZ(LMAILE 212) MY
02[L[0EY &Y
0124 HY
Blank | 4 gle
uu | ¢=4
IREES
02lg0|H MY (=HE)
Blank | Resin (4~%|A))
A | Steel (@&A) 7"
0012528 MA(EBA2))
Blank | 2
N | 2¥ A =2
R | HOIEE 22
——o= MAERE)
Blank | DEIA HO{RZ &
S | AHIQIZAE

% 21) LMEKO8L~LMEK25L2} 7ts




FYEE 20T (LME)

E:l W3 D L D, YASIZN)
212t o7
HPD| K | dy | d | h |2 g2
ren | e | 00| BSA|las | (sex s K0 | o) g | (00
esin tee (mm) (mm) mm (mm) mm (mm) mm (mm) C) CO)
LMEKOBLUU | LMEKOBL-A | 8 16 | 10| 45 2 5 |24 |25(34|65(32| 15 | 430 | 780 | 4 | 53
+0009| | 0009
-0.001
LMEK12LUU | LMEK12L-A | 12 2| |5 | 6 [32/32(45| 8 42| 15 | 650 [1200| 4 | 100
0011 03
LMEKIGLUU | LVEKISLA 16 | | 26 70 % | 636]35 45] 8 42| 15 | 1230|2350 5 | 187
+0.
-0.001 02
LMEK20LUU | LMEK20L-A | 20 2 80 54 8 |43 [42[55/95/52| 17 | 1400 2750 5 | 260
LMEK25LUU | LMEK25L-A | 25 w | 01 62 8 | 5150 [55/95/52] 17 | 1560 |3140| 6 | 515
+0013 0013
<0002
LMEK30LUY 30 47 123 76 1062 | 60|66 11 (65| 17 | 2490 | 5490 | 6 | 655
LMEK4OLUU 40 | | ME: 13]80|75| 9 | 14|86 20 | 3430 |8040| 6 | 1560
+0016| . | 001 0
LMEKS0LUY 50 | 75 192 12| - | 13|94 88| 9 |14|86| 20 | 6080 15900/ 6 |3500
0.004 03
LMEK6OLUU 60 90 | 0|21 134 18 [112|106| 11 175108 30 | 7650 [20000| 6 | 4500
F1) 8¥HotE2 50km2| FA4Y 7|20 2 AL %:.
100kmS 7|Z22 & 42 HO| SIS o= 12622 LR 12 + QS

2) A=

3) F22|59]

4) 1N = 0.102kgf

0of) LMEK12Le| 50km 7|&
LMEK12Le| 100km 7|& &
Resin 2[E0]4 7|& &

| s mm .

S5845tE C=650N

Y3

IOI
o

St& Cio=650/1.26 =515.87N

SAMICK |123

=
>
o
1}
=
o)
c
[0
=
>
«Q




QB 2|LIoj24 (LME)

o 33Yo| 7Y

()

LMEFP 20 UU-A NS

124| SAMICK

ocfE|0]H MY (AHE)

Blank | & gle
NREEE
U H=4
Blank | Resin (£=Z|A])
A | Steel @&H) ™"
(BEHZ2])
Blank | £
N S U =3
R f|O|HE 2|
Blank | DEA HOj2IZ &
S AHQIZ|A =

% Z1) LMEFPO8~LMEFP2582t 7ts




RYBZ 2|LI0JEA (LME)

g Wudg D L D, YASIZN)
p.3pi] (=152
2 | HIPCD| d, | d, | h SR £¢ 0
. s sea r02) s *m) x| | O
Resin Stee mm)| mm) | ™ | @) | mm | ™™ | (mm) © | (o)
LMEFPOSUU | LMEFPOS-A | 8 16 | 0| 25| 3 5|5 (24(34/65(32| 12 | 260 | 400 | 4 | 44
+0.008| | 0008
0
LMEFP12UU | LMEFP12-A | 12 2| |2 6|6 |32(45|8|42] 12| 410 | 59 | 4 | 86
0,009
LMEFP16UU | LMEFP16-A | 16 26 36 | 46 6|6 36|45 8|42 12| 770 [ 1170 5 | 120
+0,009 0
-0.001 0.2
LMEFP20UU | LMEFP20-A | 20 2 45 | 54 8|8 |43(55/95(52| 15 | 80 [1370| 5 | 184
LMEFP25UU | LMEFP25-A | 25 w| O s 6 8 | 8 |51|55/95]52] 15 | 980 | 1560 6 | 335
+0.011 0.011
-0.001
LMEFP30UU 30 47 68 | 76 1010 62(66| 11|65 15 | 1560 | 2740 | 6 | 545
LMEFP40UU 40 6| |80 1313]80| 9| 14|86/ 20 | 2150 |4010| 6 | 1185
40013 5o | 0013 0
LMEFPS0UU 50 | "oo0s| 75 100| 12| o5 [ 13| 13| 94| 9 | 14|86 20 | 3820 | 7930 | 6 | 1730
LMEFP6OUU 60 90 _0815 125 | 134 18|18 | 112| 11]175/108) 25 | 4700 | 9990 | 6 | 3180

21) SYHE2 50km2| HH4LY 7|20 AAKSH
100kmS 7|£22 & 42 HO| SYHIS o= 12622 L0 12 + QS
0f) LMEFP122| 50km 7|2 S42i51% C = 410N

LMEFP129] 100km 7|& SEHotE Cioo=410/1.26 = 325.40N
2) 2= Resin 2|01 7|2 SAY,
3) F22|4:0| thole mm Y.

4) 1N = 0.102kgf

SAMICK |125



TYEE 20T (LME)

0 SUYH 14

LMEFP 20 L UU-A NS

0J|F  RHEE dY OIYs S| 2[L[0jRY

126 | SAMICK

OUHEAE(LMAIZE A7) MY
o2Lojsy 23
0124 {3y
Blank | & gle
uu | ¥=24
U H=4

Oc[E|0lH HY ()

Blank | Resin (£=2|A))
A | Steel @5H) 7Y

00tRE2|E MY (BB 2)

Blank | &
N | Ry =2
R f|O|HE 2|

o= MAERE)
Blank | DEA HOj2IZ &
S | AEQlglA B

% 1) LMEFPOBL~LMEFP25LEt 7ts




FYEE 20T (LME)

g LHa3 D L D, YASIZN)
p.3pi] (=152
2 | HIPCD| d, | d, | h SR £¢ 0
. AL AL A *m) x| | O
Resin Stee mm)| mm) | ™ | @) | mm | ™™ | (mm) © | (o)
LMEFPOSLUU | LMEFPOSL-A | 8 16 | 0| 45| 32 5|5 |24(34]65(32| 15 | 430 | 780 | 4 | 53
+0,009 0.009
-0.001
LMEFP12LUU | LMEFP12L-A | 12 2 |57 6|6 |32(45| 8 (42| 15 | 650 | 1200 4 | 100
0,011
LMEFPIGLUU | LMEFPIELA | 16 | |26 70|46 | 66|36 /45) 8 42) 15 | 1230|2350 5 | 187
+0.
-0.001 0.2
LMEFP20LUU | LMEFP20L-A | 20 E) 80 | 54 8 | 8 |43|55/95|52| 17 | 1400 [2750| 5 | 260
LMEFP25LUU | LMEFP25L-A | 25 w| .2 e 8 | 8|51|55/95]52| 17 | 1560 [3140| 6 | 515
+0013 0013
-0.002
LMEFP30LUU 30 47 123 76 1010 | 62(66| 11|65 17 | 2490 | 5490 | 6 | 655
LMEFP4OLUU 40 6 | | 1s4] o8 13]13]80| 9| 14|86/ 20 | 3430 | 8040 | 6 | 1560
+0,016| o | 001 0
LMEFPS0LUU 50 | 04| 75 192|112 | o5 [ 13| 13| 94| 9 | 14|86 20 | 6080 |15900| 6 | 3500
LMEFPEOLUU 60 90 _0820 211 134 18|18 | 112| 11[17.5/108) 30 | 7650 |20000| 6 | 4500

21) SHASZE2 50km2| AHLY 7|20 2 AHlAteH
100kmE 7|22z & H42 HO| %%;748% S 12692 LE=0f & £ 9|2
o) LMEFP12L2] 50km 7|& S Z51= C = 650N
LMEFP12L2| 100km 7IT =4 6%3 Cioo=650/1.26=515.87N
2) Rl Resin 2[E[0| 7|& 2AY.
3) F22|59| tele mm g.

4) 1N = 0.102kof

SAMICK |127



TYEE 20T (LME)

0 SUYH 14

LMEKP (20 UU-A N S

0715  QUEZE 23 TAR 2Uojd
OUHHEA(MAIZE 21F) MY
0178 HY
Blank | & gle
NREEE
U H=4

LEE MR

Blank | Resin (£=2|A))

A | Steel @&A) 7"

00tRE2|E MY (EHA2)

Blank | £

N |FHHUREES

R | EIOHE 22|

Blank | ZEFA H{Of
AFQIZ|A

% 21) LMEKPO8~LMEKP25%+ 7ts

128 SAMICK



FYEE 20T (LME)

Y UHes D L D, YASIZN)
212t =12
¢ HIPCD| K | d | dy| b |30 g2 A
. L d | sen| e s st *n) x| O
Resin Stee mm)| mm) | ™ | @om) | mm | ™ | m) )
LMEKPOSUU | LMEKPOS-A | 8 16O 125 3% 5| 5|24 (25(34/65(32| 12 | 260 | 400 | 4 | 44
+000g| | 0.008
0
LMEKP12UU | LMEKP12-A | 12 2| |2 6|6|32(32(45] 8 (42| 12 | 410 | 5% | 4 | 8
0,009
LMEKP16UU | LMEKP16-A | 16 26 36 | 46 6|6|36(35/45 8 42| 12 | 770 |1170| 5 | 120
+0,009 0
-0.001 02
LMEKP20UU | LMEKP20-A | 20 2 45 | 54 8|8 |43[42/5595/52] 15 | 860 [1370| 5 | 184
LMEKP25UU | LMEKP25-A | 25 w0 58|62 8|8 |51|50|55/95/52| 15 | 980 |1560| 6 | 335
40011 0071
-0.001
LMEKP30UU 30 47 68 | 76 10 (10|62 |60 |66(11|65| 15 | 1560 |2740| 6 | 545
LMEKPA4OUU 40 G| |80 13(13]80(75| 9 |14 /86| 20 | 2150 |4010| 6 |1185
+0013| . | 0013 0
LMEKP50UU 50 | o002| 75 100 | 12| 45| 13]13|94|88| 9 | 14|86] 20 | 3820 7930| 6 [1730
LMEKP6OUU 60 90 _0815 125 | 134 18 |18 112|106| 11{175/108 25 | 4700 |9990| 6 |3180

F1) SZAStE2 50kme AT J7|Z22 AlAtsh
100kmE 7|22 & 22 HO| 3YA5IE ¢S 1.2622 L0 18 + AUS.
0l) LMEKP122| 50km 7|& =& 4stE C=410N
LMEKP122] 100km 7|& S&ZA5tE Cioo=410/1.26 = 325.40N
2) 2H1E Resin 2lEf0]4 7|& A Y.
3) F22|2| Hel= mm ¢

4) 1N = 0.102kof

SAMICK | 129



TYEE 20T (LME)

0 SUYH 14

F

MEKP 20 L UU-A NS

071 QUEZE 23 T2z 2ojA
24

130 SAMICK

OLHAYA(MAILE 21 Z) M A
02[L[0EY &Y
0FA MY
Blank | & gle
VY
u | =M

Oc[E0lH HY ()

Blank | Resin (£=2|A))

A | Steel @&A) 7"

00tRE2|E MY (BB 2)

Blank | &

N |FHHUREES

R | EIOHE X2

o= MAERE)
Blank | DEA HOj2IZ &
S | AEQlglA B

% 21) LMEKPO8L~LMEKP25L 2t 7ts



RYBZ 2|LI0JEA (LME)

g Laad D L D, YA3AEN)
21zt =} &l
| H[pcD| K | d|d|h|70E g9
| | e sga|t03) s K0 | oo || (00
Resin Steel || mm) |™| m) | | ™™ | ) @ | (Co)
LMEKPOBLUU | LMEKPOSL-A | 8 16,0 |45 |3 5|5 124(2534(65/32] 15 | 430 | 780 | 4 | 53
+0,009| | 0009
-0001
LMEKP12LUU | LMEKP12L-A | 12 2| |54 6|6 |32(32/45 8 42| 15 | 650 |1200| 4 | 100
0,011
LMEKPISLUU | LMEKPIGLA | 16 | | 26 70 46| 16| 636|345 8 |42] 15 | 1230 |2350] 5 | 187
+0.
-0,001 02
LMEKP20LUU | LMEKP20L-A | 20 2 80 | 54 8| 8 |43|42|5595(52| 17 | 1400 |2750| 5 | 260
LMEKP25LUU | LMEKP25L-A | 25 wl| O 11126 8| 8 |51|50|55/95/52| 17 | 1560 |3140| 6 | 515
+0013] | 0013
-0.002
LMEKP30LUU 30 47 123| 76 10| 10 |62 |60 |66| 11 |65| 17 | 249 |5490| 6 | 655
LMEKP40LUU 40 G| | 1s4] 8 13| 13|80 75| 9 | 14|86| 20 | 3430 |8040| 6 |1560
+0,016| . | 0015 0
LMEKPS0LUU 50 | o o0a| 75 192 112| o5 {13] 13|94 (88| 9 | 14|86| 20 | 6080 15%00] 6 |3500
LMEKPGOLUU 60 90 | 00| 211|134 18] 18 [112]106| 11 |175|108| 30 | 7650 20000 6 |4500

Z1) SHABZS 50km| HHLY 7|ZO2 AHAks!
100kmS 7|E22 & 42 HO| SIS o= 12622 LR 12 + QS
ofl) LMEKP12L2| 50km 7|& S4Z51= C = 650N

LMEKP12L9[ 100km 7|F S¥H5tS Cioo =650/ 1.26 = 515.87N
2) 2= Resin 2|01 7|2 SAY.
3) F22|529| HelE mm .

4) 1N = 0.102kgf

SAMICK | 131



TYEE 20T (LME)

L[ % [A]

o 5UY

Ho| 24

LMEFM (20 UU-A N S

132| SAMICK

07|E  7HEE Y S SAUA| 2L 0RY
OUIHAH(MAZE 2I7) MY
0194 MY
Blank | &4 8i8
W | ¢34
U |HsE
o2/e|o]d 3 (#2)
Blank | Resin (=2|))
A [ Steel @&H) 7"
00IR42|E MA(BHA2))
Blank | &
N |FHHUREES
R | HOJHE A2
S eBHE®Y)
Blank | DEMA HOREY &
S | 2H€QlAE

% 1) LMEFMO8~LMEFM252t 7ts




FYEE 20T (LME)

g a3 D L D, YAAEN)
b.ipi] (=12
2| HI|PCD| d, | d,| h SR 22 TH}
. | e | e 03] s *n)| g gy | (O
Resin Steel mm!| mm | ™ m) | mm ™™ | mm) @ | (Co
LMEFMO8UU | LMEFMOS-A | 8 16 0 |45 |3 20| 5|24(34/65(32| 15 | 430 | 780 | 4 | 53
+0009 | | 0.009
-0001
LMEFM12UU | LMEFM12-A | 12 2| 5| 255/ 6 |32|45| 8 [42] 15 | 650 |1200| 4 | 100
0,011
LMEFMISUU | (MEFMIEA | 16| |26 0|46 32| 63645 8 42| 15 | 1230 2350 5 | 187
+0.
-0001 02
LMEFM20UU | LMEFM20-A | 20 2 80 | 54 36| 8 |43(55(95(52| 17 | 1400 |2750 | 5 | 260
LMEFM25UU | LMEFM25-A | 25 w0 12|62 52| 8 | 51|55/95(52| 17 | 1560 |3140| 6 | 515
+0013| | 0013
-0002
LMEFM30UU 30 47 123| 76 565( 10| 62 |66 11 (65| 17 | 2940 |5490| 6 | 655
LMEFM40UU 40 G| o |1s4]% 70513180 | 9 | 14|86 20 | 3430 |8040| 6 | 1560
40,016 0015 0
LMEFMS50UU 50 | *oo0a| 75 192 12| o5 |895] 13 | 94 | 9 | 14 86| 20 | 6080 [15900| 6 3500
LMEFM60UU 60 90 | 00| 211134 |965| 18 |112] 11 |175]108| 30 | 7650 20000| 6 | 4500

21) SEHSS2 50kme| Y 7|22 2 ALkt
100kmE 7|2z & 42 E9_| SHHSIZ U 12622 LER0 &t 4 Q2.
0ll) LMEFM129| 50km 7|& 54 45l& C = 650N
LMEFM122] 100km 7|T'_— =346=E Cloo=650/1.26=515.87N
2) 2= Resin 2lE0]H 7|2 A Y.
3) F22|2| Hel= mm ¢

4) 1N = 0.102kof

=

SAMICK 133



TYEE 20T (LME)

S| Y

LMEKM 20 UU-A N S

134 SAMICK

7|E REEE 24Y St S| 2|L|0|EY
LB (MALE 2/3) 443
24 MY
Blank | 4 gle
U |34
U H=4
2[gfolH ME(AHZ)
Blank | Resin (£=2[4))
A | Steel @&A) ™Y
OR&2|E HE @B
Blank | 2
N | R U =2
R f|O|HE 2|
= MY RE)
Blank | NEIAHIOEY =
S AHQIZ|A =

% 21) LMEKMOS~LMEKM258t 715




FYEE 20T (LME)

L LHHE D L D, AHsE(N)
217+ (=}
£ HPCD K | d|d| h |2 g
. L d we| s s03] s *n) g 2y | O
Resin Stee (] mm (il om mm (i) 0 | (Co
LMEKMO8UU | LMEKMOS-A | 8 16,0 |45 |3 20| 5 |24|25(34(65(32| 15 | 430 | 780 | 4 | 53
+0009 | 0009
-0.001
LMEKM12UU | LMEKM12-A | 12 2| 5|8 255 6 |32 (32(45| 8 |42( 15 | 650 |1200| 4 | 100
-0.011
LMEKMISUU | LMEKMIGA | 16| | 26 70 46| |32 636)35/45] 8 |42) 15 | 12302350 5 | 187
+0.
-0.001 02
LMEKM20UU | LMEKM20-A | 20 32 80 | 54 36| 8 |43|42(55(95]52| 17 | 1400 | 2750 | 5 | 260
LMEKM25UU | LMEKM25-A | 25 w0 9 1112] 62 52| 8 |51(50(55(9.5(52| 17 | 1560 |3140| 6 | 515
40013 | 0013
-0,002
LMEKM30UU 30 47 123| 76 565( 10 | 62 | 60 [6.6| 11(65| 17 | 2940 |5490 | 6 | 655
LMEKM40UU 40 G| |1s4]8 70501380 75| 9 | 14 |86| 20 | 3430 [8040| 6 | 1560
+0016| -, | 001 0
LMEKM50UU 50 | oo0a| 75 192|112| o5 |895] 13| 94| 88| 9 | 14|86/ 20 | 6080 [15900| 6 | 3500
LMEKM60UU 60 90 _0820 211134 96.5| 18 |112[106| 11 175108] 30 | 7650 [20000| 6 |4500

21) sE45tS2 50kme| A+ 7|22 2 ALkt
100kmE 7|22 & 42 #O| 3 23E 42 1.262% L0 18 £+ U3,
of) LMEKM122] 50km 7|& S 52 C = 650N
LMEKM122] 100km 7|§— SH45tE Cloo=650/1.26=515.87N
2) 2= Resin 2|E[0|H 7|& 2A Y.
3) £2|42| tele mm Y.

4) 1N = 0.102kof

SAMICK |135



136 SAMICK



137

& 0E Alol& FHESC, SCE)

¥
O
=
q
)




%20)5 #o|2 SLIE(SC, SCE)

2|aE
4-SiX | W L
E
< ~1 2
(@]
I

4-S

2gHo 14

SC 20 UU N-A N S

7

5 2R0E 012 RUE
S

WHHB(MAIZE A1) MY
24 MY

Blank | 4 gle

w_| 224

u | ma4

New type(OFA|OER) S2H
2lg0]4 MY (2H2)

Blank | Resin (4=2|A))

A | Steel @5H) ™"

2|LI0fR 4 OfRE2|E WY (BB 2)

Blank | £
N | Rdoi R =2
R 2f|0[EE 2|

Blank | DEIA Ho2IZ &
AFE|O

% 1) SC08~SC2582t 7t

138 SAMICK



U=20j5 #0]A SLIE(SC, SCE)

2AH3N)
= |:|7.||1’—2)
L L/B h|D| W |H|G|A| I |E S,xt S O O 'r(gf)
oon oon
@ | (Co

SCO8UU | LMO8UU | 11 17 | 34| 22 | 18 6 24 5 Mdx8 | @34 | 18 | 30 | 260 400 56

SC10UU | LM10UU | 13 | 20 | 40 | 26 | 21 8 28 6 M5x12 | @43 | 21 | 35 | 370 540 90

SC12UU | IM12UU | 15 | 22 | 44 | 30 |245]| 8 33 | 55 | M5x12 | @43 | 26 | 39 | 410 590 | 112

SC12UUN | LMT2UU | 15 | 21 | 42 | 28 | 24 | 74 | 305|575 | M5x12 | @43 | 26 | 36 | 410 590 | 112

SC13UU | IM13UU | 15 | 22 | 44 | 30 |245] 8 | 33 | 55 | M5x12 | @43 | 26 | 39 | 500 770 | 123

SC16UU | LM16UU | 19 | 25 | 50 |385(325| 9 | 36 | 7 M5x12 | @43 | 34 | 44 | 770 | 1170 | 189

SC20UU | LM20UU | 21 | 27 | 54 | 41 | 35 | 11 | 40 | 7 M6x12 | @52 | 40 | 50 | 860 | 1370 | 237

SC25UU | LM25UU | 26 | 38 | 76 | 515 41 | 12 | 54 | 11 | M8x18 | @68 | 50 | 67 | 980 | 1560 | 555

SC30UU | LM30UU | 30 | 39 | 78 | 595 | 49 | 15 | 58 | 10 | M8x18 | @68 | 58 | 72 | 1560 | 2740 | 685

SC35UU | LM35UU | 34 | 45 | 90 | 68 | 54 | 18 | 70 | 10 | M8x18 | @68 | 60 | 80 | 1660 | 3130 | 1100

SC40UU | LM4OUU | 40 | 51 | 102 | 78 | 62 | 20 | 80 | 11 | M10x25 | @86 | 60 | 90 | 2150 | 4010 | 1600

SC50UU | LM50UU | 52 | 61 | 122 | 102 | 80 | 24 | 100 | 11 | M10x25 | @86 | 80 | 110 | 3820 | 7930 | 3350

21) SEHSS2 50kme| Y 7|22 2 ALkt
100kmE 7|22 & 22 HO| 3YA5IE ¢S 1.2622 L0 18 + AUS.
off) SC122] 50km 7|& 58 &35S C=410N

SC129| 100km 7|12 S A2 Cioo=410/1.26 = 325.40N
2) A= Resin 2lE[0|H 7|& FA Y.
3) =2 ZIT | &le mm Q.
4) 1N = 0.102kof
5) Steel 2|Ef|0|L44& SCO8~SC252 Tt

SAMICK | 139



%20)5 #o|2 SLIE(SC, SCE)

4-51 X ¢ W Lw

4-S,

S| Y

SC 20 WUU-A N S

7|1& Y20 HolA RHUE
HEHE (LIMAIEZE 21 H) MY
S (Ust=E)
24 MY
Blank | A gle
W | ¥=4
u |24

c[EfolH LY (A 2)

Blank | Resin (4=2|A))
A | Steel @&A) ™

2|LI0fR 4 OfRE2|E WY (BB 2)

Blank | £
IERETFES
R H|O[EE 22|

Blank | DEIAHIOEY =

% 1) SCO8W~SC25WEt 7ts

140 SAMICK



U=20j5 #0]A SLIE(SC, SCE)

BASHEIN) )

0 |7

L /B hl D | W H| G| AL ] |E | S | S | K| b cqomn s Té}%
ocon oo
@ | (Co

SCO8WUU | LMO8Ux2 | 11 17 | 34| 22 | 18 6 24 5 Mdx8 | @34 | 42 | 58 | 410 800 94

SC10WUU | LM10Ux2 | 13 | 20 | 40 | 26 | 21 8 28 6 M5x10 | @43 | 46 | 68 | 590 | 1080 | 147

SC12WUU | LM12Ux2 | 15 | 22 | 44 | 30 |245| 8 33 | 55 | M5x10 | @43 | 64 | 77 | 650 | 1180 | 220

SC13WUU | LM13Ux2 | 15 | 22 | 44 | 30 |245| 8 | 33 | 55 | M5x10 | @43 | 64 | 77 | 800 | 1540 | 245

SC16WUU | LM16Ux2 | 19 | 25 | 50 385 |325| 9 | 36 | 7 M5x12 | @43 | 79 | 89 | 1230 | 2340 | 376

SC20WUU | LM20Ux2 | 21 | 27 | 54 | 41 | 35 | 11 | 40 | 7 Mex12 | @52 | 90 | 100 | 1370 | 2740 | 476

SC25WUU | LM25Ux2 | 26 | 38 | 76 | 515 | 41 | 12 | 54 | 11 | M818 | @6.8 | 119 | 136 | 1560 | 3120 | 1115

SC30WUU | LM30Ux2 | 30 | 39 | 78 | 595 | 49 | 15 | 58 | 10 | M8x18 | @6.8 | 132 | 146 | 2490 | 5480 | 1375

SC35WUU | LM35Ux2 | 34 | 45 | 90 | 68 | 54 | 18 | 70 | 10 | M8x18 | @6.8 | 140 | 160 | 2650 | 6260 | 2200

SC40WUU | LM40Ux2 | 40 | 51 | 102 | 78 | 62 | 20 | 80 | 11 | M10x25 | @86 | 150 | 180 | 3440 | 8020 | 3200

SC50WUU | LM50Ux2 | 52 | 61 | 122 | 102 | 80 | 24 | 100 | 11 | M10x25 | @8.6 | 200 | 230 | 6110 | 15860 | 6720

31) Y4552 50kme| AT 7|Z22 AHbkat
100kmE 7|22 & F2? HO| Y ZHots S 1.262% LI 71 £+ U3,
off) SC12W2| 50km 7|& s48435tE C=650N

SC12We| 100km 7|2 sd45tS Cioo=650/1.26 =515.87N
2) 2= Resin 2lE0]H 7|2 A Y.
3)F8 Z|-|- | &2l= mm Q.
4) 1N = 0.102kgf
5) Steel 2|&|0|H= SCO8W~SC25WE 7Hs

SAMICK | 141



%20)5 #o|2 SLIE(SC, SCE)

4-51 X ¢

4-S

By 74

SC 20 WUU N-A N S

142 SAMICK

713 ¢20ls AojA RUE
LI (IMAFLE 21%) M
(1512 8)
1RE Y
Blank | A gle
U | %24
u |m=4

New type(OFA|OERY) S8t
2lE0] MY (RHA)

Blank | Resin (£=Z|Al)

A | Steel @A) 7"

2|L|o{2 A ofRE2|E MY (BHA2)

Blank | £
N | Rdoi WA =2
R H|O[EHE 22|

= 4P *E)

Blank | DEIA HO{RZ &
S |28

% 21) SCO8WN~SC25WNEF 7Hs



U=20j5 #0]A SLIE(SC, SCE)

AN
3 AP
hl U | b | D W H G A E] S | S K| b el oo | (g
(© (Co)

SCOSWUUN |LMO8Ux2 | 11 17 ] 34 | 22 | 18 6 24 5 Mdx8 | @34 | 42 | 58 | 410 800 94

SCIOWUUN |LM10Ux2| 13 | 20 | 40 | 26 | 21 8 28 6 M5x12 | @43 | 46 | 68 | 590 | 1080 | 147

SCI2WUUN |LM12Ux2| 15 | 21 | 42 | 28 | 24 | 74 | 305|575 | M5x12 | @43 | 50 | 70 | 650 | 1180 | 220

SCI3WUUN |LM13Ux2| 15 | 22 | 44 | 30 |245| 8 33 | 55 | M5x12 | @43 | 50 | 75 | 800 | 1540 | 245

SCIBWUUN |LM16Ux2| 19 | 25 | 50 | 385 (325 9 | 36 | 7 M5x12 | @43 | 60 | 85 | 1230 | 2340 | 376

SC2OWUUN |LM20Ux2| 21 | 27 | 54 | 41 | 35 | 11 | 40 | 7 M6x12 | @52 | 70 | 96 | 1370 | 2740 | 476

SC25WUUN |LM25Ux2| 26 | 38 | 76 | 515 | 41 | 12 | 54 | 11 | M8x18 | @68 | 100 | 130 | 1560 | 3120 | 1115

SC30WUUN |LM30Ux2| 30 | 39 | 78 |595| 49 | 15 | 58 | 10 | M8x18 | @68 | 110 | 140 | 2490 | 5480 | 1375

SC35WUUN |LM35Ux2| 34 | 45 | 90 | 68 | 54 | 18 | 70 | 10 | M8x18 | @6.8 | 120 | 155 | 2650 | 6260 | 2200

SC4OWUUN |LM40Ux2| 40 | 51 | 102 | 78 | 62 | 20 | 80 | 11 | M10x25 | @86 | 140 | 175 | 3440 | 8020 | 3200

SC50WUUN |LM50Ux2| 52 | 61 | 122 | 102 | 80 | 24 | 100 | 11 | M10x25 | @86 | 160 | 215 | 6110 | 15860 | 6720

31) Y4552 50kme| AT 7|Z22 AHbkat
100kmE 7|22 & F2? HO| Y ZHots S 1.262% LI 71 £+ U3,
o)) SC12WN2| 50km 7|& sd4stE C = 650N
SC12WN2] 100km 7|& 5845tS Cioo=650/1.26 =515.87N

2) 2= Resin 2lE0]4 7|2 A Y.

3)F8 Z|-|- | &= mm &

4) 1N = 0.102kgf

5) Steel 2/E|0|H= SCO8WN~SC25WNEt 7ts

SAMICK | 143



%20)5 #o|2 SLIE(SC, SCE)

0 ATk
4-SiX | W
E Ly
< — % ] H i ii )
- L i
) } | }
- T T
]
L
|
4-Sp

0 SUYH 14

SC 20 VUUN-ANS

07| €20 oA RLIE

144 SAMICK

OUYAB(MAIZE 213) 1Y

0EHEY

01178 MY
Blank | 4 §i2
U |34
u |24

©®New type(OtA|OLEIY T2

LEE MR

Blank | Resin (£=2|A))

A | Steel (@&A) 7V

02|L0jFY OfREelE WY (EBA2)

Blank | £

N | R UA =S

R [ OIHE #2|

— o= HMEAE)
Blank | DEIA H02IZA &
S AHQIRIA =

% 1) SCO8V~SC25VEt 7ts



U=20j5 #0]A SLIE(SC, SCE)

e )
ek /B h | D | W /| H| G| A| ) |E| sx S, L . A
SHAT | B34 | (of
© (Co)
SCo8vUU LMO8UU " 17 | 34 | 22 18 6 24 5 M4x8 @34 154 260 400 36
SC10vUU LM10UU 13 1 20 | 40 | 26 | 21 8 28 6 M5x10 043 19.5 370 540 63
SC12vuu LM12UU 15 1 22 | 44 | 30 | 245| 8 33 | 55 | M5x12 @43 | 205 410 590 74
SC12VUUN | LM12UU 15 | 21 42 | 28 | 24 | 74 | 305|575 | M5x12 @43 | 205 410 590 74
SC13vuu LM13UU 15 | 22 | 44 | 30 |245] 8 33 | 55 | M5x12 @43 | 205 500 770 85
SC16vUU LM16UU 19 | 25 | 50 |[385(325| 9 36 7 M5x12 @43 | 235 770 1170 | 132
SC20vuu LM20UU | 21 | 27 | 54 | 41 35 | 11 | 40 7 M6x12 @52 | 274 860 1370 | 170
SC25vUU LM25UU 26 | 38 | 76 | 515 41 12 | 54 | 11 M8x18 @68 | 374 980 1560 | 405
SC30vuu LM30UU 30 | 39 | 78 | 595 | 49 15 | 58 10 | M8x18 @68 | 409 | 1560 2740 | 495
SC35vUU LM35UU 34 | 45 1 90 | 68 | 54 | 18 | 70 10 | M8x18 @68 | 454 | 1660 3130 | 790
SC40vuu LM40uU 40 | 51 | 102 | 78 | 62 | 20 | 80 11 | M10x25 | ©8.6 56.4 | 2150 4010 | 1220
SC50vVUU LM50UU 52 | 61 | 122 | 102 | 8 | 24 | 100 | 11 | M10x25 | @86 | 689 | 3820 7930 | 2300
F1) 3845E2 50kme| YH+H J|F2 2 ALkt
100kmE 7|222 & 42 B9 SY A0S 4= 1.2622 L0 & £ S,

of) SC12Vve| 50km 7|

=
z 53

= C=410N

SC12Vve| 100km 7|& 34 45tE Cioo =410/ 1.26 = 325.40N
) A= Resin 2lE0]4 7|2 A,
3) 323140 gl mm Q.
4) 1N = 0.102kgf
5) Steel 2|80|H= SCO8V~SC25VEt 7ts

2

SAMICK | 145



%20)5 #o|2 SLIE(SC, SCE)

SCJ

h +0.02

07|Z €205 0|~ RUE(RYY)
OUHAB(LMAIRE 21 ) M
0178 HY
Blank | 2 gl
EEE
u |Hs8

LEE MR

Blank | Resin (4=2|A))

A | Steel @&A) 7V

146 | SAMICK

02|L0jFY OfREelE WY (EBA2)

Blank | £

N | R UA =S

R [ OIHE #2|

Blank | EFA H{Of
AFQIZ|A

% 1) SCI10~SCI258t 7ts



U=20j5 #0]A SLIE(SC, SCE)

YASIZN)
A;-]?[AE 'I'7"TZ)
oy | @

ogk
re

L/B h D/ W |H |G| A ]| E %8 K L | M

SCJI0UU | LMTOUUA) | 13 | 20 | 40 | 26 | 21 & [ 28 | 6 | M5x12 | 21 | 35 | M4 | 370 | 540 | &10 | 90

SCI12UU | LMT2UUA) | 15 | 21 | 42 | 28 | 24 | 74 | 305|575 | M5x12 | 26 | 36 | M4 | 410 | 590 | ®12 | 112

SCI3UU | LM1T3UUA) | 15 | 22 | 44 | 30 |245| 8 | 33 | 55 | M5x12 | 26 | 39 | M4 | 500 | 770 | 13 | 123

SA16UU | LMT6UUAJ | 19 | 25 | 50 385325 9 | 36 | 7 | M5x12 | 34 | 44 | M4 | 770 | 1170 | 16 | 189

SC20UU | LM20UUAS | 21 | 27 | 54 | 41 | 35 | 11 | 40 | 7 | M6x12 | 40 | 50 | M5 | 860 | 1370 | 20 | 237

SC25UU | LM25UUA) | 26 | 38 | 76 | 515 41 | 12 | 54 | 11 | M8x18 | 50 | 67 | M6 | 980 | 1560 | ®25 | 555

SCI30UU | LM30UUAJ | 30 | 39 | 78 |595| 49 | 15 | 58 | 10 | M8x18 | 58 | 72 | M6 | 1560 | 2740 | ®30 | 685

SCI35UU | LM35UUAJ | 34 | 45 | 90 | 68 | 54 | 18 | 70 | 10 | M8x18 | 60 | 80 | M6 | 1660 | 3130 | ®35 | 1100

SCI40UU | LM4OUUAJ | 40 | 51 | 102 | 78 | 62 | 20 | 80 | 11 |M10x25| 60 | 90 | M8 | 2150 | 4010 | ®40 | 1600

SCI50UU | LM50UUAJ | 52 | 61 | 122 | 102 | 80 | 24 | 100 | 11 | M10x25| 80 | 110 | M8 | 3820 | 7930 | 50 | 3350

N

oX [

1) SYHIZE 50kmo| HH4Y 7|ZO2 AAg
100kmE 7|22 & 22 HO| 34 Hol3 US 1.2622 LIF0 18 = U,
ofl) SCJ122] 50km 7|& SHA5I=E C=410N

SCJ1Z°I 100km 7|2 S 25 Cio=410/1.26 = 325.40N
2) £H1= Resin 2lE0]H 7|2 A Y
3)F2 ZIT | EhelE mm .
4) 1N = 0.102kgf
5) Steel 2|E0|4= SCJ10~SCI252 7ts

6['

1Y

SAMICK | 147



@20/ #0|A RLE(SC, SCE)

0 AE
W
J 02 4-S:X4 M
KiOQ
s | < b | b
% v il il
w LiJ \ L#J
O |
1 1 1
|
o BAYHo| 1Y
07|35 L=20|F H0|A FUE(HYH)
OUHAB(LMAZE 21F) MY
0124 43
HCEEET
02U 08 oIR&2|E MY (HHA2)
Blank | &
N oA LA 2
= R 2|O|EHE 22|
. 0= M)
| Blank | DEIA HO{RY &
S AHQIRIA =

148 SAMICK

x 21) 2% 2LojAI2 UU EIT 75310,
No seal & 24 Efole H2512| ot& LT

% Resin 2/E{0|H8t I7ts




@20/ #0|A RLE(SC, SCE)

L

=}

o

Q

=

o

c

wn

AN =

i 2 =

sl /B D | W [ G| 8 | A | M | sxt | h | E K [omal oo | (o)

oon oon
(@) (Co)

SBR16UU | LM16UUOP | 225 | 45 | 33 | 80° 9 45 | M5x12 | 11 20 | 32 | 30 770 1170 | 150

SBR20UU | LM20UUOP | 24 | 48 | 39 | 60° | 11 50 | Mex12 | 11 23 | 35 | 35 860 1370 | 200

SBR25UU | LM25UUOP | 30 | 60 | 47 | 50° | 14 | 65 | Mex12 | 12 | 27 | 40 | 40 980 1560 | 450

SBR30UU | LM30UUOP | 35 | 70 | 56 | 50° | 15 | 70 | M8x18 | 15 | 33 | 50 | 50 | 1560 | 2740 | 630

SBR35UU | LM35UUCP | 40 | 80 | 63 | 50° | 18 | 80 | M818 | 17 | 37 | 55 | 55 | 1660 | 3130 | 920

SBR4OUU | LM4OUUOP | 45 | 90 | 72 | 50° | 20 | 90 | M10x20 | 20 | 42 | 65 | 65 | 2150 | 4010 | 1330

SBR50UU | LM50UUOP | 60 | 120 | 91 | 50° | 25 | 110 | M10x20 | 25 | 53 | 94 | 80 | 3820 | 7930 | 3000

1) SYH5tE2 50kmo| YH+Y 7122 Abtet
100kmS 71£22 & 32 | SYHINS U2 12622 LI=0 718 + Q3.
of) SBR162| 50km 7|E SEH5tE C=770N
SBR162| 100km 7|Z S4 25+ Cio=770/1.26=611.11N
2) 2= Resin 2[E{0]L 7|2 2A1E.
3) #2372 tele mm €.

4) 1N = 0.102kgf

SAMICK | 149



%20)5 #o|2 SLIE(SC, SCE)

ArE
i
g | << f
EJ Il
()

TBR 20 UU- N S

L g

150 SAMICK

a

==

kJ
nE e -

I& #l0]A FLEH
(LMAFZE 2/ Z) MA

c|L[0fRY OR &2

Blank | 4 gle

W _|gza

U |ma4

MY (RHA2])

Blank | £

N | RdsfL

R 0[HE
Blank




@20/ #0|A RLE(SC, SCE)

TBR ALUMINU

C

=}

(0]

Q

=

o

c

] <

435N ) 5

» 2A &
g LB D/ W /|G| 8 | A|M S hy | E | ) | K su® | mud | (o)

@ (Co)

TBR16UU | LM16UUOP | 31 | 62 | 26 | 80" | 8 | 42 M5 7 [ 18 | 5 | 30 770 1170 180

TBR20UU | LM20UUOP | 34 | 68 | 31 | 60° | 10 | 51 M6 | 21 | 54 | 37 860 1370 300

TBR25UU | LM25UUCP | 41 | 82 | 41 | 50° | 12 | 65 M8 12 | 28 | 65 | 50 980 1560 600

TBR3OUU | LM30UUOP | 455 | 91 | 48 | 50° | 12 | 75 M8 15 | 34 | 75 | 60 1560 2740 | 900

1) SYH}S2 50km2| AHLY 7|22 AHAs
100kmE 7|22 & 22 HO| 3YA5IE ¢S 1.2622 L0 18 + AUS.
0fl) TBR16UU2| 50km 7|2 5dZstE C = 392N

TBR16UUS| 100km 7|& SA A= Cioo=392/ 1.26 = 325.40N
2) 2= Resin 2lE0]H 7|& 2A1Y.
3) F22|99 HlE mm .

4) 1N = 0.102kgf

SAMICK | 151



%20)5 #o|2 SLIE(SC, SCE)

2| AE
4-SiX | W
- =
| =
(O]
T
4-Sp

SYHO| 7Y

SCE 20 UU-A N S

152| SAMICK

c|E|0]H L (RHZ)

Blank | Resin (£=2|A))
A | Steel @&A) 7"

2|L[0jF Y OfRE2|E WY (EBA2)

Blank | £
N | Rdoi R =2
R H|O[EE 2|
= MY RE)

Blank | NEIAHOEY =
AFE|O

% 1) SCE08~SCE258t 7ts



U=20j5 #0]A SLIE(SC, SCE)

r

3

oD

o

=

ov]

c

wn

HHSZNN) =

5 2 @

L LB h | D W H|G[A|J|E| X | S| K| L |[coml (o

oon oon
© | (co)

SCEO8UU LMEOSUU | 11 | 17 | 34 | 22 | 18 | 6 | 24 | 5 M4x8 | @34 | 18 | 30 | 260 400 60

SCE12UU LMET2UU | 15 | 22 | 44 | 30 |245| 8 | 33 | 55 | M5x10 | @43 | 26 | 39 | 410 590 118

SCE16UV LMET6UU | 19 | 25 | 50 |385(325| 9 | 36 | 7 | M5x12 | @43 | 34 | 44 | 770 | 1170 | 180

SCE20UU LME20UU | 21 | 27 | 54 | 41 | 35 | 11 | 40 | 7 | Méex12 | @52 | 40 | 53 | 860 | 1370 | 245

SCE25UU LME25UU | 26 | 38 | 76 |515] 41 | 12 | 54 | 11 | M8x18 | @68 | 50 | 67 | 980 | 1560 | 550

SCE30UU LME3OUU | 30 | 39 | 78 |595| 49 | 15 | 58 | 10 | M8x18 | @68 | 58 | 76 | 1560 | 2740 | 760

SCE40UU LME4OUU | 40 | 51 | 102| 78 | 62 | 20 | 80 | 11 | M10x25 | @86 | 60 | 90 | 2150 | 4010 | 1700

SCE50UU LMESOUU | 52 | 61 | 122 | 102 | 80 | 24 | 100 | 11 | M10x25 | @86 | 80 | 110 | 3820 | 7930 | 2950

Z1) SYHSIE2 50km2| AZH4Y 7|22 HAkgt
100kmE 7|22 & F2? HO| Y ZHots S 1.262% LI 71 £+ U3,
0ff) SCE122] 50km 7|& 5d45S C=410N
SCE129] 100km 7|& S&A5FE Cioo =410/ 1.26 = 325.40N
2) fAe Resm 2|Efjo]H 7|& SAY.
3) F22|2| Hel= mm ¢
4) 1N = 0.102kgf
5) Steel 2|80|4= SCE08~SCE252t 7Hs

SAMICK |153



%20)5 #o|2 SLIE(SC, SCE)

LS
4-Si X 4 W Lw
E ‘ KW +0.2 ‘
| |
- RE
T © -
4-S i

SYHO| 7Y

SCE 20 WUU-A N S

7|1E REHEE 20| H0|A FUE
WHHB(MAIZE A1) MY
£9
24 MY
Blank | A gle
uu A=A
u |24

2lg0]4 MY (2H2)
Blank | Resin (42| A))
A | Steel @A) "

2|LI0fR 4 OfRE2|E WY (BB 2)

Blank | £
N | 2o YR =2
R 2f|0[HE 2|

Blank | ZEFA H{Of
AFQIZ|A

% 1) SCEOBW~SCE25WE 7ts

154 SAMICK



U=20j5 #0]A SLIE(SC, SCE)

r

3

oD

o

=

ov]

c

wn

HHSHZNN) =

5 2 @

4l LB h | DJW [ H |G [A|J|E| SX | S | K| b [ crmm] (o

oon oon
© | (co)

SCEO8WUU | LMEOBUx2 | 11 | 17 | 34 | 22 | 18 | 6 | 24 | 5 Mdx8 | @34 | 42 | 58 | 410 800 98

SCE12WUU | LME12Ux2 | 15 | 22 | 44 | 30 |245| 8 | 33 | 55 | M5x10 | @43 | 64 | 77 | 650 | 1180 | 232

SCE16WUU | LMET6Ux2 | 19 | 25 | 50 | 385|325 9 | 36 | 7 | M5x12 | @43 | 79 | 89 | 1230 | 2340 | 360

SCE20WUU | LME20Ux2 | 21 | 27 | 54 | 41 | 35 | 11 | 40 | 7 | Mex12 | @52 | 90 | 106 | 1370 | 2740 | 490

SCE25WUU | LME25Ux2 | 26 | 38 | 76 |515| 41 | 12 | 54 | 11 | M8x18 | ¥6.8 | 119 | 136 | 1560 | 3120 | 1100

SCE30WUU | LME30Ux2 | 30 | 39 | 78 |595| 49 | 15 | 58 | 10 | M8x18 | ¥6.8 | 132 | 154 | 2490 | 5480 | 1525

SCE40WUU | LME4OUx2 | 40 | 51 | 102 | 78 | 62 | 20 | 80 | 11 | M10x25 | @8.6 | 150 | 180 | 3440 | 8020 | 3400

SCE50WUU | LME50Ux2 | 52 | 61 | 122 | 102 | 80 | 24 | 100 | 11 | M10x25 | @8.6 | 200 | 230 | 6110 | 15860 | 5920

Z1) SYHSIE2 50km2| AZH4Y 7|22 HAkgt
100kmE 7|22 & F2? HO| Y ZHots S 1.262% LI 71 £+ U3,
0fl) SCE12We| 50km 7|2 54 45ts C=650N
SCE12W2| 100km 7|& S4A5t= Cioo=650/1.26 =515.87N
2) fAe Resm 2|Efjo]H 7|& SAIY.
3) F22|2| Hel= mm ¢
4) 1N = 0.102kgf
5) Steel 2|8|0|4= SCEO8W~SCE25WE 7tHs

SAMICK | 155



%20)5 #o|2 SLIE(SC, SCE)

hi0.0Z

4_82 D£0.02

0|5 REEE €205 A0lA FLE
OUYAB(MAIZE 213) Y
OEHEY
017E MY

Blank | 4 ¢i=

U _ | ¥=4

u_ |Had

0 2E0]H MY (AT

Blank | Resin (£=2[A))

A | Steel B4H) ™"

02|L0{RY OFR &2 E Y (EBA2)

Blank | £
N S U &z
R |O|EE 2|
0= HE AR
Blank | EHA HjOf2IL £
S AEQZ|IA =

% 1) SCE08V~SCE25VEt 7ts

156 | SAMICK



U=20j5 #0]A SLIE(SC, SCE)

L
5
)
o
=
v ]
c
@
AHs5(N) =
3 A &
Eb L/B h D /W | H G A J E Six4 S L EHAT | MHA | (of)
oon oon
@ | (Co)

SCEO8VUU | LMEO8UU | 11 | 17 | 34 | 22 | 18 | 6 | 24 | 5 M4x8 @34 | 144 | 260 400 40

SCE12VUU | LMET2UU | 15 | 22 | 44 | 30 |245| 8 | 33 | 55| M5x10 | @43 | 203 | 410 590 82

SCE16VUU | LMET6UU | 19 | 25 | 50 385|325 9 | 36 | 7 M5x12 | @43 | 223 | 770 | 1170 | 122

SCE20VUU | LME20UU | 21 | 27 | 54 | 41 | 35 | 11 | 40 | 7 M6x12 | @52 | 283 | 860 | 1370 | 176

SCE25VUU | LME25UU | 26 | 38 | 76 | 515 41 | 12 | 54 | 1 M8x18 | @6.8 | 404 | 980 | 1560 | 400

SCE30VUU | LME30UU | 30 | 39 | 78 |595| 49 | 15 | 58 | 10 | M8x18 | 6.8 | 484 | 1560 | 2740 | 570

SCE40VUU | LME4OUU | 40 | 51 | 102 | 78 | 62 | 20 | 80 | 11 | M10x25 | @86 | 564 | 2150 | 4010 | 1320

SCE50VUU | LMES0UU | 52 | 61 | 122 | 102 | 80 | 24 | 100 | 11 | M10x25 | @86 | 723 | 3820 | 7930 | 1900

31) SY4otE2 50kme| AT 7|Z22 Hbkat
100kmE 7|22 & F2? HO| Y ZHots S 1.262% LI 71 £+ U3,
0fl) SCE12Ve| 50km 7|& 54 45lE C=410N
SCE12V2]| 100km 7|2 54 Z45tE Cloo=410/1.26 =325.40N
2) fAe Resm 2lE|olH 7|12 RAIY.
3) F22|2| Hel= mm ¢
4) 1N = 0.102kgf
5) Steel 2|80|4= SCEO8V~SCE25VEt 7ts

SAMICK | 157



158 SAMICK



199

SUS SERIES ofAJo} & 2] o] &4 (LM-SUS)

¥
O
=
q
)




SUS SERIES OFA|OF B2 2|L|0{EAI(LM-SUS)

0 Ak

o BHYHO| 74

LM 20 UU - SUS A

160 SAMICK

07|F : &9 2L 0124
U B(LMAIRE 2 Y) M
0FH MY
Blank | & gle
VY
U | m24
02| £ : Stainless Steel
BALL : Stainless Steel
o2/gofH ME ()
Blank | Resin ($2[4))
A | Steel @£A)

% 2£1) LMO5, LMO8S= Resin 2/8|0| {2 7ts




SUS SERIES OtA[OF EZ 2|L|0{ 24 (LM-SUS)

SAYH LHHE D L B CECE ()
|:|7.||$2)
W D 1) 22 T(gf)
: 25) dr. | 3{8af 5|82} 5182} 5184} E4AY) HyA
Resin Steel mAlom) mm (o] mm (i} mm i) 0 (o)
LMO5UU-SUS 5 0 10 0 15 0 10.2 111 96 | 167 206 4 4
-0.008 -0.008 -0.12 : ‘ :
LMO6UU-SUS | LM06-SUSA | 6 12 19 13.5 1.1 1115 | 200 260 4 8
LM08SUU-SUS 8 15 0 81 | 17 115 1.1 1143 | 170 220 4 i
LMO8UU-SUS | LM08-SUSA | 8 15 24 17.5 11 1143 | 260 400 4 16
0 0
LM10UU-SUS | LM10-SUSA | 10 :0.009 19 29 i 220 02 13 ] 18 | 370 540 4 30
0.2
LM12UU-SUS | LM12-SUSA | 12 21 0 30 23.0 13 | 20 | 410 590 4 | 315
-0.013
LM13UU-SUS | LM13-SUSA | 13 23 32 23.0 13 | 22 | 500 770 4 43
LM16UU-SUS | LM16-SUSA | 16 28 37 26.5 16 | 27 | 770 | 1170 | 5 69
LM20UU-SUS | LM20-SUSA | 20 0 32 0 42 305 16 | 305 80 | 1370 | 5 87
-0.010 -0.016 0 0
LM25UU-SUS | LM25-SUSA | 25 40 59 03 410 03 185 38 | 980 | 1560 | 6 | 220

31) 84452 50kme| AT 7|E22 A Lkat
100kmS 7|22 & 42 #9| SYAIS US 12628 LIFU 78 + Q8.
0f) LM122| 50km 7|Z S &35tE C= 410N

LM122] 100km 7|& S8 Z45tE Cioo=410/1.26 = 325.40N
2) 2A1E Resin 2lEf0]4 7|& A Y.
3) F2|42| Hele mm Y.
4) 1N = 0.102kgf
5) LM06~LM258F 7Hs (Ek LM8S A|2])

SAMICK | 161



SUS SERIES OFA|OF B2 2|L|0{EAI(LM-SUS)

o 33Yo| 7Y

LM 20 L UU-SUS A

02|L{0 2 SH(LSIEE)
UnETIRLE
Blank | & 2is
UU_ | ¥&4
u |Hsd

— —— 02| & :Stainless Steel
BALL : Stainless Steel
o egH ol MY )

Blank | Resin (£=Z|A)

A | Steel B4H) ™"

% 21) LMO8S= Resin 2/E0|L8¢ 715

162 SAMICK



SUS SERIES OtA[OF EZ 2|L|0{ 24 (LM-SUS)

LM =
— =}
oD
Q
=
w
c
S
L U D L B ARSI =
|:|7.||€=2)
W D 1) 22 T(gf)
. dr. | 584 {82t 5184t o184t E4AY) HyA
Resin Steel tamibl i mm (mm) mm o mm il © (o)
LMO6LUU-SUS | LMO6L-SUSA | 6 12 0 35 27 1.1 1115 320 520 4 16
-0.013
LMOSLUU-SUS | LMO8L-SUSA | 8 15 45 35 1.1 1143 | 430 780 4 31
LM10LUU-SUS| LM10L-SUSA | 10 0 19 55 44 13 18 580 1100 | 4 62
0010 0 0
LM12LUU-SUS| LM12L-SUSA | 12 21 0 57 03 46 03 131 20 650 | 1200 | 4 80
-0.016
LM13LUU-SUS | LM13L-SUSA | 13 23 61 46 13 ] 22 810 | 1570 | 4 90
LM16LUU-SUS | LM16L-SUSA | 16 28 70 53 16 | 27 | 1230 | 2350 | 5 145
LM20LUU-SUS | LM20L-SUSA | 20 0 32 0 80 61 16 | 305 | 1400 | 2750 | 5 180
0012 0019 0 0
LM25LUU-SUS | LM25L-SUSA | 25 40 112 04 82 04 185 38 | 1560 | 3140 | 6 | 440

Z1) SYHIEL2 50km2| HLY 7[R0 AAlE
100kmE 7222 & 22 BO| SYZotS at2 1.2622 L0 718 4 U3,
o)) LM12L2| 50km 7|2 S3251% C = 650N
LM12L2] 100km 7|& 5845t Cioo=650/1.26 =515.87N
2) A= Resin 2|E{0] 7|1 2H .
3) F22|%9| Tl mm ¢,

4) 1N = 0.102kgf

SAMICK | 163



SUS SERIES OFA|OF B2 2|L|0{EAI(LM-SUS)

LM 20 UU AJ -SUS A

0715 : 4o 2lLjojy
OUHHEZA(MAIZE 21F) MY
010 K43

Blank | & SIS
Uu | g s
U gt neA
OSMZEY 2L 0124

02| £ : Stainless Steel

BALL : Stainless Steel
—eZHo|Y MY (RE)

Blank | Resin (£=2|A))

A | Steel @&A) 7"

% 1) LM08S AJ= Resin 2E|0] A2t 75

164 SAMICK



SUS SERIES OtA[OF EZ 2|L|0{ 24 (LM-SUS)

=
3
o
o
=
w
c
=
L T D L HroEN) 3
|:|7.||1’-2)
dar. | 32z 523} 523 = EXAHF)| HAA T(gf)
. I. | o184 oS4 o34 S84 | 334
Resin Steel @m| m) | ™ @m | ™| (mm) @ | (Co)
LMO6UUAJ-SUS | LMOBAJ-SUSA | 6 12 19 11.5] 200 | 260 8
LMO8SUUAJ-SUS 8 15 _08” 17 143 ] 170 | 220 11
LMOBUUAJ-SUS | LMOBAJ-SUSA | 8 15 24 143 ] 260 | 400 16
LM10OUUAJ-SUS | LM10AJ-SUSA | 10 0 19 29 18 | 370 | 540 30
-0.009 0
-0.2
LM12UUAJ-SUS | LM12AJ-SUSA | 12 21 0 30 20 | 410 | 590 315
-0.013
LM13UUAJ-SUS | LM13AJ-SUSA | 13 23 32 22 | 500 | 770 43
LM16UUAJ-SUS | LM16AJ-SUSA | 16 28 37 27 | 770 | 1170 69
LM20UUAJ-SUS | LM20AJ-SUSA | 20 0 32 0 42 305 | 860 | 1370 87
-0.010 -0.016 0
LM25UUAJ-SUS | LM25AJ-SUSA | 25 40 59 03 38 | 980 | 1560 220

F1) 8YAIZ2 50kme| FA+Y 7|Z22 Atk
o

100kmE 7|202 & 22 HO| SH A2 S
0f) LM12A1°| 50km 7| SYZ513 C=410N
LM12AJ2] 100km 7|2 S8 Z5tE Cioo=410/1.26 =325.40N
2) 2= Resin 2|E0|L 7|2 SHYU(HEE 7|2).
3) 22|59 Thels mm Y.
4) AZ2 YW 2.
5) 1N = 0.102kgf

12622 LI=0] 32

SAMICK | 165



SUS SERIES OFA|OF B2 2|L|0{EAI(LM-SUS)

LM_OP

0 SUYH 14

LM 20 UU OP -/SUS

071 2|L{0{R 4
02| £ : Stainless Steel

BALL : Stainless Steel
CEEYE

IEEREES

% 1) 288 /U022 uU
No seal 2 HE4 EIY2 AIS3HA

5o
>
i
Iul

166 | SAMICK



SUS SERIES OfA|Of HZ 2|L|0{EA (LM-SUS)

o) LM12 OP2| 50km 7|2 S&&35tE C=410N
LM12 OP2| 100km 7|2 & AotS Cioo=410/1.26 = 325.40N
Resin 20| 7|2 RAIYHEH 7|2).
Q2|40] Chl= mm &,
4) 2|E2 7HHW 2|+,
N = 0.102kgf

00||

r
=5
D
Q
=
o
[
)
el L D¥ L B HAHZN) E}
|:|7.||1*-2)
W | D | 6 ) £9 T(gf)
: d. | sea S8 3183 S8 SHAY | Ay
Resinenm) | om) | ™ | am) | ™ | om) | ™ | (mm) @ | (Co)
LM12UUOP-SUS| 12 21 30 23.0 13 8 80 410 590 3 315
0 0
LM13UUOP-SUS| 13 -0.009 23 0013 32 0 230 0 13 9 80 500 770 3 43
0.2 -0.2
LM16UUOP-SUS| 16 28 37 26.5 16 11 80 770 1170 4 69
LM20UUOP-SUS| 20 0 32 0 42 305 16 11 60 860 1370 4 87
-0.010 0,016 0 0
LM25UUOP-SUS | 25 40 59 03 410 03 185 12 50 980 1560 5 220
21) SHATIE L 50kme| ZALY 7|20 2 AHAlsH
100kmE 7|22 & 42 HO| SAHAGIZ 42 12622 LI50f 2 4 98,

SAMICK | 167



SUS SERIES OFA|OF B2 2|L|0{EAI(LM-SUS)

168 SAMICK

02| £ : Stainless Steel

BALL : Stainless Steel

—0ZfH|0|H MY ()

Blank | Resin (£=2|A))

A [ Steel @A) ™"

x 21) LMFOSS Resin 2/E0| 42t 75



SUS SERIES OtA[OF B2 2|L|0{ 24 (LM-SUS)

LMF C

=}

[

QO

=

v}

c

z

2 T wegE | D L D, CEEET E
bibl3 o2
H[PCD| d, | d, | h A% EY 0
e o | O B EH| sex| set %) | oo g~ (0

esin tee (mm) (mm) mm (mm) mm (mm) mm (mm) (C) CO)
LMFO6UU-SUS | LMFO6-SUSA | 6 12 19 28 5120|134 |65(32| 12 | 220 | 260 | 4 | 26,5
LMF08SUU-SUS 8 15 0 81 1 17 32 5124 (3416532 12 | 170 [220| 4 | 34
LMFO8UU-SUS | LMFO8-SUSA | 8 15 24 32 524 (3416532 | 12 | 260 | 400 | 4 | 40
LMF10UU-SUS | LMF10-SUSA | 10 _0809 19 29 0 40 6129 |45/80(42| 12 | 370 | 540 | 4 | 78
0.2
LMF12UU-SUS | LMF12-SUSA | 12 21 0 30 42 _002 6132(45(8042| 12 | 410 | 590 | 4 | 76
-0.013
LMF13UU-SUS | LMF13-SUSA | 13 23 32 43 6133145/80(42| 12 | 500 | 770 | 4 | %4
LMF16UU-SUS | LMF16-SUSA | 16 28 37 48 613845|80(42| 12 | 770 |1170| 5 | 134
LMF20UU-SUS | LMF20-SUSA | 20 0 32 0 42 54 8143 155|95(52| 15 | 80 |1370| 5 | 180
-0.010 -0.016 0

LMF25UU-SUS | LMF25-SUSA| 25 40 59 03 62 85115519552 | 15 | 980 |1560| 6 | 340

1) SHZGIE2 50kme| 24 7|20 2 AMtEt
100kmE 7I222 & 2% B2 SYAotE o2 1.2622 U0 72 = U3,
) LMF129| 50km 7| S¥2{5% C=410N
LMF122] 100km 7|& 38 45tE Cioo =410/1.26 = 325.40N
2) A= Resin 2|E{0] 7|12 2AH .
3) 22152 Hele mm .

4) 1N = 0.102kgf

SAMICK | 169



SUS SERIES OFA|OF BZ 2| 0124 (LM-SUS)

LMF_L FLA

=
<
)
N
o
(md
(=
o
)
C
2
>

02| £ : Stainless Steel
BALL : Stainless Steel
—————ozZHolH ME®E)

Blank | Resin (£=Z|A|)

A | Steel @5A)

170 SAMICK



SUS SERIES OtA[OF B2 2|L|0{ 24 (LM-SUS)

LMF c
>
(0]
o
=
o
c
5
L R ke D L D, YAAIZN) S
ZIZH D2
H [PCD| d, | d, | h HaE g9 A
- e lsgn sex s *m) || g | | O
Resin Stee | @ 1™ mm) ™ @mm) ™| mm) 0 | (Co)
LMFO6LUU-SUS | LMFO6L-SUSA | 6 RIS 28 5120(34|6532| 15 | 320 | 520 | 4 | 31
013 ]
LMFO8LUU-SUS | LMFO8L-SUSA | 8 15 45 32 5124]34|6532| 15 | 430 | 780 | 4 | 53
LMF10LUU-SUS | LMF10L-SUSA | 10 . | 55 40 6129 |45/80/42 15 | 580 | 1100 | 4 | 105
0010[ _ | 1o [
LMF12LUU-SUS | LMF12L-SUSA | 12 A0 |57 03 |9, [6]32458042( 15| 650 | 1200 | 4 | 100
0016 ] -] 02
LMF13LUU-SUS | LMF13L-SUSA | 13 23 61 43 6 [33]45(80(42| 15 | 810 | 1570 | 4 | 130
LMF16LUU-SUS | LMF16L-SUSA | 16 28 70 48 6 |38|45(80(42| 15 | 1230 | 2350 | 5 | 187
MF2OLUUSUS) LMF2OLSUSA | 20 | 32| | &0 54 8 |43/55/95/52| 20 | 1400 | 2750 | 5 | 260
0012[ ]-0.019 0
LMF25LUU-SUS | LMF25L-SUSA | 25 40 12| 54|62 8 |51 |55/95/52| 20 | 1560 | 3140 | 6 | 515

1) SYH5IE2 50kme| FAH+Y 7|22 Abtet
100kmS 71£22 & 32 O SYH3IS U2 12622 LI=0 718 + Q3.
0f) LMF12L8] 50km 7|Z S8 &5tE C= 650N
LMF12L9] 100km 7|2 S 2512 Cio=650/1.26=515.87N
2) 2= Resin 2[E{0]L 7|2 2A1E.
3) #2370 tele mm €.

4) 1N = 0.102kgf

SAMICK |171



SUS SERIES OFA|OF B2 2|L|0{EAI(LM-SUS)

172| SAMICK

02| £ : Stainless Steel
BALL : Stainless Steel

S ecH 0| HEAR)

Blank | Resin (=2|A)

A | Steel @47H) ™)

% 1) LMKO8SE Resin 2E1/0|L42t 715



SUS SERIES OtA[OF EZ 2|L|0{ 24 (LM-SUS)

Ll UHe2 D L D, AH3t3(N)
bibi) = &)
H[PCD| K | d, | d| h ;_“E) £9 T(H})
e el | O |BIER| SER S8R Et etk T
(mm)| (mm) (mm) (mm) (mm) @ | (Co)
LMKOGUU-SUS | LMKOB-SUSA | 6 12 19 28 5120|122 |34/65(32| 12 | 200 | 260 | 4 | 265
LMKO08SUU-SUS 8 15 _08” 17 EY) 5124 |25(34|65(32| 12 | 170 | 220 | 4 | 34
LMKO8UU-SUS | LMKO08-SUSA| 8 15 24 32 5124125(34/65(32| 12 | 260 | 400 | 4 | 40
LMK10UU-SUS | LMK10-SUSA| 10 _0809 19 29 . 40 629(30|45(80(42| 12 | 370 | 540 | 4 | 78
- — O
LMK12UU-SUS | LMK12-SUSA| 12 21 . 30 ) _(?2 6|32(32(45(80(42| 12 | 410 |59 | 4 | 76
10013 __| N
LMK13UU-SUS | LMK13-SUSA| 13 23 32 43 6|33(34|45(80(42| 12 | 500 | 770 | 4 | %4
LMK16UU-SUS | LMK16-SUSA| 16 28 37 48 6|38(37|45(80(42| 12 | 770 [1170| 5 | 134
LMK20UU-SUS | LMK20-SUSA | 20 . 32 . ) 54 8|43 (42(55(95(52( 15 | 860 |1370| 5 | 180
-0.010] |-0.016 0
LMK25UU-SUS | LMK25-SUSA| 25 40 59| o3 |62 8|51 (50(55.[95(52| 15 | 980 |1560| 6 | 340
F1) Y432 50kme| H,Y 7|22 AlMtet
100kmE 7|202 & A2 HO| SXHAHFZE 742 12622 LI=0| 28 2 92
of) LMK122] 50km 7|& &% 6t C=410N
LMK122] 100km 7|2 &8 245ta Cioo=410/1.26 = 325.40N
2) 22= Resin 2|E|0]4 7I_T 1.
3) F22|2| Hel= mm ¢

4) 1N = 0.102kgf

SAMICK |173



SUS SERIES OfA[Of H2 2|L|0{E4 (LM-SUS)

LMK_L F

”F
<
x
N
o
()
c
<
|
wn
c
"
>

02| £ : Stainless Steel
BALL : Stainless Steel
- ezZHolY ME®AE)

Blank | Resin (=2]A))

A | Steel (224

174| SAMICK



SUS SERIES OtA[OF EZ 2|L|0{ 24 (LM-SUS)

g R ke D L D, YAAIZN)
217 oA
H|PCD| K| d, | d, | h SR =2 A
| L sen| sien lsien siex K0 | gy gz | (00
Resin Steel m)| e ™ mm) | ™™ emm) ™™ | m) Q | (Co)
LMKOBLUU-SUS | LMKOBL-SUSA | 6 12 . 35 28 5120(22|34|65(32] 15 | 320 | 520 | 4 | 31
EECE
LMKO8LUU-SUS | LMKOBL-SUSA | 8 15 45 32 5|24|25/34|65(32] 15 | 430 | 780 | 4 | 53
LMK10LUU-SUS | LMK10L-SUSA | 10 . 19 55 40 6[29(30/45(80(42| 15 | 580 |1100| 4 | 105
0010[ | o | ]
LMK12LUU-SUS | LMK12L-SUSA | 12 21 . 57| o3 |2 . 6[32(32)45(80(42| 15 | 650 |1200| 4 | 100
ool | [ |02
LMK13LUU-SUS | LMK13L-SUSA | 13 23 61 43 6[33(34/45(80(42| 15 | 810 |1570| 4 | 130
LMK16LUU-SUS | LMK16L-SUSA | 16 28 70 48 6[38(37|45(80(42| 15 | 1230 | 2350 | 5 | 187
LMK20LUU-SUS | LMK20L-SUSA | 20 . 32 . 80 54 8 [43(42/55[95/52| 20 | 1400 | 2750 | 5 | 260
0012[ ]-0.019 0
LMK25LUU-SUS | LMK25L-SUSA | 25 40 12| oq 62 8 [51(50|55[95(52| 20 | 1560 | 3140 | 6 | 515

1) SHABZ2 50kmo| HA4Y 7|F0 AM,
100knE 7202 8 3 B SH3E 242 12692 L0 73 4 92,
o) LMK12L9| 50km 7|& &4 Z5tsE C= 650N
LMK12L2| 100km 7|& & Cioo=650/1.26=515.8/N
2) 2= Resin 2IEfo]d 712 £
3) 223149 Hels mm 2

4) 1N = 0.102kgf

ox
0o
_O,ﬂ
oiN

=
02

SAMICK |175



SUS SERIES OFA|O}

= 2[L{0fFE(LM-SUS)

176 | SAMICK

T A EY SRR
OUHHEA(MAIZE 21F) MY
0FH MY

Blank | & gle
U | %=4
U | m24
02| £ : Stainless Steel
BALL : Stainless Steel
—eo2HolH ME®AE)
Blank | Resin (£=2|A))
A | Steel (2&4)




SUS SERIES OtA[OF EZ 2|L|0{ 24 (LM-SUS)

Off) LMH129] 50km 7|& S #otE C=410N
LMH122] 100km 7| S8H5tS Cioo =410/ 1.26 = 325.40N
2) FH= Resin 2[E{0|LH 7|F SAY.
3) #8222 Hele mm Q.

4) 1N = 0.102kgf

g L D L D, YAIEIN)
212+ (= el
H{W A|F d d|h = T
i L d s se| lsea lsie *0m) g 2y | (O
Resin Stee s mm (mm) mm (mm) mm (mm) @ | (Co)
LMHO6UU-SUS |LMHO6-SUSA| 6 Y 28 5|18|20| - |34(65(32] 12 | 200 | 260 | 4 | 265
0011 |
LMHO8UU-SUS |LMHO8-SUSA| 8 15 24 32 5121|24| - |34(65(32| 12 | 260 | 400 | 4 | 40
LMH10UU-SUS|IMHIOSUSA| 10 | | 19 29 40 6(25(29| - [45]80(42| 12 | 370 | 540 | 4 | 78
009[ | o
LMH12UU-SUS |LMH12-SUSA| 12 2|30 gz ||, |8]77[32] - [45|80|42) 12| 410 | 50| 4| T6
- ]0013] ] 0.2
LMH13UU-SUS | LMH13-SUSA| 13 23 32 43 629(33] - |45(80/42] 12 | 500 | 770 | 4 | 94
LMH16UU-SUS | LMH16-SUSA| 16 28 37 48 634(31|22(45(80(42| 12 | 770 |1170| 5 | 134
LMH20UU-SUS| (MH20SUSA| 20 | | 32| | 42 54 8383624 (55/95|52| 15 | 860 |1370| 5 | 180
0010[ ]-0.016 0
LMH25UU-SUS | LMH25-SUSA| 25 40 59| o3| 62 8464032 (55(9.5|52| 15 | 980 |1560| 6 | 340
1) sYZ5tE2 50kme| H2A4Y 7|2 AN
100kmE 7|22 & 32 B2 SYHotS o= 12628 L0 1 + AUS.

SAMICK |177



SUS SERIES OFA[OF EZ 2|L| 012 A (LM-SUS)

o2lLjoj2y 23
004 MY

Blank | & 2is

U | ¥=4

U H24

02| & : Stainless Steel
BALL : Stainless Steel
e 2/Ho|H MY @)

Blank | Resin (&=2|H))

A | Steel 54)

178| SAMICK



SUS SERIES OtA[OF EZ 2|L|0{ 24 (LM-SUS)

el LiAH D L D, AN
21ZH =
H{W|A| F|[d|d h | 25= %%'THI
| o d|aen Isigx| Isien (sl K0 | e gy | (o
Resin Stee (i) (i) mm (i) mm (i) mm i 9 | (o)
LMHO6LUU-SUS | LMHO6L-SUSA| 6 12 . 35 28 5 (18|20 - |34(65(3.2] 15 | 320 | 520 | 4 | 31
1-0013] | ]
LMHO8LUU-SUS | LMHO8L-SUSA | 8 15 45 32 5 (21|24 - |34(65(3.2| 15 | 430 | 780 | 4 | 53
LMH10LUU-SUS | LMH10L-SUSA| 10 . 19 55 40 62529 - |45/80(4.2] 15 | 580 |1100| 4 | 105
0010[ | o ]
LMH12LUU-SUS | LMH12L-SUSA | 12 21 . 57| o3 |42 . 6 (2732] - |45(80/42] 15 | 650 |1200| 4 | 100
- ]-0016] | 102
LMH13LUU-SUS | LMH13L-SUSA | 13 23 61 43 629(33| - |45/80(4.2] 15 | 810 |1570| 4 | 130
LMH16LUU-SUS | LMH16L-SUSA | 16 28 70 48 6 34(31(22|45/80(4.2] 15 | 1230 |2350| 5 | 187
LMH20LUU-SUS | LMH20L-SUSA | 20 . 32 . 80 54 8 138(36|24(55(95/52| 20 | 1400 |2750| 5 | 260
0012[ ]-0.019 0
LMH25LUU-SUS | LMH25L-SUSA | 25 40 12| oy | 62 8 |46(40(32(55(95|52| 20 | 1560 |3140| 6 | 515

F1) SIS 50kme| FH+Y 7|Eo= AL
100kmE 7|22 & 39 BO| SYFotS ¢S 12622 LiF0| 71 4+ U3,
Oil) LMH12L2| 50km 7|& S8 25tE C = 650N
LMH12L9| 100km 7|& S 25t& Cioo=650/1.26 = 515.87N
2) RA= Resin 204 7| RAY.
3) F22|59| HelE mm .

4) 1N = 0.102kgf

SAMICK |179



SUS SERIES OfA|OF E2 2|L|0{ 4 (LM-SUS)

LMF

180| SAMICK

2247 2|L{oj 24

% o o = all
OLHYYZ(LMAIZE 217) MY
0Py MY

Blank | & IS
W | ¥=4
TE:EE

02| £ : Stainless Steel
BALL : Stainless Steel

o eZEHolH HY(AE)

Blank

Resin (2| Al)

A

Steel (354




SUS SERIES OFA[OF B 2|L01F

A (LM-SUS)

Ll LiHA D L D, HAEN)
AlZF [=pTE2)]
PCD| d, | d, | h X(“E) 29 ﬂ)
Resi Steel dr. | 582 5124t £0.2 5124t U | SR g
&sin e mm)| mm) |™™ ] mm) | mm || (mm) © | (Co)
LMFPOSUU-SUS | LMFPO6-SUSA | 6 12 . 19 | 28 2034(65(32| 12 | 200 | 260 | 4 | 265
| ]-0.011
LMFPOSUU-SUS | LMFPO8-SUSA | 8 15 24 |32 24 |34165(32| 12 | 260 | 400 | 4 | 40
LMFP10UU-SUS | LMFP10-SUSA | 10 . 19 29 | 40 2945| 8 |42| 12 | 370 | 540 | 4 | 76
-0.009] |
LMFP12UU-SUS | LMFP12-SUSA | 12 21 . 30 | & . 32(45] 8 [42] 12 | 410 | 590 | 4 | 78
10013 0.2
LMFP13UU-SUS | LMFP13-SUSA | 13 23 32 |43 3345|842 12 | 500 | 770 | 4 | 94
LMFP16UU-SUS | LMFP16-SUSA | 16 28 37 | 48 38|45| 8 (42| 12 | 770 [1170| 5 | 134
LMFP20UU-SUS | LMFP20-SUSA | 20 . 32 . 42 | 54 43 |55(95(52| 15 | 80 [1370| 5 | 180
-0.010]  |-0.016
LMFP25UU-SUS | LMFP25-SUSA | 25 40 59 | 62 51|55(95/52| 15 | 980 |1560| 6 | 340
F1) SY4ot52 50kme A4 7|22 2 ALk
100kmE 7|22z g 74%’—31 | S425lS A= 1.262% LIS0] 18 4~ US.
0f) LMFP122] 50km 7|& €2 45= C=410N
LMFP122] 100km 7|?__o A2 Cioo=410/1.26 =325.40N
2) 2A1E Resin 2|H0]H 7|& 2A Y.
3) F22|49| Hel= mm %!.

4) 1N = 0.102kgf

SAMICK |181



SUS SERIES OfA|OF E2 2|L|0{ 4 (LM-SUS)

LMFP (20 L UU-SUS A

182| SAMICK

OUHHE(MAIEE 21 H) MY
02[L[0RY &Y
0FA MY
Blank | & glg
W | ¢=4
u | =4
02| £ : Stainless Steel
BALL : Stainless Steel
—ezHolH MEAE)
Blank | Resin (£=Z]|Al)
A | Steel @5A)




SUS SERIES OtA[OF EZ 2|L|0{ 24 (LM-SUS)

of) LMFP12L2] 50km 7|& &8 245t C = 650N
LMFP12L9| 100km 7|2 SE&A5HE Cyg=650/1.26 =515.87N
2) F= Resin 2/H|0]H 7|& £AY.
3) 22|52 e mm 2.

4) 1N = 0.102kgf

Bl LiAH D L D, HAEN)
AlZF o7
2| HI[PCD|d, | d, | h ;“E) 22 T(Hl)
Resi Steel dr. | 518t 5182t £03 512t MU S| A g
&sin ee m)| mm) (™| (mm) | mm ™ (mm) © | (o)
LMFPOSLUU-SUS | LMFPOBL-SUSA | 6 12 . 35 |28 5(5020(34|65(32| 15 | 320 | 520 | 4 | 31
10013
LMFPOSLUU-SUS | LMFPOSL-SUSA | 8 15 45 | 32 5(5|24(34|65(32| 15 | 430 | 780 | 4 | 53
LMFP10LUU-SUS | LMFP10L-SUSA | 10 . 19 55 | 40 6|6[29|45| 8 [42] 15 | 580 |1100| 4 | 105
-0.010] |
LMFP12LUU-SUS | LMFP12L-SUSA | 12 21 . 57 |42 . 6|6|32|45| 8 [42] 15 | 650 |1200| 4 | 100
| 1-0.016 -0.2
LMFP13LUU-SUS | LMFP13L-SUSA | 13 23 61 |43 6|633[45| 8 42| 15 | 810 |1570| 4 | 130
LMFP16LUU-SUS | LMFP16L-SUSA | 16 28 70 | 48 6|6|38|45| 8 [42] 15 | 1230 | 2350 | 5 | 187
LMFP20LUU-SUS | LMFP20L-SUSA | 20 . 32 . 80 | 54 818 |43[55[(95(52| 20 | 1400 | 2750 | 5 | 260
-0.012]  ]-0.019
LMFP25LUU-SUS | LMFP25L-SUSA | 25 40 112 | 62 88|51 [55[95(52| 20 | 1560 |3140| 6 | 515
1) SYH5IE2 50kme| JAH4Y 7|Fo=2 AjAket
100kmE 7|22 & 22 B S4Zols o= 1.262% LIF0| 18 4~ AUS.

SAMICK |183



SUS SERIES OFA|OF B2 2|L|0{EAI(LM-SUS)

LMKP FLA

LMKP (20 UU - SUS A

© AFOI ZH
bl

(LM
_I

e

=
E Al
— =

{ 2247 2L ojA

ks

[
N

40 o o
nE e .

T

G o
oy M

[ )
—
=

> oY p>

o
&
ox!

r

Blank

£Q
ojo

uu

re|oQ|ux
| e
UE|uE

U

02| £ : Stainless Steel
BALL : Stainless Steel
e 2H ol MAERR)

Blank | Resin (£=2|A))

A | Steel (B&A)

184 SAMICK



SUS SERIES OtA[OF EZ 2|L|0{ 24 (LM-SUS)

100kmE 7| 202 & HS HO| SHZHIZE 342
0f)) LMKP122] 50km 712 S4Z51% C = 410N
LMKP122| 100km 7|& &8 Z5tE Cioo =410/ 1.26 = 325.40N
2) 2= Resin 2[E(0] 7|2 2A .
3) 223140| Tele mm ¢,

4) 1N = 0.102kgf

el LaA D L D, HHEN)
AlZF o7
2| HI[PCD| K |d|d,| h SAT =% W
. || ses| Isiga| 02 lsign Km) | e g | (O
Resin Steel (i mm i mm (i) © Co)
LMKPOBUU-SUS | LMKPO6-SUSA | 6 12 . 19 |28 5151(20|22(34(65(32| 12 | 200 | 260 | 4 | 265
I loom
LMKPOSUU-SUS | LMKPO8-SUSA | 8 15 24 132 51524 |25(34(65(32| 12 | 260 | 400 | 4 | 40
LMKP10UU-SUS | LMKP10-SUSA | 10 . 19 29 |40 66293045 8 |42] 12 | 370 | 540 | 4 | 76
-0.009] |
LMKP12UU-SUS | LMKP12-SUSA | 12 21 . 30 |42 . 663232145 8 |42] 12 | 410 |59 | 4 | 78
| 1-0.013 0.2
LMKP13UU-SUS | LMKP13-SUSA | 13 23 32 |43 6|6(33(34|45| 8 (42| 12 | 500 | 770 | 4 | %4
LMKP16UU-SUS | LMKP16-SUSA | 16 28 37 |48 6|6|38[37|45| 8 (42| 12 | 770 |1170| 5 | 134
LMKP20UU-SUS | LMKP20-SUSA | 20 . 32 . 42 |54 8|8|43(42|55/95(52| 15 | 860 |1370| 5 | 180
-0.010]  ]-0.016
LMKP25UU-SUS | LMKP25-SUSA | 25 40 59 |62 8 (8|51 [50/55/95(52| 15 | 980 |1560| 6 | 340
21) SYAHGE2 50kme| ZHLE 7|20 2 A|As

12622 Lit-0] 7% 4 9.

SAMICK |185



SUS SERIES OfA|OF E2 2|L|0{ 4 (LM-SUS)

LMKP_

186 | SAMICK

02| £ : Stainless Steel

BALL : Stainless Steel

— e2EHolH ME(AE)

Blank

Resin (£=2|A))

A

Steel (E5A)




SUS SERIES OtA[OF EZ 2|L|0{ 24 (LM-SUS)

L LiAH D L D, HAtZ(N)
AlZF [=§1 5]
2|HI|PCD|K |d,|d,| h SR 22 0
. | s seare3) st =l
Resin Stee N mm (rnm mm (i) © | (o
LMKPO6LUU-SUS | LMKPOGL-SUSA | 6 1 . 35 |28 5|5120(22134/65|32| 15 | 320 | 520 | 4 | 31
10013
LMKPOSLUU-SUS | LMKPOSL-SUSA | 8 15 45 |32 5| 5|24|25/34/65/32| 15 | 430 | 780 | 4 | 53
LMKP10LUU-SUS | LMKP10L-SUSA | 10 . 19 55 |40 6|6|29(30(45| 8 42| 15 | 580 |1100| 4 | 105
0010[ |
LMKP12LUU-SUS | LMKP12L-SUSA | 12 21 . 57 | 42 . 6|6[32(32(45/8 (42| 15 | 650 |1200| 4 | 100
10016 0.2
LMKP13LUU-SUS | LMKP13L-SUSA | 13 23 61 |43 6|6|33(34(45/ 8 |42| 15 | 810 [1570| 4 | 130
LMKP16LUU-SUS | LMKP16L-SUSA | 16 28 70 | 48 6|6|38(37(45 8 |42| 15 | 1230 |2350| 5 | 187
LMKP20LUU-SUS | LMKP20L-SUSA | 20 . 32 . 80 | 54 8|8 |43(42(55/95/52| 20 | 1400 |2750| 5 | 260
0012] [-0019
LMKP25LUU-SUS | LMKP25L-SUSA | 25 40 112 62 818 |51|50(55(95(52| 20 | 1560 |3140| 6 | 515

Z1) SYASIE2 50kme| H2H4H J|Fo=2 74|A_§.
100kmE 7|22 & 242 #9 %Méfz U2 12692 LIE0| & 4 Q2.
0f) LMKP12L2| 50km 7|& S3 A= 650N

LMKP12L2| 100km 7|T SEZE %ks Cioo=650/1.26=515.87N
2) A= Resin 2lE0]H 7|2 2AY.
3) #8222 Hele mm Q.
4) 1N = 0.102kgf

SAMICK |187



SUS SERIES OfA|OF E2 2|L|0{ 4 (LM-SUS)

188| SAMICK

02| £ : Stainless Steel
BALL : Stainless Steel
L 02H0|H MY (RHE)

Blank

Resin (|

A

Steel @5A)




SUS SERIES OFA[OF B 2|L01F

A (LM-SUS)

4 LA D L D, HASIS(N)
A7 [=pTE2)]
W|A|[F|d|d,|h AAT %%'Tjﬂ
e o | O |83 sigit|z02| Isigx *n) gz || 00
&sin e (mm)| (mm) |™| (mm) | mm ™| (mm) © | (Co)
LMHPOGUU-SUS | LMHPO6-SUSA | 6 12 ) 19 |28 18120 |34(65(32] 12 | 200 | 260 | 4 | 265
| ]-0.011
LMHPOSUU-SUS | LMHP08-SUSA | 8 15 24 |3 21024| |34(65[32| 12 | 260 | 400 | 4 | 40
LMHP10UU-SUS | LMHP10-SUSA | 10 . 19 29 (40 25(29| |45|8 (42| 12 | 370 | 540 | 4 | 76
-0.009[ |
LMHP12UU-SUS | LMHP12-SUSA | 12 21 . 30 |42 . 27132| |45|8 (42| 12 | 410 | 590 | 4 | 78
10013 -0.2
LMHP13UU-SUS | LMHP13-SUSA | 13 23 32 |43 29(33| |45/ 8 42| 12 | 500 | 770 | 4 | %4
LMHP16UU-SUS | LMHP16-SUSA | 16 28 37 |48 34|31(22145| 8 (42| 12 | 770 [1170| 5 | 134
LMHP20UU-SUS | LMHP20-SUSA | 20 . 2 . 4 |54 38|36(24(55(95(52| 15 | 860 [1370| 5 | 180
-0.010[  ]-0.016
LMHP25UU-SUS | LMHP25-SUSA | 25 40 59 |62 4640(32(55(95(52| 15 | 980 |1560| 6 | 340
Z1) SHHHZ2 50kme FZH4LY 7|FO2 A Akgt
100kmE 7|20 2 & 22 HO| EAHAFIR 742 126202 LI=0] &t A 9l
of) LMHP122] 50km 7|& S 2Z35l= C=410N
LMHP129| 100km 7|& o%;a%f Ci0=410/1.26=325.40N
2) 2= Resin 2lE|0]YH 7|& 2A Y.
3) £22|40] tlE mm ¢,
4) 1N = 0.102kgf

SAMICK |189



SUS SERIES OFA|O}

= 2|LO{R(LM-SUS)

190 SAMICK

071F : oY Bt THYS Sl 2L 012
OUEAE(LMAIEE 2 F) M
02[U0RY 8
02 MY
Blank | 4 I3
W | ¢=4
u |mH=4

02| & : Stainless Steel

BALL : Stainless Steel

—e2H|olH HY(3)

Blank

Resin (&=2|H))

A

Steel (B5A)




SUS SERIES OtA[OF EZ 2|L|0{ 24 (LM-SUS)

L LiAH D L D, HASIS(N)
A1ZH o7
2|H|{W|A|F|d|d, h AT %%'71
. || d|sex senie03) lsen *n) g 2z = (O
Resin Steel (e mm (ol [ mm () 0 o)
LMHPO6LUU-SUS | LMHPOBL-SUSA | 6 12 . 35 |28 5|51(18(20] |34(65[32| 15 | 320 | 520 | 4 | 31
10013
LMHPOSLUU-SUS | LMHPOSL-SUSA | 8 15 45 |32 5|51(21(24| |34(65[32| 15 | 430 | 780 | 4 | 53
LMHP10LUU-SUS | LMHP10L-SUSA | 10 . 19 55 |40 6|6(25/29| |45/ 8142 15 | 580 |1100| 4 | 105
0010[ |
LMHP12LUU-SUS | LMHP12L-SUSA | 12 21 . 57 |42 . 662732 |45/ 8142 15 | 650 |1200| 4 | 100
10016 02
LMHP13LUU-SUS | LMHP13L-SUSA | 13 23 61 |43 6|6(2933| |45/ 8142 15 | 810 |1570| 4 | 130
LMHP16LUU-SUS | LMHP16L-SUSA | 16 28 70 |48 6|6(34]31|22145| 8 (42| 15 | 1230 |2350| 5 | 187
LMHP20UU-SUS | LMHP20L-SUSA | 20 . 32 . 80 |54 818 38(36(24(55(95/52| 20 | 1400 |2750| 5 | 260
0012] 10019
LMHP25LUU-SUS | LMHP25L-SUSA | 25 40 112 62 8|8 |46|40(32(55/95(52| 20 | 1560 |3140| 6 | 515

F1) SYHsI32 50kmo| A+ 7|22 ALtgt
1ommaﬂ%ﬂi%%$ﬁﬂ%%aaz7 12692 LE=0] 118 4 Qle.
0f) LMHP12L2| 50km 7|& 5255 C = 650N

Ll\/IHP12L°|1OOkm7IT 45t Cwoo—650/126 515.87N
2) A= Resin 2lE0]H 7|2 2AY.
3) #8222 Hele mm Q.
4) 1N = 0.102kgf

SAMICK | 191



SUS SERIES OFA[OF EZ 2|L| 012 A (LM-SUS)

LMF

192| SAMICK

07|F 1 ¢ A S S| 2|LI0fR
OLHYYZ(LMAIZE 217) MY
0Py MY
Blank | & A4S
u | =4
TEEE

02| £ : Stainless Steel
BALL : Stainless Steel

S eZfEHolH MY (AE)

Blank

Resin (=4 |Al)

A

Steel @44




SUS SERIES OtA[OF EZ 2|L|0{ 24 (LM-SUS)

L LiAH D L D, HASIS(N)
AlZF [=§11E]
2 |HI[PCD|d, | d,| h nA% £¢ A
. | d (s sieaz03] Isex K| x| g | | (0
Resin Steel e o) mm (i mm (i) © | (o
LMFMO6UU-SUS | LMFMO6-SUSA | 6 12 . 35 |28 15 | 5120 |34(65(32] 15 | 320 | 520 | 4 | 31
10013
LMFMO8UU-SUS | LMFMO8-SUSA | 8 15 45 | 32 20 | 5124(34|65(32| 15 | 430 | 780 | 4 | 53
LMFM10UU-SUS | LMFM10-SUSA | 10 . 19 55 |40 2456129458 [42| 15 | 580 | 1100 | 4 | 105
0010[ |
LMFM12UU-SUS | LMFM12-SUSA | 12 21 . 57 | 42 . 255|6132(45| 8 (42| 15 | 650 | 1200 | 4 | 100
I 1-0.016 0.2
LMFM13UU-SUS | LMFM13-SUSA | 13 23 61 |43 275| 6133|458 (42| 15 | 810 | 1570 | 4 | 130
LMFM16UU-SUS | LMFM16-SUSA | 16 28 70 |48 32 16|38(45|8 (42| 15 | 1230 | 2350 | 5 | 187
LMFM20UU-SUS | LMFM20-SUSA | 20 . 32 . 80 |54 36 | 8|43(55(95(52| 20 | 1400 | 2750 | 5 | 260
0012 1-0.019
LMFM25UU-SUS | LMFM25-SUSA | 25 40 112 62 52 | 8|51(55/95/52| 20 | 1560 | 3140 | 6 | 515

21) SYZATZE 50kme| 4G 7|ZO2 AHAks
100kmE 71222 & 2% BO| 34 Aot S 1.2622 L0 1 = US.
of) LMFM129] 50km 7|2 £325+= C = 650N
LMFM122] 100km 7|2 S&Z5tE Cioo =650/ 1.26 =515.87N
2) 7= Resin 2[E0[ 7|& 2AY,
3) T2 tele mm g
4) 1N = 0.102kgf

SAMICK | 193



SUS SERIES OFA[OF EZ 2|L| 012 A (LM-SUS)

S50 74

LMKM 20 UU -SUS A

71E o 24 S S| 2[R
LU (LMAFLE 217) M4
BBk
Blank | & 2is
W |g=4
TIREEE

Q| £ : Stainless Steel
BALL : Stainless Steel
2[gfolH ME(AHZ)

Blank | Resin (=Z|A))

A | Steel GEA)

194| SAMICK



SUS SERIES OtA[OF EZ 2|L|0{ 24 (LM-SUS)

L LiAH D L D, HAsS(N)
217+ oA
2 [H[PCD| K |d, |d,]|h A %%'#"
. || ssats03| istesy *n) gz g || O
Resin Steel Gl G mm il i mm (i) 9 | (o)
LMKMOBUU-SUS | LMKMO6-SUSA | 6 12 . 35 |28 1515120 |22134/65(3.2| 15 | 320 | 520 | 4 | 31
10013
LMKMO8UU-SUS | LMKMO8-SUSA | 8 15 45 | 32 20(5|24(25(34(65(32| 15 | 430 | 780 | 4 | 53
LMKM10UU-SUS | LMKM10-SUSA | 10 . 19 55 |40 24561293045/ 8 (42| 15 | 580 | 1100 | 4 | 105
0010[ |
LMKM12UU-SUS | LMKM12-SUSA | 12 21 . 57 |42 . 255|632 (32|45( 8 (42| 15 | 650 | 1200 | 4 | 100
10016 0.2
LMKM13UU-SUS | LMKM13-SUSA | 13 23 61 |43 275|633 (34|45 8 (42| 15 | 810 | 1570 | 4 | 130
LMKM16UU-SUS | LMKM16-SUSA | 16 28 70 |48 32|6|38(37(45]8 (42| 15 | 1230|2350 | 5 | 187
LMKM20UU-SUS | LMKM20-SUSA | 20 . 32 . 80 |54 36 (8| 43(42(55(9.5(52| 20 | 1400 | 2750 | 5 | 260
0012 [-0.019
LMKM25UU-SUS | LMKM25-SUSA | 25 40 12| 62 52 18|51 (50(55/95/52| 20 | 1560 | 3140 | 6 | 515

1) SYAs1EL S0kme] HH4Y 7|z02 A,

100kmE 7|22 & F2? HO| 582513 ¢S
of) LMKM129] 50km 7|2 S4Z5t= C = 650N
LMKM122] 100km 7|& &4 245t Cioo=650/1.26 =515.87N
2) 2= Resin 2lE[0]4 7|& A Y.
3) F22|92| Hel= mm &,

4) 1N = 0.102kgf

12622 LIR0] 78 4= RIS,

SAMICK | 195



SUS SERIES OFA|O}

= 2[L{0fFE(LM-SUS)

o 33Yo| 7Y

LMHM (20 UU - SUS A

196 SAMICK

07|F : 2 EfYE S7H S| 2|L|01 24
OUHHZ(MAIZE 2F) MY
0FH MY
Blank | & gle
w | ¢=4
U |m=4
02| £ : Stainless Steel
BALL : Stainless Steel
- edHolH ME®AE)
Blank | Resin (£Z|A])
A | Steel (2&4)




SUS SERIES OtA[OF EZ 2|L|0{ 24 (LM-SUS)

L LA D L D, HAsIS(N)
A1ZF 8oy
2 |HIW|A|F|d|d, h | 30E :Tm
. b seR seaz03] st K0m) | x| gy €| 0
Resin Stee Gl C) mm il i mm () 9 | (o)
LMHMO6UU-SUS | LMHMO6-SUSA | 6 12 . 35 |28 1515(18/20| [3.4/65/32| 15 | 320 | 520 | 4| 31
| ]-0013
LMHMO8UU-SUS | LMHMO8-SUSA | 8 15 45 |32 2052124 |34/65|3.2| 15 | 430 | 780 | 4| 53
LMHM10UU-SUS | LMHM10-SUSA | 10 . 19 55 |40 2456(25/29] 45| 8 (42| 15 | 580 |1100|4| 105
0010[ |
LMHM12UU-SUS | LMHM12-SUSA | 12 21 ) 57 |42 . 255/ 6(27(32| |45| 8 (42| 15 | 650 |12004 | 100
10016 0.2
LMHM13UU-SUS | LMHM13-SUSA | 13 23 61 |43 275/6(29|33| |45|8 (42| 15 | 810 |1570|4 | 130
LMHM16UU-SUS | LMHM16-SUSA | 16 28 70 |48 32| 6(34|31]22|45| 8 [42] 15 | 1230 |2350|5 | 187
LMHM20UU-SUS | LMHM20-SUSA | 20 032 . 80 |54 36| 8(38|36|24|5.5(9.5(52| 20 | 1400 |2750|5 | 260
0012] 10019
LMHM25UU-SUS | LMHM25-SUSA | 25 40 112 |62 52 | 846(40|32(5.5(9.5(52| 20 | 1560 |3140|6 | 515

Z1) S8HoIE2 50kme| ALY 7|2 AHAkS
100kmE 7|22 & ¢ HO| SZA5E ¢S 1.262= LIF0| 78 4+ QUS.
0fl) LMHM129| 50km 7|& sd4stE C =650N
LMHM129] 100km 7|—'— SH2HS=E Cio=650/1.26 =515.87N
2) A= Resin 2lE0]H 7|2 A Y.
3) 22|50 Eele mm @,
4) 1N = 0.102kgf

SAMICK | 197



198 SAMICK



199

SUS SERIES 49 EF gy o5 A (LME-SUS)

¥
O
=
q
)




SUS SERIES #& EZ 2|L{0{R4(LME-SUS)

0 Ak
L
B
woow
ol o FE
0 SUYHo| L

200| SAMICK

07|35 RYEE A 2|UNRA(HEY)
OUHHE(MAIEE 21 H) MY
0FH MY
Blank | & g2
uu | ¥=4
U |H=4
02| £ : Stainless Steel
BALL : Stainless Steel
L 0gH0|H MH(RHE)
Blank | Resin (£=2|A))
A | Steel @&A) 7"




SUS SERIES #& EZ 2|L{0{R4(LME-SUS)

-
=5
(]
Q
=
o
[
&
3 e D L 5 EOE S
|:|7.||1-2)
u D, 1) 2 1igf)
, dr. | 322 5|82t 122t o122t 3| HHA
Resin Steel iy mm i) mm o mm Lo © (o)
IMEOSUU-SUS | LMEOS-SUSA | 8 6| O | s 165 14 | 152 | 260 | 400 | 4 | 20
+0,008 10008
0
LME12UU-SUS | LME12-SUSA | 12 2| m|me |13 2 [0S0 4|
10,009 02 02
IME16UU-SUS | LMET6-SUSA | 16 26 36 249 13 | 229 | 770 [ 1170 | 5 | 57
0,009
-0.001
LME20UU-SUS | LME20-SUSA | 20 32 15 315 16 | 303 | 80 | 1370 | 5 | o
0
wezsuusus | vezssusa | 25 |09 a0 | P s | O laar| O | iss | 375 | seo | 1s60 | 6 | 215
0,001 03 [# o3| T :

21) SHZE2 50kme| ALY 7|FO2 AN,
100kmE 7|22 & 42 #O| 3 23E 42 1.262% L0 18 £+ U3,
o) LME129| 50km 7|& S8 ZstE C=410N
LME122] 100km 7|2 =4 245tE Cioo=410/1.26 = 325.40N
2) 27= Resin 2E0]4 7|& 2AY.
3) F2|40| telE mm 2.
4) 1N = 0.102kgf

SAMICK | 201



SUS SERIES #& EZ 2|L{0{R4(LME-SUS)

LME_L

”F
<
m
N
o
(n)
c
L=
1
m
C
g}
>

o

40 C o o
]

o
[

02| £ : Stainless Steel
BALL : Stainless Steel
———02/H0|H ME*AZE)

Blank | Resin (£=2[A))

A | Steel (2£H)

202| SAMICK



LME_L

SUS SERIES #& EZ 2|L{0{R4(LME-SUS)

-
=5
(]
Q
=
o
[
&
3 e D L 5 EOE S
|:|7.||1*-2)
u D, 1) 2 1igf)
, dr. | 323 5|82t 122t o122t 4| HAA
Resin Steel tamibl i mm (mm) mm o mm G © (o)
LMEOSLUU-SUS| LMEOSL-SUSA | 8 6| O |5 33 11 | 152 | 430 | 780 | 4 | 31
+0,009 0.009
-0.001
LME12LUU-SUS| LME12L-SUSA | 12 2| |s| |8 13| 2| e0 |04 | @
0011 03 03
INETGLUSSUS INEISLSUSA 16 | | 26 70 198 13 | 249 | 1230 | 2350 | 5 | 145
+0.
-0.001
LME20LUU-SUS| LME20L-SUSA | 20 ) 80 61 16 | 303 | 1400 | 2750 | 5 | 180
0
weezstuwesus| vezstsusa | 25 | %093 | ag | PP g0l 0 1 s | O | qes | 3 | 160 | 3140 | 6 | 440
-0.002 04 04 | T
21) S4HSE2 50km| WAL 7|20 2 AL
100 71222 & 29 | SAeIE US 1 2622 Li-0 78 4 U8

of) LME12L2]| 50km 7|
LME12L2| 100km 7|

=2 EHA

T oSoA

= =
=445

2) 27 Resin 2[E0]H 7|2 2AY.
3) 22|52 e mm Y.

4) 1N = 0.102kgf

5t& C=650N
t& Cioo=650/1.26=515.87N

SAMICK | 203



SUS SERIES #& EZ 2|L{0{R4(LME-SUS)

1:
z
m
N
o
c
1S5
[
1
w
C
@
>

OSMZEEY 2|HORY

02| £ :Stainless Steel
BALL : Stainless Steel

o eglHolH ME @)

Blank | Resin (£=2[#))

A | Steel (2£H)

204| SAMICK



SUS SERIES S B2 2|L/ 024 (LME-SUS)

LME A c
oD
o
=
o
c
S
e W D™ L B BHsIEN) 2
|:|71|1’-2)
| ! 1) 2 T(gf)
. dr. | 383 5123 5184t 5123 EHAY | HHA
Resin Steel il G mm il mm i) mm Cil © (o)
LMEOSUUAJ-SUS | LMEOBAI-SUSA| 8 6| O |25 16.5 110152 1 | 260 | 400 | 4 | 20
+0,008 0008
0
LME12UUAJ-SUS | LME12A)-SUSA| 12 2 . 32 . 229 . 13121 115] 410 | 590 | 4 | 41
-0.009 -0.2 -0.2
LME16UUAJ-SUS | LME16AI-SUSA| 16 0009 26 36 249 13(249/15| 770 | 1170 | 5 | 57
+0.
-0.001
LME20UUAJ-SUS | LME20AJ-SUSA| 20 32 45 315 161303] 2 | 80 | 1370 | 5 | 91
0
+0.011 -0.01 0 0
LME25UUAI-SUS |LME2SAFSUSA| 25 | o | 40 58 | g3 |441| o3 |185]375| 2 | 980 | 1560 | 6 |215

1) sYA5IE2 50kme| YALT J|E2= Ajbkat
100kmE 7|22 & 22 HO| 3YA5IE ¢S 1.2622 L0 18 + AUS.
of) LME12AJ2] 50km 7| S4H5tE C=410N

LME12AJ2] 100km 7|& SZAAGE Cioo=410/1.26 = 325.40N

2) 2= Resin 2lE0]H 7|& A Y.

22|40| Hel=mm ¢,
4 g|70:|0 7|.||:||-1-| ;(|AOI
N = 0.102kgf

SAMICK | 205



SUS SERIES #& EZ 2|L{0{R4(LME-SUS)

LME_OF

0 A
L
B
| W W |
ol & e —— —

071 2|L{0{R4
02| E:Stainless Steel
BALL : Stainless Steel
CEEYE

olr

EREE

% 1) 288 /U022 uU
No seal 2 HE4 EIY2 AIS3HA

62
o>
T~
il

206| SAMICK



SUS SERIES #& EZ 2|L{0{R4(LME-SUS)

-
=5
(]
Q
=
o
[
&
3 e p™ L 5 230 S
ey
wip|h e ” =l
. dr. | o8zt |84t 123} o123} 3" | 444
Resin V)| om) | ™ | om) | ™| om) | ™| (mm) @ | (Co)
LME12000P-SUS| 12 +8~°°8 2| @ 229 13120 175078 | 410 | 590 | 3| a1
0,009 0 0
LME16UUOP-SUS| 16 2% | O |ug| 13 1249 10 [ 78| 770 | 1170 | 4 | 57
+0.009 02 02
0,007
LME20UUOP-SUS| 20 2 15 315 1613031 10 | 60° | 860 | 1370 | 4 | o1
0
wezsouorsus| 25 | 001 | a0 | P P ss | O laan| O |iss|a7s|i2s| 60| 80 | 1560 | 5 | 215
-0.0011 03 |% o3 18537512
21) SHASHZL SOkme) FA4T T|Z02 AuE:

100kmE 7|22 & 29 BO| SHA5HE 22 12692 LI-0| 28 4 S,
of) LME12 OP2| 50km 7|2 SZ 252 C=410N
LME12 OP2| 100km 7| SHZ5I5 Cio=410/1.26 = 325.40N
2) 2= Resin 2|04 7|2 2A/Y.
23140/ gl mm o
4) Q| AL JHEtA 2|40l
N = 0.102kgf

SAMICK | 207



SUS SERIES #& EZ 2|L{0{R4(LME-SUS)

LMEF FLANGE

0 Ak

02| £ : Stainless Steel
BALL : Stainless Steel
o edHolH MEAIE)

Blank | Resin (£=2|A))

A | Steel (B&A)

208| SAMICK



SUS SERIES S B2 2|L/ 024 (LME-SUS)

LMEF F

c
3
o
o
=
v
c
5
i e D L D, ¥EH30) 5
21zt o7
H|PCD| d, | d,| h AAE £g A
e o | O || EeA| lsen (s Rl TR T
esin el e e ™ L mm) | ™ | mm) | ™ | mm) @ | (Co)
LMEFO8UU-SUS | LMEFO8-SUSA | 8 16 | O | 25 EY) 5| 24 [34/65(32| 12 | 260 | 400 | 4 | 44
+0,008 0.008
0
LMEF12UU-SUS | LMEF12-SUSA | 12 2| 2| e 63245 8(42] 12 | 410 | 59 | 4 | 8
0,009 02 0
LMEF16UU-SUS | LMEF16-SUSA | 16 26 36 4 | o, | 6|36(45) 8 (42| 12 | 770 [1170| 5 | 120
+0,009 :
<0001
LMEF20UU-SUS | LMEF20-SUSA | 20 32 45 54 8 | 43 |55/9552| 15 | 860 |1370| 5 | 184
0
+0.011 0071 0
MEF25UU-SUS | LMEF25-SUSA | 25 |7 0| 40 58 | o3| 62 8 | 51/55/9.5/52| 15 | 980 | 1560| 6 | 335

Z1) SHAHSE2 50km YALY 7|F22 AMs
100kmE 7|22 & 2 319| %%174%%2 U2 12622 LI0] 71t 4 QI3.
of) LMEF122| 50km 7|& S A5t= 410N
LMEF129] 100km 7|& & 07_4,6}3 Ci0=410/1.26 =325.40N
2) A= Resin 2[H[0|H 7|& FAY.
3) F2|42| Hele mm Y.
4) 1N = 0.102kof

SAMICK | 209



SUS SERIES #& EZ 2|L{0{R4(LME-SUS)

LMEF L F

LMEF (20 L UU-SUS A

210| SAMICK

0|3 RYEE A YUY SHZ| 2L N2
OUHEHAE(LMAIZE 21H) MA
02[L[0EY &Y
024 MY
Blank | & gle
Ww_[¥=4
u | ma4
02| £ : Stainless Steel
BALL : Stainless Steel
————02H0|H ME*AE)
Blank | Resin ($2[4))
A | Steel (&)




SUS SERIES S B2 2|L/ 024 (LME-SUS)

LMEF_

c
3
o
o
=
v
c
5
2 e D L D, 3530 2l
21zt o7
H|PCD| d, | d, | h AAE £g A
e o | O S| laEn| lsgn st Rl TR
esin tee )| mm | ™ | @mm) | ™ | mm) | ™™ | (mm) @ | (Co)
LMEFO8LUU-SUS | LMEFOBL-SUSA | 8 16 | 0| 5 2 524 134(65/32| 15 | 430 | 780 | 4 | 53
+0,009 10,009
-0.001
LMEF12LUU-SUS | LMEF12L-SUSA | 12 2| 5| 6|32 45| 8 |42] 15 | 650 |1200| 4 | 100
0001| |03 0
LMEFIBLUUSUS | MEFIGLSUSA 16 | | 26 70 % | 5| 636|458 |42| 15 | 1230 | 2350| 5 | 187
+0, :
-0,001
LMEF20LUU-SUS | LMEF20L-SUSA | 20 2 80 54 8 | 43|55/95(52| 17 | 1400 |2750| 5 | 260
0
+0013 0013 0
LMEF25LUU-SUS | LMEF25L-SUSA | 25 | oo 40 12| o | 62 8 | 51/5595/52| 17 | 1560 |3140| 6 | 515

1) SYH5tE2 50kmo| YH+Y 7122 Abtet
100kmS 71222 & 32 O SYHINS U2 12622 LI=0 718 + Q3.
0f) LMEF12L2| 50km 7| SEH3tS C = 650N
LMEF12L2] 100km 7|2 S4 2351 Cioo= 650/ 1.26 =515.87N
2) 2= Resin 2[E{0]L 7|2 2A1E.
3) #23|72| tele mm €.

4) 1N = 0.102kgf

SAMICK | 211



SUS SERIES {8 HE= 2|L|0{24(LME-SUS)

02| £ : Stainless Steel
BALL : Stainless Steel
—02lHI0|H MY (RHE)

Blank | Resin (£=Z|A])

A | Steel (B£H)

212| SAMICK



SUS SERIES S B2 2|L/ 024 (LME-SUS)

LMEK F

-
=5
(]
o
=
o
c
<
3 yger | D L | o AN S
—o | H|Pco| K | d || b |FFE gg P
» o | OSSR Isign| e | ¥ x| = | O
esin tee [ mm i) mm i mm (mrt1) © o)
LMEKOSUU-SUS | LMEKOS-SUSA| 8 16| 0 |25 R 5124 25(34]65(32) 12 | 260 | 400 | 4 | 44
+0.008| | 0.008 |
0
LMEK12UU-SUS | LMEK12-SUSA| 12 2| (x| |« 6(32(32(45] 8 [42] 12 | 410 | 590 | 4 | 86
0009 |02 |
LMEK16UU-SUS | LMEK16-SUSA| 16 2% 36 46 _002 61361350458 42| 12 | 770 |1170] 5| 120
40,009 R
-0,001
LMEK20UU-SUS | LMEK20-SUSA| 20 2 15 54 8 (43|42 |55(95(52| 15 | 860 [1370| 5 | 184
0
0011
LMEK25UU-SUS | LMEK25-SUSA| 25 +88811 40 58 _83 62 8|51 /50/55/95/52| 15 | 980 |1560| 6 | 335

Z1) S4H5IE2 50kme Y ALY J|FO2 AAkst
100kmS 71£22 & 32 HO| SYHINS U2 12622 LI=0 718 + Q3.
of) LMEK122] 50km 7|& S324st& C=410N

LMEK129] 100km 7|2 S 2512 Cioo=410/1.26 = 325.40N
2) 2= Resin 2lE[0]H 7|& 2A1Y.
3) 22|59 HlE mm Y.

4) 1N = 0.102kgf

SAMICK | 213



SUS SERIES {8 HE= 2|L|0{24(LME-SUS)

LME

o 33Yo| 7Y

LMEK 20 L UU-SUS Al

/
. 4/

y

214| SAMICK

0715 QYUBZE Ao| 243 2247 2L o2y
OUIHAZB(LMAIZE A7) MY
o2lLiolRY 2%
0124 Y
Blank | & 8IS
w | ¥4
u |Hs4

o e2HoH M AE)

00F2£2|E 242 (Stainless Steel)
SUS - OFR&2|E 22 (Stainless Steel)

Blank

Resin (£=2|A))

A

Steel (5A)




SUS SERIES S B2 2|L/ 024 (LME-SUS)

LMEK_

C
=}
oD
Q
=
o
c
S
2 weEE | D L D, 3530 5
AlZF [=pT &)
HIPCD| K | d, | d, | h ;(“E) £Y "(71})
e AL A LT $0) | g gz O
€sin € em)| om) ™ mm) (™™ mm) ™™ (mm) @ | (o)
LMEKOSLUU-SUS | LMEKOSL-SUSA| 8 16 O |4 32 5(24125(34(65(32] 15 | 430 | 780 | 4 | 53
+0.009| | 0.009 |
-0.001
LMEK12LUU-SUS | LMEK12L-SUSA| 12 2 . 57 . 42 6|32(32(45| 8 [42] 15 | 650 | 1200 4 | 100
001 103] | ¢
LMEK16LUU-SUS | LMEK16L-SUSA| 16 oo 26 70 46| o, |6]3635]45) 8 42| 15 | 1230|2350 5 | 187
+0. :
-0.001 |
LMEK20LUU-SUS | LMEK20L-SUSA| 20 32 80 54 8|43 |42(55(95(52| 17 | 1400 | 2750 | 5 | 260
0
+0013| . | 0013 0
LMEK25LUL-SUS | LMEK25L:SUSA | 25 | 7 021 40 12 o4 |62 8|51|50(55[95(52| 17 | 1560 |3140| 6 | 515

1) SYH5tE2 50kmo| YH+Y 7122 Abtet
100kmS 71£22 & 32 HO| SYHIIS U2 12622 LI=0 718 + Q3.
0f) LMEK12L2| 50km 7|& S &3t C = 650N
LMEK12L2] 100km 7|2 S4 251 Cioo=650/1.26 =515.87N
2) 2= Resin 2[E{0]L 7|2 2A1E.
3) #2370l tele mm €.

4) 1N = 0.102kgf

SAMICK | 215



SUS SERIES {8 HE= 2|L|0{24(LME-SUS)

o 33Yo| 7Y

()

LMEFP 20 UU - SUS A

216| SAMICK

071F  YBEE Y o S| 2|L0 24
OUHAE(LMAILE 21H) MY
024 MY
Blank | & gle
W[ y=A
U |m24
02| £ : Stainless Steel
BALL : Stainless Steel
- e2/H ol M (RHE)
Blank | Resin ($2[4))
A | Steel (2&4)




LMEFP

SUS SERIES S B2 2|L/ 024 (LME-SUS)

g4 LixHE D L D, HA5IS(N)
A1ZF o7
PCD| dy | | h sl — g9 T(”})
. G | O | BRI EEA 02| 5183 Rtk E I
(mm)| (mm) (mm) | mm (mm) @ | (Co
LMEFPOSUU-SUS | LMEFPOS-SUSA | 8 16| 0 1253 24 134(65(32| 12 | 260 | 400 | 4 | 44
+0.008| | 0008
0
LMEFP12UU-SUS | LMEFP12-SUSA | 12 2 ) 2|2 321458 (42| 12 | 410 |59 | 4 | 86
-0.009 0
LMEFP16UU-SUS | LMEFP16-SUSA | 16 26 36 |46 36 (45| 8 (42| 12 | 770 [1170| 5 | 120
+0.009 02
-0.001
LMEFP20UU-SUS | LMEFP20-SUSA | 20 32 . 45 | 54 43 (55/95(52( 15 | 860 |1370| 5 | 184
+0.011| | 00
LMEFP25UU-SUS | LMEFP25-SUSA | 25 | oo | 40 58 | 62 51155/95/52| 15 | 980 | 1560 6 | 335
Z1) SHASIE 2 50kmo| HAELT 7|20 AAtst
100kmE 7|22 & 22 HO| SYZolE a2 12622 L0 & 4+ U8,

0fl) LMEFP122] 50km 7|
LMEFP129] 100km 7|
2) R Resin 2|E0|L 7|2 RA|Y.

3) F2|50| Hele mm ¢,

4) 1N = 0.102kgf

25375

= EHA

T ocon

ts C=410N
5t Cioo=410/1.26 = 325.40N

SAMICK |217

=
>
o
1}
=
o]
c
[0
=
>
«Q




SUS SERIES {8 HE= 2|L|0{24(LME-SUS)

o 33Yo| 7Y

LMEFP 20 L UU-SUS A

0J|F  RHEE dY OIYs S| 2[L[0jRY
Al

218| SAMICK

LT= ()
Blank | & 2=
uu =4
REEE

02| & : Stainless Steel
BALL : Stainless Steel

— OcfHo]H Y ()

Blank | Resin (4=2|A))
A | Steel (2&4)




SUS SERIES S B2 2|L/ 024 (LME-SUS)

LMEFF

=
3
oD
o
=
o
c
<
R LiXH D L D, YAHIZ(N) 2
A7 [=§11E)
2| HI|PCD|d,|d,| h ;(“E) £2¢ T(H})
Resi Steel d. | S8R | | 583 |£03| 5183t R
esin €€ (mm)| (mm) mm (mm) | mm mm (mm) Q) | (Co)
LMEFPOSLUU-SUS | LMEFPOSL-SUSA | 8 TAAEE 515/ 24(34(65/32) 15 | 430 | 780 | 4 | 53
+0,009| | 0009
-0.001
LMEFP12LUU-SUS | LMEFP12L-SUSA | 12 2 . 57 |42 6632045 8 42| 15 | 650 [1200] 4 | 100
-0.011 0
LMEFP16LUU-SUS | LMEFP16L-SUSA | 16 oo 26 70 46| o, | 6|6|36|45]8|42| 15 | 1230|2350 | 5 | 187
+ A .
-0.001
LMEFP20LUU-SUS | LMEFP20L-SUSA | 20 32 80 |54 818(43/55/95(52| 17 | 1400 {2750 | 5 | 260
0
0013 | 0013
LMEFP25LUU-SUS | LMEFP25L-SUSA | 25 | o> 40 112 |62 8/8|51(5595/52| 17 | 1560 |3140| 6 | 515

21) SHAZS 50kme FZALY 7|ROZ Artet
100kmE 7|22 & F2? HO| Y ZHots S 1.262% LI 71 £+ U3,
of) LMEFP12L9| 50km 7|2 S8 Z5tE C = 650N

LMEFP12L2| 100km 7|& &4 Z3tE Cioo=650/1.26 =515.87N
2) 2= Resin 2lE0]H 7|& 2A1Y.
3) £2|42| tele mm Y.
4) 1N = 0.102kof

SAMICK | 219



SUS SERIES {8 HE= 2|L|0{24(LME-SUS)

LMEKF

02| £ : Stainless Steel
BALL : Stainless Steel
———eZHolH ME®AE)

Blank | Resin (£Z|A])

A | Steel (2&4)

220| SAMICK



SUS SERIES S B2 2|L/ 024 (LME-SUS)

LMEKF

=
=}
oD
Q
=
o
c
s
a Weed | D | L | D A3 3
bibi] o2
¢ H|PCD| K | d, | dy| b | 55= gy
e o | OSSR 583 02| lsien *m) | a7 | (O
&sin 153 (mm)| (mm) mm (mm) | mm mm (mm) (@ | (Co)
LMEKPOSUU-SUS | LMEKPOS-SUSA | 8 6] O 125132 5|5|24(25/3465/32] 12 | 260 | 400 | 4 | 44
+000g| | "0.008
0
LMEKP12UU-SUS | LMEKP12-SUSA | 12 2 . 32 |42 6|6|32/32(45/ 8|42 12 | 410 | 590 | 4 | 86
-0.009 0
LMEKP16UU-SUS | LMEKP16-SUSA | 16 o000 26 36 (46| o, | 6636|3545 8 (42| 12| 770 |1170| 5 | 120
+0. .
-0.001
LMEKP20UU-SUS | LMEKP20-SUSA | 20 2 45 |54 8|8/|43[42(55/95/52| 15 | 860 |1370| 5 | 184
0
+0011| | 001
LMEKP25UU-SUS | LMEKP25-SUSA | 25 |7, o, |40 58 | 62 818|51/50(5.5/95(52| 15 | 980 |1560| 6 | 335

1) SYH5tE2 50kmo| YH+Y 7122 Abtet
100kmS 71£22 & 32 | SYH3IS U2 12622 LI=0 718 + Q3.
of) LMEKP122] 50km 7|2 SZ25t2 C=410N
LMEKP122| 100km 7|2 SZ2{51% Cioo=410/1.26 = 325.40N
2) 2= Resin 2[E{0]L 7|2 2A1E.
3) #2370l tele mm €.

4) 1N = 0.102kgf

SAMICK | 221



SUS SERIES {8 HE= 2|L|0{24(LME-SUS)

LMEKF

071 QUEZE 23 T2z 2ojA
A 24

LT= ()
Blank | & 2=
uu =4
REEE

02| £ :Stainless Steel
BALL : Stainless Steel

- @2lH|0lH HE RE)

Blank | Resin (5=2|A))
A | Steel (54

222| SAMICK



LMEKF

SUS SERIES S B2 2|L/ 024 (LME-SUS)

L
=}
oD
Q
=
o
c
S
Y B Fraks D L D, HAtEIN) 2
27t g |oym
PCD| K | d,|d, | h AA% 5 W
5123 sleat |+ 5193 () | ez gz | B | (0F)
Resin Steel dr. | 5182t mm 5182} |£0.3 mm o182t sag | 844
(mm) | (mm) (mm) | mm (mm) (@ | (Co)
LMEKPO8LUU-SUS | LMEKPO8L-SUSA | 8 16 0 45 |32 24 125|3.4165(32] 15 | 430 | 780 | 4| 53
+0009| 0009
-0.001
LMEKP12LUU-SUS | LMEKP12L-SUSA | 12 22 0 57 |42 32132145 8 (42| 15 | 650 [1200(4 | 100
0011 0
LMEKP16LUU-SUS | LMEKP16L-SUSA | 16 001" 26 70 | 46 02 36 135|458 (42 15 | 1230 |2350| 5| 187
+0, :
-0.001
LMEKP20LUU-SUS | LMEKP20L-SUSA | 20 32 0 80 | 54 43 142155(95(5.2| 17 | 1400 |2750|5 | 260
+0013| 0013
LMEKP25LUU-SUS | LMEKP25L-SUSA | 25 -O'OOZ 40 112 | 62 51 150(5.5|9.5(5.2| 17 | 1560 |3140| 6 | 515
21) EHHSEL 50km2| HH4Y T|FOR AN

100kmE 7|22 & 22 HO| 3YA5IE ¢S 1.2622 L0 18 + AUS.
of) LMEKP12L2] 50km 7| S4#5t= C = 650N
LMEKP12L2| 100km 7|2 S A5} Cioo=650/1.26 =515.87N
2) 2= Resin 2lE0]H 7|& 2A1Y.
3) F22|40] tls mm ¢,

4) 1N = 0.102kgf

SAMICK | 223



SUS SERIES {8 HE= 2|L|0{24(LME-SUS)

224| SAMICK

02| £ : Stainless Steel
BALL : Stainless Steel
——02[H0|4 MY (ZHE)

Blank

Resin (£=2|2))

A

Steel @5A)




SUS SERIES S B2 2|L/ 024 (LME-SUS)

LMEF

C
=}
oD
Q
=
o
c
s
Y LiH A D L D, A453(N) 2
AlZF =5 =)
¢ | HIPcD| d, | d, | h ;(“E) = Tﬂ)
Res el | O | BER | IS8 03] - isEw s Wy =) 0
&sin ee (mm)| (mm) mm (mm) | mm mm (mm) @ | (Co)
LMEFMO8UU-SUS | LMEFMO8-SUSA | 8 16 O 1453 20|5|24(34(65/32| 15 | 430 | 780 | 4 | 53
+0,009 | | 0009
-0.001
LMEFM12UU-SUS | LMEFM12-SUSA | 12 2 . 57 | 42 255/ 6 (32 45 8(42] 15 | 650 | 1200 4 | 100
-0.011 0
LMEFM16UU-SUS | LMEFM16-SUSA | 16 oor 26 70 46| o, |32|6|36|45| 8 |42| 15 | 1230 | 2350 | 5 | 187
+0. .
-0,001
LMEFM20UU-SUS | LMEFM20-SUSA | 20 32 80 | 54 36|8|43(55(9.5(52| 17 | 1400 | 2750 | 5 | 260
0
40013 | 0013
LMEFM25UU-SUS | LMEFM25-SUSA | 25 | "> | 40 12| 62 5218 (51(55/95/52| 17 | 1560 |3140 | 6 | 515

1) SYH5tE2 50kmo| YH+Y 7122 Abtet
100kmS 71222 & 32 HO| SYH3IS U2 12622 LI=0 718 + Q3.
0f) LMEFM122] 50km 7|2 SE#3tS C = 650N
LMEFM129] 100km 7|2 S 251% Cio=650/1.26 = 515.87N
2) 2= Resin 2[E{0]L 7|2 2A1E.
3) #23|72| tele mm €.

4) 1N = 0.102kgf

SAMICK | 225



SUS SERIES {8 HE= 2|L|0{24(LME-SUS)

di

1€000000000511(000000000651 |

1

()
UYHo| 14
LMEKM 20 UU -SUS A
/| wEEE 4 S SHUA| 2|L0FY
UEHE(LMAIZE 23) 43
24 MY
Blank | & 8IS
w | ¥4
u |Hsd

Q| £ : Stainless Steel
BALL : Stainless Steel
2[gfolH ME(AHZ)

Blank | Resin (£=Z|A|)

A | Steel (54

226| SAMICK



LMEK

SUS SERIES S B2 2|L/ 024 (LME-SUS)

g LiHeA D L D, HAsIS(N)
212t oy
¢ |H[PCD K |4, |dy| b |55= 2y ™
. 2195+ cEe 0m) | x| 2g244 (9)
Resin Steel d. |58t mm 5182t 03 mm 518t S'oq °4
(mm)| (mm) (mm) | mm (mm) (@ | (Co)
LMEKMO8UU-SUS | LMEKMO8-SUSA | 8 16| 0 45 132 20 24 125|34(65(32| 15 | 430 | 780 | 4 | 53
+0009| | 0009
-0.001
LMEKM12UU-SUS | LMEKM12-SUSA | 12 22 0 57 (42 255 3232|458 |42 15 | 650 |1200| 4 | 100
0,011 0
LMEKM16UU-SUS | LMEKM16-SUSA | 16 0011 26 70 | 46 02 32 36 135|458 |42 15 | 1230 | 2350 | 5 | 187
+ A .
-0.001
LMEKM20UU-SUS | LMEKM20-SUSA | 20 32 0 80 | 54 36 43 142(55(95(52| 17 | 1400 | 2750| 5 | 260
+0013| 0013
LMEKM25UU-SUS | LMEKM25-SUSA | 25 -0.002 40 112 |62 52 51 (501(55|95/52| 17 | 1560 |3140| 6 | 515
21) SHASIZL S0kmo| HA4Y 7202 AN,
100kmE 7|22 & ¢ HO| SZA5E ¢S 1.262= LIF0| 78 4+ QUS.
0fl) LMEKM129| 50km 7|2 sd4ot= C= 650N
LMEKM122] 100km 7|2 S425t= Cioo=650/1.26 =515.87N
2) 2= Resin 2lE0]H 7|2 A Y.
3) F22|2| Hel= mm ¢

4) 1N = 0.102kgf

SAMICK |227

=
>
o
1}
=
o]
c
[0
=
>
«Q




228| SAMICK



229

SUS SERIES ¢=1]% Ao|& FYE(SC, SCE-SUS)

¥
O
=
q
)



SUS SERIES 250|& #|0|2 FLE(SC, SCE-SUS)

A s
4-SiX | W
2 RE
(©)
T
4-S

SC 20 UU N -SUS A

230| SAMICK

LRI (MALE 2(2) 13
24 MY

Blank | 4 S

W | o=A

U | m24

New type(OFA|OEIY S5
Q| & : Stainless Steel

BALL : Stainless Steel
2l&i|ojH ME (2HE)

Blank | Resin (£=2[A))

A | Steel (2&4)




SUS SERIES 2= 0|5 #|0|2 FLE(SC, SCE-SUS)

go YHAE0)
2
L/B h|D|W|H|[G|A|J|E| Sxt S, | K| L )
, sy 33y | (o
Resin Steel © (Co)

SCO8UU-SUS | SCO8-SUSA | LMBUU-SUS | 11 {17 |34 122 |18 | 6 |24 | 5| M4x8 | @34 | 18 | 30 | 260 400 56

SC10UU-SUS | SC10-SUSA |LMTOUU-SUS| 13 1 20 |40 [ 26 | 21| 8 |28 | 6 | M5x12 | @43 | 21 | 35 | 370 540 90

SC12UU-SUS | SC12-SUSA |LM12UU-SUS| 15 | 22 | 44 | 30 |245| 8 |33 | 55| M5x12 | @43 | 26 | 39 | 410 590 | 112

SC12UUN-SUS|SC12N-SUSA [LM12UU-SUS| 15 | 21 | 42 | 28 | 24 | 7.4 1305|575 M5x12 | @43 | 26 | 36 | 410 590 | 112

SC13UU-SUS | SC13-SUSA |LM13UU-SUS| 15 | 22 | 44 | 30 |245| 8 |33 | 55| M5x12 | @43 | 26 | 39 | 500 770 | 123

SC16UU-SUS | SC16-SUSA |LM16UU-SUS| 19 | 25 | 50 385|325 9 | 36| 7 | M5x12 | @43 | 34 | 44 | 770 | 1170 | 189

SC20UU-SUS | SC20-SUSA |LM20UU-SUS| 21 | 27 | 54 | 41| 35|11 |40| 7 | Mex12 | @52 | 40 | 50 | 860 | 1370 | 237

SC25UU-SUS | SC25-SUSA |LM25UU-SUS| 26 | 38 | 76 |51.5| 41 | 12 | 54 | 11| M8x18 | @68 | 50 | 67 | 980 | 1560 | 555

21) SEHSS2 50kme| Y 7|22 2 ALkt
100kmE 7|22 & 22 HO| 3YA5IE ¢S 1.2622 L0 18 + AUS.
of) SC129| 50km 7|& 5&25tE C=410N
SC129| 100km 7|12 S A2 Cioo=410/1.26 = 325.40N
2) —.—71| Resin 2|Ef|0]H 7|2 AL,
3) F22|2| Hel= mm ¢
4)1N 0.102kgf
5) Steel 2|Ef|0|L44& SCO8~SC252 Tt

SAMICK | 231



SUS SERIES 250|& #|0|2 FLE(SC, SCE-SUS)

4-51 X ¢ W Lw

o 33Yo| 7Y

SC 20 W UU -'SUS A

07| €20 oA RLIE

OUZHE(LMAIZE 2 F) MY
053 (5138)
024 MY
Blank | & 2=
| %24
U H=A

02| £ : Stainless Steel
BALL : Stainless Steel

e 2golH MY @)

Blank | Resin (£2|4))
A | Steel @54

232| SAMICK



SUS SERIES 2= 0|5 #|0|2 FLE(SC, SCE-SUS)

[

=5

(]

o

=

o

c

wn

E: = =

e AHEHZN) c
o
L/B h|{D/W|H|G|A|J|E| Sx¢ S, Ky | Ly s
Resi Stee sy wyn |

- - © | (©

SCOBWUU-SUS | SCO8W-SUSA | LM8U-SUS x 2

—
—
—
-

3412211816 |24| 5| M4x8 | @34 | 42 | 58 | 410 800 94

SC10WUU-SUS | SC1OW-SUSA |LM10U-SUS x 2

—

312014012621 |8 |28| 6 | M5x10 | @43 | 46 | 68 | 590 | 1080 | 147

SC12WUUN-SUS | SC12WN-SUSA | LM12U-SUS x 2

—

5|22|44]30|245| 8 |33|55| M5x10 | @43 | 64 | 77 | 650 | 1180 | 220

SC13WUU-SUS | SC13W-SUSA |LM13U-SUS x 2

SN

5(22|44|30|245| 8 |33|55| M5x10 | @43 | 64 | 77 | 800 | 1540 | 245

SC16WUU-SUS | SC16W-SUSA |LM16U-SUS x 2

—

9125]50385(325( 9 |36| 7 | M5x12 | @43 | 79 | 89 | 1230 | 2340 | 376

SC20WUU-SUS | SC20W-SUSA |LM20U-SUSx 2|21 |27 | 54| 41| 35| 11|40 | 7 | Méx12 | @5.2 | 90 | 100 | 1370 | 2740 | 476

SC25WUU-SUS | SC25W-SUSA |LM25U-SUSx 2|26 | 38 | 76 |51.5( 41 | 12/{ 54 | 11 | M8x18 | @6.8 | 119 136| 1560 | 3120 | 1115

31) SYHotE2 50kme| AT 7|E22 A Lket,
100kmE 7|22 & F2? HO| Y ZHots S 1.262% LI 71 £+ U3,
off) SC12W2| 50km 7|& 5d435tS C=650N
SC12W2] 100km 7|& 5845tS Cioo=650/1.26 =515.87N
2) fAe Resm 2|Efjo]H 7|& SAY.
3) F22|2| Hel= mm ¢
4) 1N = 0.102kgf
5) Steel 2|80|4= SCO8W~SC25WEt 7Hs

SAMICK | 233



SUS SERIES 250|& #|0|2 FLE(SC, SCE-SUS)

0 3=
4-S1 X 4 W ‘ Lw

KWiO,Z

<

(O]
T

4-S, i

L——- Grease nipple

o 33Yo| 7Y

SC 20 W UU N -'SUS A

07| €20 oA RLIE

OUHHE(MAIEE 21 H) MY
0SY(I5HER)
0 NFH MY
Blank | 4 gle
| %24
U Hz4

ONew type(OFA|OIEIR] S5t
02| £ : Stainless Steel
BALL : Stainless Steel
——02[H 0|4 MY (AE)
Blank | Resin (£2[4))
A | Steel (54

234| SAMICK



SUS SERIES &=0E 0|2 FUE

(SC, SCE-SUS)

Ehl HASIS(N)
:l;.ll-?-z)
LB h|{D I WIH[G|A|J |E| Sxt | S |Kyl|ly T(f)
ot Steel S Ay | Y
esin ee (C) (CO)
SCO8WUUN-SUS | SCOBWN-SUSA | LM8U-SUSx2 | 11 {17 | 34122 | 18| 6 |24 | 5 | M4x8 | @34 |42 | 58| 410 800 94
SC10WUUN-SUS | SCTOWN-SUSA [LM10U-SUSx 2| 13 {20 | 40 |26 | 21| 8 |28 | 6 | M5x12 | @43 | 46 | 68 | 590 1080 147
SC12WUUN-SUS | SC12WN-SUSA [LM12U-SUSx 2| 15| 21 | 42 | 28 | 24 | 7.4 |305/5.75| M5x12 | @43 | 50 | 70 | 650 1180 | 220
SC13WUUN-SUS | SC13WN-SUSA [LM13U-SUS x 2| 15 | 22 | 44 | 30 |245| 8 |33 |55|M5x12 | @43 |50 | 75| 800 | 1540 | 245
SC16WUUN-SUS | SC16WN-SUSA |LM16U-SUSx 2| 19 | 25 | 50 [385/325 9 |36 | 7 | M5x12 | @43 | 60 | 85| 1230 | 2340 | 376
SC20WUUN-SUS | SC20WN-SUSA |LM20U-SUSx 2| 21 | 27 | 54 | 41 |35 | 11 |40 | 7 | M6x12 | @52 | 70 | 96 | 1370 | 2740 | 476
SC25WUUN-SUS | SC25WN-SUSA |LM25U-SUS x 2| 26 | 38 | 76 515 41 | 12 | 54 | 11 | M8x18 | ©6.8 |100(130| 1560 | 3120 | 1115
Z1) 84otE2 50km2| JA4Y 7|Fo= A Akst
100kmE 7|202 & 2L HO| SHHGIE 42 1.2622 LIF0| & 4+ U8,
0f) SC12WN2| 50km 7|& 5245 C = 650N
SC12WN2| 100km 7|& EHZH3IZ Cio=650/1.26 =515.87N
2) FA= Re5|nE|E1|0|'-‘|7| 2AY.
3) £22|40] tlE mm ¢
4) 1N = 0.102kgf
5) Steel 2|E|0|H= SCO8WN~SC25WNEH 7Hs

SAMICK | 235

=
>
o
1}
=
o)
c
[0
=
>
«Q




SUS SERIES 250|& #|0|2 FLE(SC, SCE-SUS)

0 A3
4-SiX | W
E Ly
- TEY AT b
— < i
o o
- T T
]
P
|
4-Sp

o 33Yo| 7Y

SC 20 V UU N-SUS A

07| €20 oA RLIE

OUIHAB(LMAIZE 213) 1Y

0ZHEY

o nRE MY
Blank | &8I
W | ¢=4
u |H24

®New type(OFA|OEIY 2&t)

02| £ : Stainless Steel
BALL : Stainless Steel

——e2HolH MY (&)

Blank | Resin (£=A|4|)

A | Steel @5A)

236| SAMICK



SUS SERIES 2= 0|5 #|0|2 FLE(SC, SCE-SUS)

i B30
A
L/B h|D|W|H|G|A|J|E| Sxt S, "
Resi Stee sy | gy | (O
- . © Co)

SCO8VUU-SUS | SCO8V-SUSA | LMBUU-SUS | 11 |17 134122 | 18| 6 [ 24| 5 | M4x8 | @34 | 154 | 260 400 36

SC10VUU-SUS | SC10V-SUSA | LM10UU-SUS | 13 |20 [ 40 | 26 | 21| 8 |28 | 6 | M5x10 | @43 | 195 | 370 540 63

SC12VUU-SUS | SC12V-SUSA | LM12UU-SUS | 15 | 22 | 44 | 30 |245] 8 |33 | 55| M5x12 | @43 | 205 | 410 590 74

SC12VUUN-SUS | SC12VN-SUSA | LM12UU-SUS | 15 | 21 | 42 | 28 | 24 | 7.4 |305|575| M5x12 | @43 | 205 | 410 590 74

SC13VUU-SUS | SC13V-SUSA | LM13UU-SUS | 15 | 22 | 44 | 30 |245| 8 |33 | 55| M5x12 | @43 | 205 | 500 770 85

SC16VUU-SUS | SC16V-SUSA | LM16UU-SUS | 19 | 25 | 50 |385(325| 9 | 36| 7 | M5x12 | @43 | 235 | 770 170 | 132

SC20VUU-SUS | SC20V-SUSA | LM20UU-SUS | 21 | 27 | 54 | 41| 35|11 40| 7 | Mex12 | @52 | 274 | 860 1370 | 170

SC25VUU-SUS | SC25V-SUSA | LM25UU-SUS | 26 | 38 | 76 |51.5( 41 | 12 | 54 | 11 | M8x18 | 6.8 | 374 | 980 1560 | 405

21) SEHSS2 50kme| Y 7|22 2 ALkt
100kmE 7|22 & 22 HO| 3YA5IE ¢S 1.2622 L0 18 + AUS.
of) SC12ve| 50km 7|& s&Asts C=410N
SC12V 2| 100km 7|2 SAAHE= Cioo=410/1.26 = 325.40N
2) —.—71| Resin 2|Ef0]H 7|& A Y.
3) F22|2| Hel= mm ¢
4) 1N = 0.102kof
5) Steel 2|Ef|0|L4= SCO8V~SC25VEt 7ts

ol

SAMICK | 237



SUS SERIES 250|& #|0|2 FLE(SC, SCE-SUS)

SCJ

238| SAMICK

07/ : 220)5 H0|A RLE(ZHE)
HUB(MAEZE 217) 43

Blank | & gle
EEE
u |Hs8
02| £ : Stainless Steel
BALL : Stainless Steel
0 gH|o|Hq MY RE)
Blank | Resin (£=2|A))
A | Steel (B&H)




SUS SERIES 2= 0|5 #|0|2 FLE(SC, SCE-SUS)

L

=}

oD

Q

=

w

c

: : 2
_oﬁ %‘aa}%(N) M " 5
B h|{D/W|H|G|A|J|E| Sxt |[K|L|M AF_HE%FZ) =

. L f EXNAT| HMA o | (@
Resin Steel Seoli | ©o5 | oA
@ | ()

SCITOUU-SUS | SCJ10-SUSA | LMTOUUAJ-SUS |13 20|40 |26 | 21| 8 |28 | 6 |M5x12 |21 |35|M4| 370 | 540 | ¢10 | 90

SCI12UU-SUS | SCI12-SUSA | LMT2UUAJ-SUS | 15|21 |42 | 28 | 24 | 7.4|305|5.75| M5x12 | 26 | 36 [M4| 410 | 590 | 12 | 112

SCI13UU-SUS | SCI13-SUSA | LM13UUAJ-SUS | 15|22 | 44| 30 |245| 8 | 33 | 55| M5x12 | 26 |39 [M4| 500 | 770 | 13 | 123

SCI16UU-SUS | SCI16-SUSA | LM1T6UUAJ-SUS | 19| 25|50 385|325 9 | 36| 7 | M5x12 |34 |44 |M4| 770 | 1170 | ¢16 | 189

SCI20UU-SUS | SCI20-SUSA | LM20UUAJ-SUS | 21|27 |54 |41 |35 11|40 | 7 | M6x12 |40 |50 |[M5| 860 | 1370 | ®20 | 237

SCI25UU-SUS | SCI25-SUSA | LM25UUAJ-SUS |26 | 38 | 76 |51.5| 41 | 12| 54 | 11 | M8x18 | 50 | 67 [M6| 980 | 1560 | ®25 | 555

1) 445832 50km2| A, 7|22 ALt
100kmE 7|22 & F2? HO| Y ZHots S 1.262% LI 71 £+ U3,
off) SCJ122] 50km 7|E 58 45S C=410N
SCJ129] 100km 7|2 588A5HS Cloo=410/1.26 = 325.40N
2) fAe Resm 2|Efjo]H 7|& FAIY.
3) F22|2| Hel= mm ¢
4) 1N = 0.102kgf
5) Steel 2|H|0|4H= SCJ10~SCJ252t 7Hs

SAMICK | 239



SUS SERIES 20| #|0|~ FLIE(SC, SCE-SUS)

SBR ALUMINUM

0 2|
4-S:X1 M
KiO.E
| |
I % I % I % Il
1k I
wi == | ==
o |
f | I
|
o M| T
SBR 20 UU - SUS
07|F : ¢=0|E AHo|A RUECHLH)
O LYY E(LMAIEE 2 F) MY
0194 MY
[ WU [e=a®

240| SAMICK

02| £ : Stainless Steel
BALL : Stainless Steel
CESVIE

IEERS

% 1) 228 2|Loje4e W
No seal & T2 EfQI2 43517 o

50
>
-
Iul



SBR ALUMINUM

SUS SERIES 2= 0|5 #|0|2 FLE(SC, SCE-SUS)

r
3
D
(3]
=
o
c
wn
HASIS(N) =.
o =V @
c0 B DI W G0 A M s K T
© (Co)
SBR16UU-SUS |LM16UUOP-SUS| 225 | 45 33 | 80° 9 45 | M5x12 | 11 20 32 30 770 1170 150
SBR20UU-SUS |LM20UUOP-SUS| 24 | 48 39 | 60° | M 50 | Mex12 | 11 23 35 35 860 1370 | 200
SBR25UU-SUS |LM25UUOP-SUS| 30 60 47 1 50° | 14 65 | Mex12 | 12 27 40 40 980 1560 | 450
21) SHASE2 50km2| HHLH 7|20 2 At

100kmE 7|202 & A2 HO|
oll) SBR162| 50km 7|

SBR162| 100km 7|

2 A

T—SoA

=
z 537

2) 27 Resin 2[E0]H 7|2 2AY.

3) F2|50] Hele mm g,

4) 1N = 0.102kgf

=Y HG}

[SN el

52 C=770N

=
S

2/S 12692 LE=0] 28t 4 QIS

5t& Cio=770/1.26=611.11N

SAMICK | 241



SUS SERIES 250|& #|0|2 FLE(SC, SCE-SUS)

0 3r
W
JtO.? 4_81 M
Il 1 Il
<t [T
) L
S

071% : 2205 012 SLECHSE)
HUB(LMAEE 37) 43

[ WU [a=a®

02| £ : Stainless Steel
BALL : Stainless Steel
CESVIE

EREES

L g

% 1) 228 2L0jEAR uU
No seal & =4 Bt 2 AlSot2| O

242| SAMICK



SUS SERIES 2= 0|5 #|0|2 FLE(SC, SCE-SUS)

L

=}

(0]

Q

=

o

c

) <

EE ) ) 5

» A7 e
=L /B DWGGAMS1h1EJK%§7_4|¢n;g;g7_4I(gf)

@ (Co)

TBR16UU-SUS |LM16UUOP-SUS| 31 | 62 | 26 | 80° | 8 | 42 M5 1118 | 50 | 30 392 490 180

TBR20UU-SUS |LM20UUOP-SUS| 34 | 68 | 31 | 60° | 10 | 51 M6 " 21 | 54 | 37 784 1176 300

TBR25UU-SUS |LM25UUOP-SUS| 41 | 82 | 41 | 50" | 12 | 65 | M8 12 1 28 | 65 | 50 1568 2352 600

TBR30UU-SUS |LM30UUOP-SUS| 455 | 91 | 48 | 50° | 12 | 75 | M8 15 1 34 | 75 | 60 1764 2940 | 900

1) SYH}S2 50km2| AHLY 7|22 AHAs
100kmE 7|22 & 22 HO| 3YA5IE ¢S 1.2622 L0 18 + AUS.
0fl) TBR16UU2| 50km 7|2 5dZstE C = 392N

TBR16UUS| 100km 7|& SA A= Cioo=392/ 1.26 = 325.40N
2) 2= Resin 2lE0]H 7|& 2A1Y.
3) F22|99 HlE mm .

4) 1N = 0.102kgf

SAMICK | 243



SUS SERIES 250|& #|0|2 FLE(SC, SCE-SUS)

|AE
4-SiX |
<
r =
(O]
T
4-Sp

s2yWo| 7Y

SCE 20 UU -SUS A

244| SAMICK

£Q
ojo

Blank

uu

rEoQ|ux
| N

x| uE

U

Q| £ : Stainless Steel
BALL : Stainless Steel
2[gfolH ME(AHZ)

Blank | Resin (£=A|4))

A | Steel 35A)




SUS SERIES 2= 0|5 #|0|2 FLE(SC, SCE-SUS)

ook
re
ox
ay
ol
oy
=

=
>
1]
)
=
o]
c
[0
=
>
«Q

27
L/B h|D/W|H|G|A|J|E|Sxt | S | K| L
%7&-!741’-1) A (af)

Resin Steel © C

SCEO8UU-SUS | SCE08-SUSA | LMEBUU-SUS | 11| 17 |34 122 |18 | 6 |24 | 5 | M4x8 | @34 | 18 | 30 | 260 400 60

SCE12UU-SUS | SCE12-SUSA |LME12UU-SUS| 15| 22 | 44 | 30 |245| 8 |33 |55|M5x10| @43 | 26 | 39 | 410 590 118

SCE16UU-SUS | SCE16-SUSA |LMET6UU-SUS| 19 | 25 | 50 |385(325| 9 |36 | 7 [M5x12| @43 | 34 | 44 | 770 | 1170 | 180

SCE20UU-SUS | SCE20-SUSA |LME20UU-SUS| 21 | 27 | 54 | 41| 35|11 | 40| 7 |Méx12| @52 | 40 | 53 | 860 | 1370 | 245

SCE25UU-SUS | SCE25-SUSA |LME25UU-SUS| 26 | 38 | 76 |51.5| 41 | 12 | 54 | 11 |M8x18| @6.8 | 50 | 67 | 980 | 1560 | 550

Z1) SYATIER 50kme| HHLY 7[F02 AAS
100kmE 7|22 & F2? HO| Y ZHots S 1.262% LI 71 £+ U3,
0ff) SCE122] 50km 7|& 5d45S C=410N
SCE129] 100km 7|& S&A5FE Cioo =410/ 1.26 = 325.40N
2) fAe Resm 2|Efjo]H 7|& SAY.
3) F22|2| Hel= mm ¢
4) 1N = 0.102kgf
5) Steel 2|80|4= SCE08~SCE252t 7Hs

SAMICK | 245



SUS SERIES 20| #|0|~ FLIE(SC, SCE-SUS)

SCE_W ALUMINUM CASE UNIT LONG-SUS SERIE

0 2|
4-S; X 4 w | Lw
\ Ky 02
- i
S
- T
i ‘ i
S L ! Lid
4-S |

-——- Grease nipple

0|3 RYEE L20|5 A O|A RUE
OUHHE(MAIEE 21 H) MY
05y
024 MY
Blank | &4 2le
W | ¢=4
u |24
02| & : Stainless Steel
BALL : Stainless Steel
———02/Ho|H MY @)
Blank | Resin (£=2|4))
A | Steel (2&H)

246 SAMICK



SUS SERIES &=0E 0|2 FUE

(SC, SCE-SUS)

C
3
oD
o
=
o
c
wn
- cim =
o AN 3
n;.ll-?-z)
L/B h|D|[W|H|G|A|J|[E]| Sxt | S, |Kylly "'(f)
Resi Steel YA 3y | 9
esin ee| (C) CO)
SCEO8WUU-SUS | SCEO8W-SUSA | LMESU-SUSX2 | 11| 17 [ 34|22 |18 | 6 |24 | 5 | M4x8 | @34 |42 |58 | 410 | 800 | 98
SCE12WUU-SUS | SCE12W-SUSA | LME12U-SUSx2 | 15 | 22 | 44 | 30 |245] 8 | 33 |55|M5x10 [ @43 |64 |77 | 650 | 1180 | 232
SCE16WUU-SUS | SCE16W-SUSA | LME16U-SUSx2 | 19 | 25 | 50 [385/325| 9 |36 | 7 | M5x12 | @43 |79 (89 | 1230 | 2340 | 360
SCE20WUU-SUS | SCE20W-SUSA | LME20U-SUSX2 | 21 | 27 | 54 | 41| 35| 11|40 | 7 | M6x12 | @5.2| 90 |106| 1370 | 2740 | 490
SCE25WUU-SUS | SCE25W-SUSA | LME25U-SUSx2 | 26 | 38 | 76 |515| 41 | 12 | 54 | 11 | M8x18 | ¥6.8 [119]136| 1560 | 3120 | 1100
1) Y4152 50kme A4 7|22 ALk
100kmE 7|22 & 22 B S4Zols o= 1.262% LIF0| 18 4~ AUS.
o)) SCE12W2e] 50km 7|& sd4otE C= 650N
SCE12W2| 100km 7|& S4A5t= Cioo=650/1.26 =515.87N
2) FA= ResmEIEﬂOI'-‘I 712 2AY.
3) F22|99| Hel= mm &,
4) 1N = 0.102kgf
5) Steel 2|&|0|H= SCEO8W~SCE25WE 7ts

SAMICK | 247



SUS SERIES 250|& #|0|2 FLE(SC, SCE-SUS)

0 2+E
4-SiX | W
E Lv
« 1% —
- B
© i
- T T
]
]!
:

4-Sp

w0
o
m
N
=]
<
c
o
)
C
2
>

=2
o

40

|H
N

oy Elnq
< H
> MN

ne
m 4
N a
o o
rx
ox

® 0O
|—_JU|:lJ N
40 J8 ox oW
uE m e -

rx e
ox

-
[m

£Q

c
c
rE|oQ|ux

e
UE|uE ojo

02| & : Stainless Steel
BALL : Stainless Steel
- 02/H o] MY(HE)

Blank | Resin (£=2[A))

A | Steel @54

248| SAMICK



SCE_V

SUS SERIES 2= 0|5 #|0|2 FLE(SC, SCE-SUS)

el HAsS(N)
|:|7.||1=-2)
L/B h|D|/W/ H|G|A[J|E| sx& | S |L P
ot Steel SHA| HHAH (gf)
esin tee (C) (CO)
SCE08VUU-SUS | SCE08V-SUSA | LME8UU-SUS | 11 | 17 |34 (22 | 18| 6 |24 | 5 M4x8 @34 144| 260 400 40
SCE12VUU-SUS | SCE12V-SUSA | LMET2UU-SUS | 15 | 22 | 44 | 30 |245| 8 | 33 | 55| M5x10 | @43 |203| 410 590 82
SCE16VUU-SUS | SCE16V-SUSA | LME16UU-SUS | 19 | 25 | 50 [38.5(32.5| 9 |36 | 7 | M5x12 | @43 |223| 770 1170 122
SCE20VUU-SUS | SCE20V-SUSA | LME20UU-SUS | 21 | 27 | 54 [ 41 | 35|11 |40 | 7 | M6x12 | @5.2 [283| 860 1370 176
SCE25VUU-SUS | SCE25V-SUSA | LME25UU-SUS | 26 | 38 | 76 |51.5| 41 | 12 | 54 | 11 | M8x18 | @6.8 |404| 980 1560 400
1) Y4152 50kme A4 7|22 ALk
100kmE 7|22 & 22 B S4Zols o= 1.262% LIF0| 18 4~ AUS.
0fl) SCE12Ve| 50km 7|& =& 4stE C=410N
SCE12V9| 100km 7|& S8 &A5ts Cioo =410/ 1.26 = 325.40N
2) FAe Resm 2lHo]4 7|2 fAIY.
3) 22|49 Hel= mm Y.
4) 1N = 0.102kgf
5) Steel 2|6|0|H+= SCEO8V~SCE25VEt Tts

SAMICK | 249

=
>
1]
)
=
o]
c
[0
=
>
«Q




250/ SAMICK



LMAFZE & AZE &Y FYE

¥
O
=
q
)




LMAKZE & MEE 32 SUE

OMM
a

MEEZIE FLIE

Mo| HEE 2|2 Y3 Y2015 519 RUEY 2Ysi= AEE YD LMAEED| 2510
It BE THESL S0 Y2 B3 5/0f HIBH U AR HEE T3P BIC

3ol 7Y

SBS C gé 30 - 1000

07|Z M MEZE Y RLUE

SBS |SBRHEE MEE U FLE
TBS | TBR J2 MEE 2[Y QUE
OLMAIZE MA(HEHA2)
Blank | %
C AEcZ
N |UE=Z
R | HOIHE H2|

OLMAFZE 23} N A

100~3000mm

252| SAMICK

2 745




LMAKZE & MEE Y SLE

O 4o IMAIZE MZE

IMAFZE MEE= IMAFRE QThS 1Y5t= A|A|THO|C. LR0|E A2 220 0|2
S0 IMAZEZO| Yo 2 Z2tx Y2 NYZE A 25 Safl IMAILES A5

07|12 IMAIZE MZE
SAMICK LMAFZE MEE(¥20|E)
S OLMAEE 21H MY 1 8~40mm

=
=]
]l
=
[m
_O'L
=2

SAMICK | 253

=
5
©
Y
=
v
c
)
=
5
Q@

191Se aping

@9PINYIN

94ad

IUWQONRe101ENI Y

JapunAg oalss

Vvald




LMAFZE & MEE & FLUE

Q}gq LMAFZE

2|01 HE YT LIMAIEES A2t S5otal UCH LMAIZE B0 20| 21y Y250 27| i
2 2|+d =0 Folg BRI UL LMAIRE A2 Of2her 2T,

- A 2 1 SUI2(1EH4 3 F H|01F )
-2t & HC58~64
- E2{2/210] : 0.8~2.5mm
-2 E:085~165
A

-2l 2 £ :0.05mm/300mm

SF C g6 30 - 1000

Blank | %

C |32

N ng EE'L 1)

R O|HE Az2|

035518 22 1Y

g6 | OfAlot BEZE

he |FEEE

s
OLMAIZE 213 1Y

\ 5~80mm

OLMAFEE ZO[ 1Y

\ 100~3000mm

% ) 20[ 1m O|Li

254| SAMICK



=
5
©
Y
=
v
c
)
=
5
Q@

{IMAIZEQ| 7130f>

=gon g2 LMArnE BoolcoEE @B NE
-} _ J

_l J%Jg
LHO oy

SELAES 24 212 7t 7101 &

‘ @ [—= @
) =)

SAMICK | 255



LMAKZE & MEE 32 SUE

0 ATk
| ; i
| Ll
| = i i
i
d»
AN L]
; | ]
C
B
® 23gHo| 1M

SBS

8

c

.96 /30 - 11000

071Z MY MEE Y RUE

OEIYMY

[ SBS | SBRZE AZE URLE

OLMAFZE LAY MY

Blank | £
C A=2cZ
N LA =2
R 2{|0|EHE *42|
OLVALLE 24 518 23 M¥
g6 | OtA|Ot HZE
he | RyEE

256| SAMICK

OLMAIZE 214 MY

16~50mm

o OLMAZE Zo| MY

100~3000mm




LMAFZE & MEE 2|Y RLE

g LMQZI—E E|lh|B | H | T|F|Xx|Y|cCcleoel|s |a]|a]|d (k';;*r'n)
$Bs16 o6 | 20| 25 | 40 |1779| 5 |185| 8 |117| 30 |80 |os5 | 6 | 95 | 55 | 256
$B520 00 |25 27 |45 [1772| 5 | 19| 8 | 10| 30 |50 |os5| 65 | 11 | 66 | 350
$B525 025 |275] 33 | 55 |2143| 6 |215| 8 | 12| 35 | 500 | 066 | 65 | 11 | 66 | 530
$B530 030 | 30 |37 | 60 |2285| 7 |265|103| 13 | 40 | 500 | 066 | 85 | 14 | 9 | 738
8535 035 |325| 43 | 65 |2662| 8 | 28 | 13 |155| 45 | 500 | o9 | 85 | 14 | 9 | 968
$BS40 gd0 |375| 48 | 75 |2043| 9 | 38 | 16| 17 | 55 | 500 | o9 | 85 | 14 | 9 | 1269
8550 050 | 475| 62 | 95 |3879| 11 | 45 | 20 | 21| 70 | 500 | @11 | 125 | 19 | 11 | 2046

| HOR0 | N

°s (mm)

500 | 600 | 800 | 1000 | 1200 | 1400 | 1600 | 1800 | 2000 | 2200 | 2400 | 2600 | 3000

SBS16 3500 | 150 | 25(4) | 75(4) [ 100(5) | 50(7) | 75(8) |25(10) | 50(11) | 75(12) | 25(14) | 50(16) | 75(16) | 25(18) | 75(20)

SBS20 3500 | 150 | 25(4) | 75(4) [ 100(5) | 50(7) | 75(8) |25(10) | 50(11) | 75(12) | 25(14) | 50(16) | 75(16) | 25(18) | 75(20)

SBS25 3500 | 200 | 50(3) | 100(3) | 100(4) | 100(5) | 100(6) | 100(7) | 100(8) | 100(3) [100(10){100(11)|100(12){100(13){100(15)

SBS30 3500 | 200 | 50(3) | 100(3) | 100(4) | 100(5) | 100(6) | 100(7) | 100(8) | 100(9) | 100(10)|100(11){100(12)|100(13)|100(15)

SBS35 3500 | 200 | 50(3) | 100(3) | 100(4) | 100(5) | 100(6) | 100(7) | 100(8) | 100(9) | 100(10)|100(11){100(12)| 100(13)| 100(15)

SBS40 3500 | 200 | 50(3) | 100(3) | 100(4) | 100(5) | 100(6) | 100(7) | 100(8) | 100(9) | 100(10){100(11)|100(12)|100(13){100(15)

SBS50 3500 | 200 | 50(3) | 100(3) | 100(4) | 100(5) | 100(6) | 100(7) | 100(8) | 100(9) | 100(10)|100(11){100(12)| 100(13)|100(15)

1)
2)
3)
)
)

NZf2 LMAFZEQ| ZI0|0j| w2t Eetdl 4~ US

NH(Number of Holes) : Pitch Z0i| fﬂf% A2 29 74 (BEEQ E9)
PNS REA|RH TR

4) A= LIMAFRE 25} 971|%'.

5) 1N = 0.102kgf

SAMICK | 257



LMAFZE & MEE & FLUE

.96 /30 - 11000

0715 o MEE Y RLE

OEIYMY

258| SAMICK

OLMAFRE LAY MY

Blank | 22

C AEx=

N |LEEs

R | 2HO[HE #z

OLMAIZE 2|4 58 2at M3

g6 | OfAjOtHZE

he | REEE

=)
OLMAIZE 214 MY

\ 16~30mm

S eLMAmE 2o 4

\ 100~3000mm




LMAFZE & MEE 2|Y RLE

TBS =
3
oD
o
=
us)
g

N LMAIZE 24 3

5

TBS16 016 25 22 50 14.79 6 8 37 60° @5.5 6 95 55 2.66

TBS20 020 275 29 55 19.72 8 8 40 50° ?@5.5 6.5 1 6.6 423

TBS25 025 325 32 65 20.13 10 8 45 50° 6.6 6.5 " 6.6 5.85

TBS30 230 375 | 365 75 22.35 12 10.3 55 50° 6.6 85 14 9 8.25

| A0 | N

(mm) 500 600 800 | 1000 | 1200 | 1400 | 1600 | 1800 | 2000 | 2200 | 2400 | 2600 | 3000

TBS16 3500 150 | 25(4) | 75(4) 1 100(5) | 50(7) | 75(8) |25(10) | 50(11) | 75(12) | 25(14) | 50(16) | 75(16) | 25(18) | 75(20)

TBS20 3500 150 | 25(4) | 75(4) | 100(5) | 50(7) | 75(8) |25(10) | 50(11) | 75(12) | 25(14) | 50(16) | 75(16) | 25(18) | 75(20)

TBS25 3500 200 | 50(3) | 100(3) | 100(4) | 100(5) | 100(6) | 100(7) | 100(8) | 100(9) [100(10)|100(11)|100(12)|100(13)|100(15)

TBS30 3500 200 | 50(3) | 100(3) | 100(4) | 100(5) | 100(6) | 100(7) | 100(8) | 100(9) [100(10)|100(11)|100(12)|100(13)|100(15)

Z1) NZ2 LMAFZEQ| Ziojof| w2t St 4+~ US.

2) NH(Number of Holes) : Pitch Z{0l T2 |2 £9| i (E2E9 E2)
3) PN FEA A T2,

4) BHle LMAFLE &gt ‘:'71|?:!

5) 1N = 0.102kgf

SAMICK | 259



LMAFZE & MEE 2| QLIE

SK Shaft Support

h +0.02

072 IMAIZE MZE
SAMICK LMAFZE MELE(Y20|5)
OLMAIZE 2IH MA : 8~40mm

260| SAMICK



LMAFZE & MEE 3|Y QL|E

SK Shaft Suppo

C
3
D
(3]
=
o
&

- LMAFZE IYZE=0[| 24 =)

3 G

& () h A W H T E D C B S J 0 (o E

SK08 08 20 | 21 4 | 328 6 18 5 32 14 | @55 | M4 28 24

SK10 @10 20 | 21 4 | 328 | 6 18 5 EY) 14 | @55 | M4 28 24

SK12 @12 23 | 2 9 | 38 6 20 5 EY) 14 | @55 | M4 33 30

SK13 713 23 | 2 9 | 38 6 20 5 EY) 14 | @55 | M4 33 30

SK16 016 27 | 24 | 48 | 4 8 25 5 38 16 | @055 | M4 39 40

$K20 020 31 30 | 60 | 51 10 | 30 | 75 | 45 | 20 | @66 | M5 45 70

SK25 025 35 | 35 | 70 | 60 12 | 38 7 56 | 24 | 066 | M6 53 130

SK30 @30 0| 8 | 8 | 70 12 | 44 10 | 64 | 28 | @9 | M6 63 180

SK35 035 50 | 49 | 98 | 85 15 | 50 12| 74 | 32 | 911 | M8 74 270

SK40 340 60 | 57 | 114 | 9% 15 | 60 2 | 9 | 36 | @11 | M8 87 420

SAMICK | 261



LMAFZE & MEE 2| QLIE

SF LM Shaft

0 Ak

0 SUYH 14

'SF [C g6 30 -11000 L

N [ ES

R | HOIHE 2|

OLMAZE YA M

g6 | OHAJOf EF

h6é _IQI_E-I _i_
VS

OLMAZE /3 HY

O

\ 5~100mm

OLMAFEE Z0| MY

\ 100~3000mm

% 1) Z0[ 1m oLy

262| SAMICK



LMAIZE & MEE &2 RLIE

SF LM Shaft -

®

Q

=

w

&

diameter @5 | 06 | @8 | @10 | @12 | @13 | 016 | Q20 | @25 | ¥30 | @35 | @40 | ¥50 | @60 | (80 g
Hsgat -0.004 | -0.004 -0.005 -0.006 -0.007 -0.009 -0.010
(g6) 0012 |-0.012 -0.014 -0.017 -0.020 -0.025 -0.029

24 (kg/m) 016 | 022 | 039 | 062 | 089 | 1.04 | 158 | 246 | 385 | 555 | 7.55 | 9.86 | 1541 | 22.18 | 39.44

2|c§Z10](mm) 500 | 500 | 500 | 2000 | 2000 | 2000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000 | 3000

| LMAKZE 722 of2fo} 2T}
@ A2 1 SUR(DEMA I2H0YY) @ EPAET : He(58~64 ® 22| 20| 1 0.8~2.5mm
® 2% : 0.85~1.65 @ LMAFEE 12/ 1 0,05mm/300mm

SAMICK | 263



264| SAMICK



SAMICK | 265




STEME

Rockwell Vickers' Brienell Hardness Hs Rockwell Hardness Shore
C Scale Hardness Standard Tungsten HrA H:B Hardness
HrC Hv Ball Carbon Ball A Scale B Scale Hs
68 940 - - 85.6 - 97
67 900 - - 85.0 - 95
66 865 - - 84.5 - 92
65 832 - 739 83.9 - 91
64 800 - 722 834 - 88
63 772 - 705 82.8 - 87
62 746 - 688 82.3 - 85
61 720 - 670 81.8 - 83
60 697 - 654 81.2 - 81
59 674 - 634 80.7 - 80
58 653 - 615 80.1 - 78
57 633 - 595 79.6 - 76
56 613 - 577 79.0 - 75
55 595 - 560 78.5 - 74
54 577 - 543 78.0 - 72
53 560 - 525 774 - 71
52 544 500 512 76.8 - 69
51 528 487 496 76.3 - 68
50 513 475 481 75.9 - 67
49 498 464 469 75.2 - 66
48 484 451 455 74.7 - 64
47 471 442 443 741 - 63
46 458 432 432 73.6 - 62
45 446 421 421 7341 - 60
44 434 409 409 725 - 58
43 423 400 400 72.0 - 57
42 412 390 390 715 - 56
41 402 381 381 70.9 - 55
40 392 371 371 70.4 - 54
39 382 362 362 69.9 - 52
38 372 353 353 69.4 - 51
37 363 344 344 68.9 - 50
36 354 336 336 68.4 (109.0) 49
35 345 327 327 67.9 (108.5) 48
34 336 319 319 67.4 (108.0) 47
33 327 311 311 66.8 (107.5) 46
32 318 301 301 66.3 (107.0) 44
31 310 294 294 65.8 (106.0) 43
30 302 286 286 65.3 (105.5) 42
29 294 279 279 64.7 (104.5) 4
28 286 271 271 64.3 (104.0) 4
27 279 264 264 63.8 (103.0) 40
26 272 258 258 63.3 (102.5) 38
25 266 253 253 62.8 (101.5) 38
24 260 247 247 62.4 (101.0) 37
23 254 243 243 62.0 100.0 36
22 248 237 237 61.5 99.0 35
21 243 231 231 61.0 98.5 35
20 238 226 226 60.5 97.8 34
(18) 230 219 219 - 96.7 33
(16) 222 212 212 - 95.5 32
(14) 213 203 203 - 93.9 31
(12) 204 194 194 - 92.3 29
(10) 196 187 187 - 90.7 28
(8) 188 179 179 - 89.5 27
(6) 180 171 171 - 87.1 26
() 173 165 165 - 85.5 25
2) 166 158 158 - 83.5 24
0 160 152 152 - 81.7 24

266| SAMICK



53 20| 3|A 223
37 29| 2| 51E2H(um)

=
C

o

Q

=
(mm) f g h is j k &
(2]
=
=
((=]

over incl 5 f6 f7 g5 g6 g7 h5 h6 h7 h8 sb js6 js7 5 j6 i7 kb k6 k7

-6 -2 0 +2 +4 +6 +4 +6 +10
. -10-12-16 6-8-12 -4-6-10-14 AN 2 -4 0
-10 -4 0 +346 +8 +649 +13
e -15-18 22 -9-12-16 -5-8-12-18 0| & -2 -4 +
-6 -5 0 +4+7 +10 +7+10+16
o -19-22-28 -11-14-20 -6-9-15-22 | | e -2 -5 +
10 14 -16 -6 0 +5+8 +12 +9+12 +19
14 18 -24-27 34 141724 -8-11-18-27 SR -3 -6 +
18 24 -20 -7 0 +549 +13 +11 +15 +23
o4 3 293341 162028 9-13-21-33 e el O 8 2
30 40 -25 -9 0 +6 +11 +15 +13 +18 +27
0 50 364150 20-25 34 11-16-25-39 =9 = AR g A0 )
50 65 -30 -10 0 +#H6+12  +18 +15 +21 +32
65 80 434960 232940 13-19-30 46 e N 2
80 100 -36 -12 0 a6+l g7 | 193 20 +18 +25 +38
100 120 -51-85-71 -27 -34-47 -15-22-35 -54 i B -9 -15 +3
120 140
-43 -14 0 +7 +14 +22 1+21 428 +43
128 128 61-68-83 323954 18-25-40-63 SRk I 43
37 5129 2|4 &K m)
(mm) H Js J K M

over inct H5 H6 H7 H8 JS5 JS6 JS7 JS8 U6 J7 J8 K6 K7 K8 M6 M7 M8

+4 +6 +20 +25 2 #4446 0 0 0 -2 2 2
. 0 2 8 S 5 5 g 5 A0 4 8 A2 -6
+5+8 +12-18 +5 +6 +10 +2 +3 +5 -1 0 +2
Ll 0 = 6 -8 -6 9 14 9 12 -6
+6 +9 +15 +22 +5 +8 +12 +2 +5 +6 -3 0 +1
o 0 B #4540 7 a0 6 42 45 2
10 14 +8 +11 +18 +27 +#  +10 415 +2  +6 48 4 0 +2
1418 0 #5558 B 5 g 42 9 2 9 45 8 25
18 24 +9 +13 421 +33 8  +12 420 +2  +6  +10 4 0 +4
o4 30 0 #5 65 0 #1650 o 3 4 45 23 47 21
30 40 +11 +16 +25 439 +10 #1424 +3 47 412 4 0 +5
0 50 0 B B8 2+ ey 45 43 48 7 20 B 34
50 65 +13 +19 +30 +46 +13 418 428 +# 49 414 5 0 +5
65 80 0 05 05 5 2B 5y qg a5 21 @2 24 30 4
80 100 +15 +22 +35 +54 +16 422 434 +#4  +10  +16 6 0 +6
100 120 0 #5727 e 43 8 5 a8 28 -85 48
120 140
+18 +25 +40 +63 +18 +26 +41 +4 +12 420 -8 0 +8
128 128 0 #4125 20 By » o 8 43 3 4 55

SAMICK | 267



15 b=y (CEIRNEIES

. SIZE H5 H6 H7 H8
TE . . . . .
inch mm inch mm inch mm inch mm inch mm
0|4 0.1181 3 0.0002 0.005 0.0003 0.008 0.0004 0.012 0.0007 0.018
0|5t 0.2362 6 0 0 0 0 0 0 0 0
0|4 0.2362 6 0.0002 0.006 0.0003 0.009 0.0003 0.015 0.0008 0.022
0|5t 0.3937 10 0 0 0 0 0 0 0 0
0|4 0.3937 10 0.0003 0.008 0.0004 0.011 0.0007 0.018 0.0010 0.027
0|3} 0.7087 18 0 0 0 0 0 0 0 0
0| At 0.7087 18 0.0003 0.009 0.0005 0.013  0.0008 0.021 0.0013 0.033
0|5 1.1811 30 0 0 0 0 0 0 0 0
0| A 1.1811 30 0.0004 0.011 0.0006 0.016 0.0009 0.025 0.0015 0.039
0|5 1.9685 50 0 0 0 0 0 0 0 0
04 1.9685 50 0.0005 0.013 0.0007 0.019 0.0011 0.030 0.0018 0.046
03] 3.1496 80 0 0 0 0 0 0 0 0
0| At 3.1496 80 0.0005 0.015 0.0008 0.022 0.0013 0.035 0.0021 0.054
0|5 4.7244 120 0 0 0 0 0 0 0 0
00 29z 3584}
28 SIZE g5 g6 g7 h5 h6 h7
inch mm inch mm inch mm inch mm inch mm inch mm inch mm
O/4 0.1181 3 -0.0001 -0.004 -0.0001 -0.004 -0.0001 -0.004 0 0 0 0 0 0

ojst 0.2362 6 -0.0003 -0.009 -000004 -0.012 -0.0006 -0.016 -0.0002 -0.005 -0.0003 -0.008 -0.0004 -0.012

0|4 0.2362 6 -0.0002 -0.005 -0.0002 -0.005 -0.0002 -0.005 0 0 0 0 0 0
ojst 0.3937 10 -0.0004 -0.011 -0.0005 -0.014 -0.0007 -0.020 -0.0002 -0.006 -0.0003 -0.009 -0.0006 -0.015

0]+ 0.3937 10 -0.0002 -0.006 -0.0002 -0.006 -0.0002 -0.006 0 0 0 0 0 0
o|st 0.7087 18 -0.0005 -0.014 -0.0006 -0.017 -0.0009 -0.024 -0.0003 -0.008 -0.0004 -0.011 -0.0007 -0.018

0]4 0.7087 18 -0.0002 -0.007 -0.0002 -0.007 -0.0002 -0.007 0 0 0 0 0 0
o/jst 1.1811 30 -0.0006 -0.016 -0.0007 -0.020 -0.0011 -0.028 -0.0003 -0.009 -0.0005 -0.013 -0.0008 -0.021

0]4 1.1811 30 -0.0003 -0.009 -0.0003 -0.009 -0.0003 -0.009 0 0 0 0 0 0
o5t 1.9685 50 -0.0007 -0.020 -0.0009 -0.025 -0.0013 -0.034 -0.0004 -0.011 -0.0006 -0.016 -0.0009 -0.025

0|4 1.9685 50 -0.0004 -0.010 -0.0004 -0.010 -0.0004 -0.010 0 0 0 0 0 0
o|st 3.1496 80 -0.0009 -0.023 -0.0011 -0.029 -0.0015 -0.04 -0.0005 -0.013 -0.0007 -0.019 -0.011 -0.030

0]4 3.1496 80 -0.0004 -0.012 -0.0004 -0.012 -0.0004 -0.012 0 0 0 0 0 0
o|at 4.7244 120 -0.0010 -0.027 -0.0013 -0.034 -0.0018 -0.047 -0.0006 -0.015 -0.0008 -0.022 -0.0013 -0.035

268| SAMICK



22| 2 A2

PP _ 5 P’
6 max = e =2.021x10° 4
L2 =
[4
P
¢ 6 max =L —5053x10° P
}‘\E/ — 19261 d*
¢2 g
e 25y
" " Pa’ P-a’( 2a+3b
¢ ¢ 6a =2 (2a+3b)=1.617x10" ﬂdij—l
o] = .52 ar 2 2
i . <l 5 max = 8 (3p-4a?) = 4.042x10° F-al3L+4a
N 24-E d
[4
P P 3 3
__Pa _3ay_ 4 Pa _3a
¢ ¢ ba=—2—(2-F)=1617x10* & (2- 22)
o] x _ P _ s P-a®>(2a+3b)
b o = + =4 e ey
a | : a : & max SO (2a+3b) =4.042x10 F
P
¢ 6 max = P2L = 334010 P2
3R d*
b a &
e
E : ZEMAHIL 2 1x10(kgf/mm?) x SHZ 1 1=1d"/64,
P ©5151% (kgf) % FES | =n(d"di’)/64
| CHH 22t DHE (mm®) % di: Z2| tF(mm), d : £ 2|F(mm)

SAMICK | 269

=
5
©
Y
=
v
c
)
=
5
Q@

191Se aping

@9PINYIN

94ad

IUWQONRe101ENI Y

JapunAg oalss

Vvald




270 SAMICK




POLYGON GUIDE

SAMICK | 271



272| SAMICK



Guide Master

t

S
—

AEZ3 J10|1E

st

(Polygon) ZAEE A&
5

&
a

48 =

SAMICK | 273




Guide Master

O Guide Master?| t&

y

N EPIET

Outer Sleeve)
EAE(Post)

5

L|=(Needle)

2/E{0]H (Retainer)

B3 Sd%%s
LAEQ| Q| 1RE 4~82 HACZM Y MO Fx2| ZE HRC 60~64 FZ0|0f, LS
il (Needle) =2 Ra 0.1/m2| FHASEIO] A0 2|40| OFAZ D|DHGIO F1E 2L &
UCE,
Ci2te] Ui Lo 2ot MAHE 22 LS (Needle)S 12| L E361=F &[0f U2,
2lejoly R0 O Y2 REF 1Y 4 R = UL, & YO A HURSE A
2P U S HEE ZEFE 4 =AU
LS TEIA 32 H|OYLE LS (Needle)S ALREIGCH, UBHX 02 -2~0mA L2 02S HE
= stu el 1AEE 27 3% -6~-4md =2 oS A&t
S2E9 W 2= 4~82 W22 H=HO| B22| 4= HRC60~64 HE=0|0, LIS (Needle)
ok sz H=B2 Ra 0.2/mOI5H2 A 2|0 ULt £2|2 BIZE EFE2 A ZYF0|1, AYA| QHY

Jtstt P22 £[0] ATt S2|8 28 L Y2 He| Y3 Aot SHAYE AZE QUL
(SGMF/SGMFM EY)

274| SAMICK



Guide Master

O Guide Master Series £

Guide Master:

AlQl
(=l

Guide Master

Needle9|
0| HA 3

20130)
5120] 2ict,

Ballel 2% &
0} 51&

A
A

r

SHCt.

S

| HUEE 27|

Cha

O|_|-

| T| Y (Pitching) 2| E/dS AA5H0]

a

B0

~O

b

HSYR], YLIIAE,

27,

e
A28 S, FH2S TOMilA 1

(o]}
o,

2E|0[R], 220}

20|

44,

=
Oy

Aof 71

SAMICK | 275



Guide Master

o Guide Master A% |

Guide Master AIEQ| Z|E1UHH

H(SGM Series?| <)
1) ZAE U OfR 5289 2 -_r“:c’i s
7t0|E EZAEQ} OFR £2|E ¥2f Hole2 32t E 2l Lo A 7t55iCt,

2) 710|E EAEQ| ¥

(=43
243
2} Hole 2517 ¥43H $ 2E2 HZst0] ZAES 17
k=110)

S St
TAEQ| 22t 2 SHOIBHCHO0.01mm/100mmO|3t)
3) OFR 52|89| ¥zt
710|E ZAEQ| OFR £2|EE HYUSHT} (MEFQ| 0t 7t YR|5t=4| &Qlstet)
LAEE 2215t Die Holder 910l B3l £218 £11 Punch HolderS £11, 0l 42|25 £210|E A|A 7Hd
S SIS
OtR £2|EE 2T LT 7|S0|Lt 2E S5 EAIZ M&st 20|, &7]d M2 (Loctite 635 E= 638)S
L I5l0] OFR £2|EE MYUSICt 0] f Punch Holder2FE Ol £2|87} Li2A| AL 5111, A20A
3~6A|1ZH H= HAIE FotAZICH
mHz|24
oBDISE d (Punch Holder)

njcok
Jpuogt

N } |
el (B CE

Oli‘i‘l
(Die Holder)

Tto|= BAEO| B3t 2|5 Fat

<A%1) Guide Master 22t

i ]

A2y HEE 013

276| SAMICK



Guide Master

Guide Master?| At22t4

1) 2=89l
L|=(Needle)®| QLS I3t 2[H[O|H7t £ 2 Y= 7| W20l | AAE2E=S 80TO[5H0 A
AHESHT (AFE257t 80T 0|49 42 22lHH)

o
710l ZAEQL OtRE2| 29| T U 2|E|0]L0f 0|22 S0 2YE|A| ¥== BiLt.

@

c

. o

3) *128 7tswel Ht e
2|24 7577t Guide Masterdf| HAH0] £ 275 SEAIAH £33 TEAI7 = 2910] EG &

@

=

1) &2 822 FH Y4AZ M0 oot

2) Guide Master= ZAEQL Ot £2|E711 : 1 MEECSZ |0 Q0] Ot 7t Y=|5H=2| &QISICt (T1212)
3) OlR S22 YA ZAECL NEE 2T U &Qlottt

4) Guide Master Z2fA| 2| Wato| RHUET} 7hsot 242 5[] IS it

5 32 2H H U IIsA| S20 20| Bs|ILh (7|40 &7 £X)

AN F2|Aret

1) B AEEE_M-RM

X104 ST 2 AL BHFICH

X7 0/0k 22 28 %{5t0] 2010] HIct,

® 0l23 ~BHA A, 7|2 SH2AFIE (0] AERT0] T2 £YAL(KE S5H01 AAHBHCE (C'=C x k)

2) 3 AE2IYE 2|H|0[L7} 0lRE2|E0j|A
HOILIZ| Of= AER23Z HASBICH

3) ZIAEZEE 0} £2|87} 2|2 A=2 1 —
TAEZ0|Z MAHO} BT} v d
0.8
4) FHAEZIHS . /
(&2]E 20| - 2)80|Y Z0]) X 22 3ic} o /
< /
5) AEZ3E 52| WHE OIR £2|8 ez = 0 /
3o 0.4
Ch27HS3icH (2 M TRA| 29| Hi2Y %
0.2 /
0.1
0
0 01 02 03 04 05 06 07 08 09 10 1.1 12 13 14
m

AE2T0) T2 £BAR(K)

SAMICK |277



of tef &et
|

Big)
Total Indicated Run-out(TIR) 50% A&

=
zo

a:0.01mm/300mm
Hz| 7]
Mz| 7|1&

%G/M
b:G/M

Guide Master

= E|l L
E| . E| T n
o = - o IS\
ok o [ oF o o
w3 o o 3 o
i B
oo = o =3 (=
o3 S o S o
<F m )
XU o) % [} ~
m__..,:_ S S S —
. = = o S =
o =
= 3 i 15
= o) = 1o 0
S = ol o
=} ~ S w S w
o) i S | o S | o
N o =2
IX —_ Py — .
zn ﬂ_._ = Azl_. S 2 Azl_. S o
=3 o. TR
rv._.w o™ o ol 4 Y L KO
O
£
H & | W B ok 1y ok 1y
3] N = < Dﬂ __o D 60 D 360
N < =N u._ r X0 N{ HO N{ HO

HoleZt S121Z2} ${2|= 0.01mm O[3t

)
I
N

278| SAMICK



Guide Master Retainer 22! 2|z 0jJA]
B8 SGMF12-85L, 20st (27| 92| & At stroke)

R

|
0gogoagan

Ag AERIE
112{5}0] Retainer

LIa0000]]

gpoooaaon

271912 2%

Retainer & Outer Sleeve
tlo| Y|SI=S A

A icdisto 2
Outer Sleeve 0|
*Retainer?}

Outer Sleeve 2|82
S AENMNE ST A

% Ch 2712 92| "A'AY, AR AERT Y

—

54

RNl
SGMF12 - 851

Guide Master

78

Retainer & Outer Sleeve HYZ|

-

Stroke : 10mm

MOO00007
FT—WM-

9.6

SGMF12 - 85L

Stroke : 10mm

e
|
1

[ [0000a00a0

E nnonnonnlil

| SGMF12 - 85L |

SAMICK |279

J3)15B | 8pIng




Guide Master

SGM Guide Master

0 Ak

=2 Ll MXZo|
_HP_ X7 P
S oD%
O N= MY Vs (o
| (&) N
XY s [ pm— = N
HS .ﬁ« [ D1-05
L35
O CIOMER NHE BEY 710|=
07|F &9 710|E0tAY
OLAE 97 D)
0 EY
S B
EER

280| SAMICK

OXAE 20| ()




Guide Master

T2 tmm
. ) A%
=R D) L DI|L1|[L2| T | HP | MxZo| DS LS | HS | 13| GolkN) | CkN) | Golkem) | o
SGMO5 51 30~50 [ 8| 5|4[25/39 | M2x5 | 11 22| 69 8
50 | 25 | 005 —— -
SGMO6 | 42| 6 | 30~60 | 9 | 6 |45|25| 47 | M3x5 | 13 25| 7.7 s
10 =
SGMO09 9 | 50~90 |[14|9 |7 |35| 78| Mix6 | 17 30| 108 96 | 42 | 0.10 &
0.003 0 i
SGM12 12| 50~120 [18]12]9 | 5 | 113 23 15.3
M5x8 201 | 86 | 051
SGM14 14 2101411 133 27 40 | 173 20
6
SGM16 16 | 75~135 |24 (16| 12 152 | Mé6x10 | 30 19.2 226 | 95 | 073
SGM20 20 29 (20| 14 19.0 37 60 | 23.0 407 [ 150 163
16
SGM25 25 | 95~165 | 35 8 | 240 | M8x15 | 44 [£0.0035| 70 | 28.0 56.0 | 193 | 2.79
2518
SGM28 28 | 95~185 |37 26.7 47 75 | 317 214 | 18
62t 584 | 225 ——t——
SGM30 30 40 288 50 338 3.49
95~205 78 20
SGM32 32 42130(211 9 |310 54 360 | 20 | 642 | 242 | 4M
M10x20
SGM35 35 | 110~220 | 46 339 58 86 | 389 880 [310| 613 | 24
+0.004
SGM40 40 | 120~220 | 54 10 | 39.0 68 92 | 450 144 | 416 | 9.19
35|25 28
SGM50 50 64 12 | 486 | M12x25 | 78 96 | 54.6 137.7 | 48.1 | 13.59
150~250
SGM60 60 74142 |30 584 | M14x30 | 95 128 | 66.4 2313|844 | 2760 | 24
15
SGM80 | 82 | 80 | 180~280 | 98 | 45 | 32 79.5 | M16x30 | 120 | £0.005 | 145 | 875 | 25 |359.3 |112.5| 56.28 | 26
HYAEZF AL 1 [OFR 2|2 40[-2|g0]Lf Z0[] x 2 1N = 0.102kgf

SAMICK | 281



Guide Master

FH
[—]
L4 L4
8 3 8
8 E 8
7 Z I
SGM9 () ﬁL«

Ll POST &4t L4 L5 D2
SGMO05 : - -
SGMO06 42} - -
SGMO09 6 - -
SGM12 16

7 3
SGM14 19
SGM16 10 4 22
SGM20 26
SGM25 13 5 32
SGM28 35
62t
SGM30 38
SGM32 16 7 40
SGM35 44
SGM40 50
18 9
SGM50 60
SGM60 20 12 72
SGM80 82t 26 13 105

282| SAMICK



Guide Master

® Z[gojYH

LL

(2]
c
o
)
<
)
0
S,
©
L

[GIGIOIGIGIGIO)

HIHNNHN
HINHRHHN

SISIGIGIOINIE
[ ABUS @DRXIRX 4

= = DR LR
5{6 At R ABE
st ok L Us237) (@) T
SGMO05 18 ; 20
SGMO06 42t 20 15 20
SGM09 25 28
SGM12 48
SGM14 30 42
SGM16 2.0 54
SGM20 52 6.8 60
SGM25 62 72
SGM28 66
62 78 60
SGM30
68 25
SGM32 66
SGM35 74 72
98
SGM40 78
30 78
SGM50 82 118
SGM60 116 84
40 13.8
SGM80 82 132 128

SAMICK | 283



Guide Master

@DF
@CS
Y

LS

T1

@DS

SGMF E}Y

T2 M x 2

@DF
@CS
@DS+0.003

284| SAMICK

AZE + SUA| EIY
F |9
K | AR
H | B
S| 213
BLANK | 2t
M | OIS S
ZEAE QI (D)
= EIY
S =
Fo[ S
ZEAE 20| (1)




Guide Master

g @D L | @DF | @PF | @DS | @CS |@CP | LS [LS2| T1 | T2 |@DD| MXZO| |2&stroke
SGMF/SGMFMO5 5 1 30~50 | 22 | 17 | 11 17 11 2|1 8
. 35(35/28| -
SGMF/SGMFMO6 | 420 | 6 | 3060 | 23 | 18 | 13 | o.of 18 | 12 | 25 |125
‘ 10
SGMF/SGMFMO9 9 | 5090 | 32 |228| 17 24515330 | 15| 5 | 5 34| M35
SGMF/SGMFM12 12 4 | 30 | 23 32 | 220
50~120 . 7 17 45| Msx8
SGMF/SGMFM14 14 44| 34 | 27 | 00| 36 | 26 | 40| 20 20
SGMF/SGMFM16 16 4 | 36 | 30 395 | 27.0 M6X10
80~140 9 | 9|55
SGMF/SGMFM20 20 56 | 41 | 37 475|315 | 60 | 30 M8X15
16
SGMF/SGMFM25 25 67 | 48| 4| |56 |370[70]|3
-0.025 1212
SGMF/SGMFM28 28 70 | 51| 47 | 77| 59 400 | 75 | 37 18
6% 100~210
SGMF/SGMFM30 30 73| 53 | 50 62 | 420 6.6 | M10X20
78 | 39 20
SGMF/SGMFM32 32 78 | 56 | 54 67 | 450 13| 13
SGMF/SGMFM35 35 8 | 58 | 58 71| 470 8 | 43 24
0
120~220 0030
SGMF/SGMFM40 40 97 | 70 | 68 | | 835|560 92 | 46
15 15| 9.0 | M12x25 | 28
SGMF/SGMFM50 50 107 | 82 | 78 935 | 680 | 9 | 48
160~250
SGMF/SGMFM60 60 13497 | 95 | | 117|800 | 128] 60| 18 18 |11.0| MIAX30 | 24
-0.035
SGMF/SGMFM80 | 82 | 80 |180~300| 164 | 124 | 120 145 1050|145 |725| 20 | 20 |140| M16X30 | 26

2|Ef0]14 A SGMEY
7|2 HZ31E2 SGMELY
Y AR Y : 012

SAMICK | 285



Guide Master

0 ATk
A B
c|. T
Cal
HP_ LS LS
ZN g N
7N = A
Y A
M Q :_gdLE
HS S B
S 8§
© 30| Crte XAEQL AgE 2o Sof 2f5 23kl AE

SGMC 12 - S -/120L -/130L

P

o)

286| SAMICK

04 =Y
BLANK | 7|23
C Long Type, O/S 2EA
OEAE Q|4 (D)
o ezE
S BE
P2
OEAE Z0| (1)
———@ZEAE Z0| (L)



Guide Master

L SA A B | C | Cl|TH | D |Dl|[DS|LS|HP | HS | MXZo |Hastoke
SGMCO6 40~50 [ 20~40 | 6 | - | 25|65 | 10 | 13| 25 | 47 | 85| M3X5 | 10
42 ®
SGMCO09 50~60 | 40~50 | 9 | 2 | 35|95 | 14 | 17 78 [108| Max6 | 26 %
30 =
SGMC12 50~70 | 40~60 | 12 40 {125 19 | 22 11.3]153 14 ot
M5XS =
SGMC14 70~90 | 40~80 | 14 145| 21 | 26 | 40 | 133173
20
SGMC16 70~90 | 40~80 | 16 165| 23 | 28 | 40 |15.219.2 | M6X10
SGMC20 62 |80~100 20 | 3 205 27 | 34 | 50 | 190|230
50~90 5.0 16
SGMC25 25 255 32 | 40 | 60 | 240|280
M8X15
SGMC28 90~110 28 285 35 | 45 | 65 | 267|317 18
70~90
SGMC30 30 305 37 | 48 | 70 | 2883338 20

2|&i|0[ AF2 SGMEIY Y S (SGMC09, SGMC12, SGMC20 A|2])
HY LAESI AL 1 [0} 22|12 Z20]-2|8|0]H Z0]]x2

SAMICK | 287



Guide Master

@DS.8.005

|
©

© HZ0| S710|E2 48

ot HEle] LIS + = 710|1E AF

SGMW 12 -/ S -/120L - 130L

288| SAMICK

-~ @EAE Z0| ()

0 A=
BLANK | 7|2d
W Long Type, O/S 1EA
OEAE QA
0% EfY
S 2E
F =d|
OEAE Z0| (1)



Guide Master

= @4 | A | B | C | Cl | T | D|DI|D2|HP| HS | MXZO| | DS | LS | H¥Stroke
SGMW09 | 42 | 50-60|40~50| 9 | 2 | 35|95/ 14| 9 |78 108| Maxe | 17 26
30
SGMW12 50~70 | 40~60 | 12 4 [125] 19| 13 |113| 153 2 14
M5X8
SGMW14 14 145 21 | 14 133|173 26 | 40
70~90 | 40~80 20
SGMW16 16 165 23 | 16 | 152|192 | Mex10 | 28 | 40
SGMW20 | 62 |80~100| 40~80 | 20 | 3 205| 27 | 20 | 19 | 230 34 | 60
5 16
SGMW25 90~110| 50~90 | 25 255] 32 | 25 | 24 | 280 40 | 70
M8X15
SGMW28 90~110| 60~90 | 28 285| 35 | 28 |267 317 45 | 75| 18
SGMW30 90~110| 70~90 | 30 305| 37 | 32 |288] 338 a8 | 78| 20
au e LL [ DL | LR | %
SGMC06 20 3 | 20
47} 15
n SGMC09/SGMW09 17 16
438
| N | SGMC12/SGMW12 25 30
HIRHIHIRHH SGMC14/SGMW14
HHHERRN » "
(IR SGMC16/SGMW16 638
[ ABUS 0DRXLRX A2 SGMC20/SGMW20 62 | 42 48
SGMC25/SGMW25 52 60
2|eflojL
SGMC28/SGMW28 66 78
25 54
SGMC30/SGMW30 63

2|6|0| AP SGME 2 S (SGMWO09, SGMW 12, SGMW20A|2])
%

A AER T A AL
2 J10|E2 0} 22|59} 2
22 TAE 0020 B BAE

[OF%

2|2 20|-2E{0] Z0[1x2
0| Ut Tof B2sLic
224 233

FAI7] BHLIC

SAMICK | 289



Guide Master

O:zu=z

oIsE

TAE QA
16
20
25
28
30
32
35
40
50
60

TAE 9|7
16
20
25
28
30
32
35
40
50
60
80

290| SAMICK

AET
M
ﬁ N\
- N
= g ji
t $
i D3 S
17.5 9
21 20
26 25
30 27
62t 33 30
34 28
37 30
43 33
525 35
64.5 51
AET
] \; _
M
4
3 Si
4 D D1
18.1 15
21 18
26 23
30 25.5
62t 32 275
34 30
37 325
43 38
525 475
64.5 575
82t 85 78.5

MXZ0|
M8X1.25
M10X1.5

M12X1.5

M16X1.5

S1
14
23
28
30

31

34
36
38
54
52

1.2

1.6

M(Bolt)
M6

M8

M10

M12

M14
M16



Guide Master

0 l=8 AEL]

P od
\ I 1
V4 VAR :
<.
L ®
<
ZAE o7 L @d @ID(LHZ) P 3
9 30~50 07 93 4 -
12 125 10
14 30~100 038 145 H
16 163
20 35~120 09 203 14
25 40~140 ’ 254 15
28 50~140 0 28.1 17
30 70~150 ~ 303 .
32 70~160 ' 325
35 70~175 ' 356
40 70~210 ” 40.7 25
50 90~230 - 50.6
60 70~210 26 60.5 30
80 100~230 238 81.0 35

@ =2l ArE

1. 2| A(AFA, AFE, AFC, AFRITHK)
2. LUREL(WL-297, Houghton)

SAMICK | 291



Guide Master

ol om
N 50314 o183t
S2A
(mm) . .
f g h is J k
over | incl | f5 | f6 | f7 | g5 | g6 | g7 | h5 | hé | h7 | h8 | js5 | js6 | js7 | j5 | 6 | j7 | K5 | k6 | k7
s 6 2 0 o | i3 | ug | F2 H4| 46|+ 46 +10
40 12 16| 6 8 -12 | 4 6 -10 -14 2 |4 0
10 - 0 13 46 | 48 | +6 49 +13
316195 48 209 12 16| 5 8 -12 -18 |2 ¥ | B 5 |4 1
% 5 0 w4 +7 | +10[+7 410 +16
6 110 | 9 22 2811 14 20| 6 9 -5 2 | BT 505 41
10 | 14
16 6 0 | ass | 1o | *5 8 |#12]49 +12 +19
24 27 34|14 7 24| -8 -1 -18 27 3 |6 1
14 | 18
18 A 20 7 0 5 49 | 413|411 +15 423
- - +5 49 | +13 | +11 +15 +
29 33 41| -16 -20 28| -9 -13 21 -33 |2 500 7,0 g +2
24 | 30
30 | 40
25 9 0 w5| ag | a1y | *6 11| +15|+13 +18 427
36 -41 50| 20 25 34 |-11 -16 25 -39 5 |10 2
40 | 50
50 | 65
30 10 0 w65 | 205 | 415 | 6 12| +18| 15 421 +32
43 49 60| 23 29 40 |13 -19 30 -46 7 |12 ")
65 | 80
80 | 100
36 12 0 75| 411 | 417 | *6 +13|420| +18 +25 438
51 58 71| 27 34 47 |15 22 35 -54 9 |5 +3
100 | 120
120 | 140
43 14 0 47 #4422 | 421 +28 +43
1401160 | o1 6 83 |-32 -39 54 |-18 25 -40 -63| 2 |F122¥20] 44 ] g 13
160 | 180

292| SAMICK



Guide Master

5%
(mm)
H Iy ) K M g
&
. <
over | ind | H5 | H6 | H7 | H8 | Js5 | Js6 | Js7 | 158 | J6 | 7 | 18 | K6 | K7 | K8 | M6 | M7 | M8 5
o
R v I R I B e e I I R R R 5
0 RABIBHNET N 6 8| 61014 8]-12]-16
45 48 412 +18 w5 | 46 |+10] 02 | 43| +5 | 1] 0o | w2
3|6 0 5/ #1619 3 6| 8| 6| -9 |-14|-9]-12]-16
+6 +9 +15 +22 +5 +8 +12 +2 +5 +6 -3 0 +1
6110 0 B A 2 g0 7 0| e | 12| s |2
10 | 14
8 H11 +18 427 | || 4o | 43| 6 | ¥10 | #15 | #2 | 46 [ 48 | 4 | 0 | %2
0 MRS B3 o g o 9 | 12|19 -15] -18 | 25
14 | 18
B2 3 a2 433 8 |+12|420| +2 | +6 [+10| 4 | 0 | +4
49 + 21 4+ +8 | + + + +6 | + - +
0 #5165 1210 1 £16 | o | g | 43 | 41| 915 | 23 | 417 | 21 | 29
24 | 30
30 | 40
H1 16 425 439 | | Lo | 4y | agg | H10| +14 | 424 | 43 | 47 |412| 4 | 0 | 45
0 05| 82V g a5 [ 3| 18 | 27 | 20 | 25 | 34
40 | 50
01 % i3 v 430 6 13418428 | +a | 49 |+14| 5 | 0 | +5
+ + +30 + +13 | +18 | + +4 | 49 | + - +
0 05| £9.5 1 215 | 223 | & o | g | 15 | 21 | 32| 24 | 30 | -41
65 | 80
80 | 100
#5422 435 454 | | | oo | oy | 416 422 [ 434 | 44 | 410 | 46 | 46 | O | 46
0 5| £ 27 227 43 0 | 18 | 25 | -38 | 28 | 35 | -48
100 | 120
120 | 140
140 | 160 | T18 +250 40 463 | g 14105 420 | 431 +_178 +1z§s +§'21 ;‘% +21§ J_'fg ;2 _20 J;i
160 | 180

SAMICK | 293



Guide Master

W (225t2)
MMM

a | b,

. \ 4 )E
) \
I ezo

F (@333

L/2 ,

g~ %

W (ZZ£3tE)
i#HHHHH
____________ o

E : ZEMEAIL 2.1 x 10*(kgf/mm?)
P . £3tstS (kaf)
| @O 22t RHIE (mm?)
ZAMZ 1| =1dY/64,
Z23% | =n(d*- di*)/64
di @ &2 Y& (mm)
d &9 F(mm)
6 : =9 E&f(mm)
6 :Z9 7|127|(rad)

294| SAMICK

_ FL? _FL?
¢= 2El 6= 3EI
_owl? _owl?
¢= 6El 6= 8EI
_ ML _ ML?
€= El 6= 2El
g = _Fb(L’-b%) 5= oL -0’
! 6LEI 9/3LEl

_ FRa(*-a%) I IES)
= 5+=7|¢x-/ =

L :E
9= —Ter 8= 8E]
5 wlL? 5= Swl?
24E] 384

20| 7/871 % By



Ora2s 23

NAZE2 712422 2 E& 224 EX 5[0 YU, A

o2 Zojdiact,

2) 2|2 28 HEA0E F71H22 R B4l ER

J2|A 22
=2 37| 18/ &
M POST %/
CHYHH Hs2| At=0]
Z0|Atst POST & Quter Sleeve #4® 0=

AFA or AFE or AFC

Guide Master

(2]
c
o
)
<
)
0
L
©
-

SAMICK | 295



296| SAMICK



®

Q

o

=

(&
wH
= o
S
M
@ -
ERE
2 N0

SAMICK |297




Polygon Type Guide

Needle

McGuide®

- ul ul
U ~ ~
R Mg Y oW W
= — = |u Z N
AT = o1 R P “
RO DS g < ~g F  of T T l
ur vH s wes T oo
B8R W F FT
me >~ ~E 5 OoF
O QW GUB W o
i Sro Rk On o o O
o oF O 3 3

]
" =4 o
- = m w S 8
nog o< £
n o L
o

= r

D

< <l

c 2 )

2 S

> NI —_

s g ! i o

) X0 - T x

n o To

M_x oo 35 100 <E

x M=K %0
I} __o._ ..nMUo W i
< ol
7. 100 ml Bd ...A._.o

. E 7 A< 100

ed Ar ed

zn o 2

0
N
r - =
%0 @ ol R go Wy
o NOowgr s o RO
& o x

2|&{|0| (Retainer)

C

298| SAMICK



(o MEY Y EE

@ 2E=23 FAaliZ (LZ =& 2E|o|L] =)

® o2, M2y Y 2 E3 HE U

® AH| g &<
« 22F Cost Down (2! 2t2)) « At& Cost Down (At / 2t3)
+ RA24 Cost Down (il 2) - A4Hg Up (|7t 2

McGuide®

SAMICK | 299

bulysng seaui

13)SBy 3pIng

<
o
@
c
o
)
®

94d

IUWQOINBeI01BNIIN

Japunhg ontag

Vvaid




McGuide®

@DF
@CS
@DC

=
X
i
D

@01

Pr

300/ SAMICK

071Z Ao wrjole
00tR&2|E MY
273 | 39
F| o
K| 28
H Efd 3
0332 3|
Z242| | End Flange (B&)
p Pilot Flange
0=3(028~080)
0SEHY
S Bz
p =dA|
OEAE 20|
- esxeRy




McGuide®

® Flange 92| 112

LS

L2

LS1

HZ Type

-

i

-1

_r

End Flange Type

i .
T

2 T

d2

-1
1

_r

Pilot Flange Type

<
(2]
@D
C-
g
®
®

s 375’4) tmax | Lmax | L Pr | @D Fr | @PF | @CP | @DD ('(C&) (ch) (kﬁ(-);n) (ch_m)
McG-028 28 675 700 25 8 37 12 51 40 6.5 431 18.0 2.1 08
McG-032 32 670 700 30 9 42 13 56 45 6.5 474 194 4.1 16
McG-040 40 665 700 35 10 54 15 70 56 85 845 330 9.2 36
McG-050 50 665 700 35 12 64 15 82 68 85 1017 | 386 13.6 5.1
McG-080 80 655 700 45 15 98 20 124 105 13 1952 | 75.0 56.3 216

SAMICK |301



McGuide®

@DF

@CS

@DC
@D

!
S|
!
= &
L —T E’

302| SAMICK

S OLNEEY

071Z Ao wrjole
00tR&2|E MY
273 | 3¢
AL
N
H Efd3d
0332 3|
Z242| | End Flange (B&)
p Pilot Flange
0=3(028~080)
0SEHY
S &
p =dA|
OEAE Z10|(p)




McGuide®

LS

® Flange 92| 112

L2

LSt

HE Type

End Flange Type

LS2

—

di

d2

]
|“ﬁ‘ £

Pilot Flange Type

<
(2]
@D
C-
g
®
®

W
%
AN o
w

HZ Type F Type KType ATizE
ek (if) GOF | @Cs | #DS | @DC | LS | IS | L | T | 1% | K | w | dxdxh
MG028 | 28 | 98 | 80 | 60 | 598 | 84 | S0 | 17 | 15 | 20 | 75 | 75 | 9x14x9
MG032 | 32 | 102 | 83 | 63 | 628 | 88 | 54 | 17 | 15 | 24 | 78 | 78 | 9x14x9
McG040 | 40 | 120 | 98 | 75 | 748 | 102 | 64 | 19 | 18 | 28 | 9@ | 9 | 11x175x11
McG050 | 50 | 136 | 115 | 9@ | 918 | 15 | 75 | 20 | 18 | 39 | 105 | 105 | 11x17.5x11
McG-080 | 80 | 184 | 160 | 136 | 1358 | 155 | 105 | 25 | 20 | 65 | 145 | 145 | 14x20x13

SAMICK |303



McGuide®

EXDO
Osz2

McG-00-00-0-000-SP

@ A& ®

304 | SAMICK



C}24% (Polygon) BAES 2[S0) 3 22 A3
Compact E1QI9 TH4/THE K3 StokeS 710|=

DHYE / DAHS HHYY T4 4



PBG

O oiLioix 22233 PG

S0 et Crefet 20| 7hset Cr2fed 71|15

O+

EAE(Post)

£ & £ #|0|2|(Ball & Ball Cage)

33y £3Yls
EAE QTR 4ZHHORM HSHO| 22|
AE i} -
BAE -t ASolD|, M e A Hoi0l, Hbcl o 2EREE B
< WaT2E AN oR At 232 3
oo HiC 58~64 ZZ0[01, =12 HUAY £|0j9lo], 20| 02 PE2ES Bict
220X IS IZYOIZYES ABAUCD, CY0| T2 B2 A7 U BSFHES H0jCt

306 | SAMICK



PBG

wir

Alo|z|2t elE 22 AEEUL. 05

=
=

IAE

L
[

PBG

o 20| 88 [

=]
-

20| BAEQ} OJE L

4

S
S

[PBG]

[ Ball Post ]

(-3

9|
1] kaLict,

YHf| =S Ui
S|Hs

3

U

=)

0|
fLct.

ugoz 7

Gl

5t
2| ¢4 31

3|

O=ZN, 29| 2

3‘;3‘:!-

ACIAE =

2

3

S
[=!

Ci2ts) RO TAEQ} Q& LHEO| Cl2Fo| I

O/ 2s=

|

[
=}

Y71, OAZ17], B4 2 LED ChipER7I, &

N|F

SAMICK |307



PBG

PBG {HEZ Type

0 Ak

8o

X4
<>

?DC

0 SUYH 14

PBG -05 - 70L

02EYY 1 PBG EE Y
024
OZAE 20|(d)

308| SAMICK



PBG &EZ= Type

PBG

H Kp @d @DC @DS @da Lm Ls Fm Lt | BALL®)| GCu(N) C(N)
PBG-05 4 5 10 10 4 22 30 2 70 0.6 250 180
PBG-06 4.7 6 12 12 45 24 40 2 86 380 350

1.0
PBG-09 7.8 9.4 15 15 6 24 40 2 104 570 440
F) A2 AEZ T AMAL = (QIEZ0|(Ls) - 2|H|0| Z20{(Lm)) x 2 1N = 0.102kgf

SAMICK |309

buiysng Jesuiq

13)SBy 3pIng

@9PINYIN

IUWQIN B 101BNIDY

Japunhg ontag

Vvaid




@DF
20C

0 SUYH 14

F P-05- 70L

'u
W
P
ul

02N PBG EE HYHType
e 30 B M
BLANK | gi&
AREE
K| A
IEEE
0S| @7 MH
BLANK | 2%
p TRQla] Zaiz|
/4 M| OIS 233
0=4()
OIAE 200|(d)

310/ SAMICK



PBG

H Type

Fm

Ls2

29 P Type
S| ErY

a3 213 Efela @DF @DD PCD K W T Ls1 Ls2
PBG-F-05 PBG-K-05 PBG-H-05 23 34 17 18 10 2.7 - -
PBG-FP-05 PBG-KP-05 PBG-HP-05 23 34 17 18 10 2.7 4.7 S
PBG-FM-05 | PBG-KM-05 | PBG-HM-05 23 34 17 18 10 2.7 - 143
PBG-F-06 PBG-K-06 PBG-H-06 25 34 19 20 12 2.7 - -
PBG-FP-06 PBG-KP-06 PBG-HP-06 25 34 19 20 12 2.7 47 -
PBG-FM-06 | PBG-KM-06 | PBG-HM-06 25 34 19 20 12 2.7 - 19.3
PBG-F-09 PBG-K-09 PBG-H-09 28 34 22 22 15 38 - -
PBG-FP-09 PBG-KP-09 PBG-HP-09 28 34 22 22 15 38 58 -
PBG-FM-09 | PBG-KM-09 | PBG-HM-09 28 34 22 22 15 38 - 18.2

SAMICK |311




’;”////)////////////////){// 227

72

Fm

Fm | |
10 Ls(c) + 2Fm 10
Lt(d)
0 =yHo|
PBGS - 05 - 70L
02|EYA : PBG EZ L& Type
0=%()
OIXAE 200|(d)
PBGS- F P-05- 70L
02/E3A: PBG BZ 23 Type
02207 Fef 43
BLANK | glg
IREE
K | A3
MREEE
0227 9J2) 43
BLANK | Z¢t
P | M3 Zaz
\' M| O 2

> -

S

312| SAMICK

0=4()
OIAE 200|(d)




PBG

3y s | Fm | A B C D T |@DD| m | Lt | @d | Kp |BALL@)| C(N) | C(N)
PBGS-05 30 2 8 10 - - - - 22 | 70 5 4
06 | 250 | 180
PBGS-K-05 | 30 2 8 10 | 17 | 23 | 27 | 34| 22 | 70 5 4
PBGS-06 40 2 10 | 12 - - - - 24 | 86 6 | 47
380 | 350
PBGS-K-06 | 40 2 10 | 12 | 19 | 25 | 27 | 34 | 24 | 86 6 | 47 o
PBGS-09 40 2 13 | 15 - - - - 24 | 104 | 94 | 78 '
570 | 440
PBGS-K-09 | 40 2 13 ] 15 | 22 | 28 | 38 | 34 | 24 | 104 | 94 | 78
S| EFY
- - - @DF @DD PCD K w T Ls1 Ls2
Ay 2k EtAS
PBGS-F-05 | PBGS-K-05 | PBGS-H-05 23 34 17 18 10 2.7 - -
PBGS-FP-05 | PBGS-KP-05 | PBGS-HP-05 23 34 17 18 10 2.7 47 -
PBGS-FM-05 | PBGS-KM-05 | PBGS-HM-05| 23 34 17 18 10 2.7 - 143
PBGS-F-06 | PBGS-K-06 | PBGS-H-06 25 34 19 20 12 2.7 -
PBGS-FP-06 | PBGS-KP-06 | PBGS-HP-06 25 34 19 20 12 2.7 47
PBGS-FM-06 | PBGS-KM-06 | PBGS-HM-06 | 25 34 19 20 12 2.7 - 19.3
PBGS-F-09 | PBGS-K-09 | PBGS-H-09 28 34 22 22 15 38 - -
PBGS-FP-09 | PBGS-KP-09 | PBGS-HP-09 28 34 22 22 15 38 58 -
PBGS-FM-09 | PBGS-KM-09 | PBGS-HM-09| 28 34 22 22 15 38 - 18.2
3—1) AR AE Eﬂ?#l“*' (2= Z0J(Ls) - 2|ef|o[H Z0](Lm)) x 2

\_/

) AMZIEIRYS B2 S

AMZEIYS 3
(0]

&

=

2 End Flange&2t 715
0

22| AL 248

2k 7}

olr

SAMICK |313



PBG

EXDO
Osz2

PBG00-00-00-00-SP

@ A& ®

@ 420 @

® 280 ®

% ALOJOA] A A7 g 2, 12 U2 49 TS 2 Tl HIB

r
0

314| SAMICK



PBG

Linear Bushing

Guide Master

McGuide®

PBG

Mctuator®&McOmni

Servo Cylinder

PICA

SAMICK |315



316| SAMICK




[
s
s Y
m 3]
5 Z
< 0

ACTUATOR




318| SAMICK



Mctuator®Series

Needle2} Ct2f (Polygon) ZAES 25t
McGuide® 28 D244 MEZA : Mctuator®
Mctuator® A& Controller : McOmni

I

UERM /1gdd /184

rl

il

€Y samick
| .

SAMICK [319



St
=]

)

(2012)

m
=}
o
1|

(3toj4

HEOfO[E LICE,

0
2

15t

©:
[

Al
=

Uc S
A 7t0|E01 McGuide®2t Y 1528 Ball Screw?t £

]

P
o

=
[

VS
o

o
C

|

=LA
McGuide®

Mctuator® PA|2| 2= 0|

Mctuator® & McOmni
Needlex} C}

710

|

__OO
N

3

FA

~NO

B

Olo[E1= A& (00| H & =gt

M, 2¥o| o}
=
aT

PE

A2pE0]3
MEDE

4o

all
O

M

O

r

<+
ol

ol

F

ol

SR

I

S|
[=]

HIES ALE

LS

+Sol

Of0IE{S

=
T

OH
20

2
S

t

5 ¥ Torque WA

UL

320/ SAMICK



Mctuator® & McOmni

O/ 22=

Pressing Caulking(Reveting)

Crimping Forming

Bending Positioning
S

Stamping Punching 3
&
<
o
=

Spring test Fitting =

SAMICK |321



Mctuator® & McOmni

-—VIEW A

OE

= = = < 3 o wor L

B A+ Stroke

0 SUYH 14

McTP 000 -00- 000 - 0 -00 - 00

O | IX
N U

2CZ Za2d

—/ 2 = o
7|Et
OAEZ23(mm)
02CH(8Y)
EEEE
BLANK | 2EM 2
0 4M
PR [ 24N
PO ZEAMIA
-~ ezEER
MO | ZEE
BLANK | ZEZER

322| SAMICK



Mctuator® & McOmni

2 McGP-005 McGP-010 McGP-030 McGP-050 McGP-100
2|42 (kgf) 500 1,000 3,000 5,000 10,000
ABHAZH (kof) 250 500 1,250 2,500 5,000
ed 165/330 165/330 110/165 80/120 75/110
2|t Stroke (mm) ~200 ~ 200 ~ 500 ~ 400 ~ 350
0|42 (mm) 104m/100mm ( Free Load State)
HHE 21X E (mm) 010
22 +0.3%
H2tE220]3 (Nm) - = 8 30 50
42 2E| (KW) 0.4 0.75 15 35 5
2237 £ x2|E (mm) @15x10 @20x10 @32x10 @40% 12 @50 16
44| 1/3 1/3 1/3 1/5 1/7
A8 Guide McG-FP-32 McG-FP-40 McG-FP-50 McG-FP-80 McG-FP-80
1= A B C (D) % FxG
McGP-005 309 92 19 032.1 083 102 x 102
McGP-010 337 115 253 0404 @96 125125
McGP-030 461 150 318 050.3 @115 135x 135
McGP-050 610 190 385 ©80.9 @155 190 x 190
McGP-100 700 235 455 080.9 @155 200 x 200
e Hx1-@) PCD K L-M
McGP-005 80x80- @11 PCD 23 4-M5
McGP-010 100% 100 - @11 PCD 30 6-M6
McGP-030 110x110- 014 PCD 35 6-M8
McGP-050 155x 155- 318 PCD 60 6-M10
McGP-100 160 x 160 - 022 PCD 60 6-M12
1) 94 YAz 2E 2512 100% 0|5t
Z2) Stroke = Y& (Origin)MlA +OT 7HA|Y
F3) 2|Cf Stroke 0|4 27A| B 2o Hig
24) 55 3 232 M F2H (20| HH5E

SAMICK |323



Mctuator® & McOmni

o McOmni Mctuator® Controller

I, 5t2, £=E Aof5t0] Creret Y 2Heiof| 28 7Hs8 Mctuator® H& Controller

'

O 112924

Touch Panel

f

Loadcell Amp
A

Servo Amp <——

‘ MITSUBISHI
AV W\ ELECTRIC

YASKAWA
stl\/leca pion

Panasonic.

Servo Motor

324| SAMICK



Al
o

O:=
=
CiFot A& 2E] 0jjo]7{0f| Cligt B

8712 Y B (4 : 72| / siF
27}A| YFAIOl HMI : PC £2 Touch
Ztd Jafo al x2mjel 3lg| ;2
2000742| 2 2 o =g .

H{E{2]7} T ot

24 A

O+

State Display

Rotary DIP Switch

Servo Control Ports

Analog I/0O Ports (16bit)

Power

013
33

State Display 7 Segment

Rotary DIP Switch Control ID
Speed

Servo Control Ports
Torque

LoadCell
Analog I/O Ports (16bit)

Monitor

i 22| 22 (nvSRAM) : GIOJE| SAIE 95

Mctuator® & McOmni

[®)
of1

o o

kSt

3
o

|0[72] MERE HE 7t

K53t 8712 ZYmE

0.
r

T2bd Mt

A -II) : Ef
Panel AF2 2t
of JpHo| I
f HIOIE1§ 200074771A| A &5

X

29 22

) SAMICK |
DIP Switch

[ ‘.:‘,
‘e St
-

Communication Ports

Digital I/O Ports (24V)

<
o
o
c
)
=
o
=
®
0
<
o
o
3
=)

Zl Ol
(=]

7|

Jim
olr

Power +5V, +15V, -15V

DIP Switch Communication Baudrate

L0y =50y RS-232C. RS-422, RS-485,

Communication Ports CAN

=10V ~ +10V

4 ~20mA
Input 28 Ports

-10V ~ +10V Digital I/O Ports (24V)

=10V ~ +10V

(2 Channel) 20 Ports

Output

SAMICK |325



Mctuator® & McOmni

Jn!i ”!ll

45l017| HMI

0.

€Y SAMICK |

8 i

Servo Amp

ALIA07|(PLC, PC S)0IIM Al2[ Shtlez MAZE BLEE, ge Y Uy S JES A S+
olaL|CtH
My

© pigital 10 #0]

DIGITAL /O ¥ &S E5t0] 4LIAM07[0M 24 220 758

326| SAMICK



O 121252 Hm

YE2HUE 2L EHY
Work2tz|

AA[ZH 2 G|O[E] 2L EE
Helsh F4 QBT 0| A
AAZH M J2iE 27| 7|5
2 oy Y H2| 7|

Mctuator® & McOmni

@® Touch Panel

Log It 22|

YN BLIEY
Work2tz|

AA|1ZH 2 H|O|g 2L
Q21/24 He|

PC Tt 223t b2

o

Top | Monitoring [Operation | Result | Graph | Work | Settina | Maker
toed Do U
e 10725 2725
100 Torget
8
o
"
=
WORK PROGRAM
Worksct _ Work No. 2
Bl | il i
10 snug
PressMode.
1 Target load pressing @
5 7857 10714 5571 16428 19280 2 %
ResULT
Snug Position _ Distance Load ResultCode rror code
18725 3186 | 100115 1 Accept 0 Nane
|
Hom Start cle Reset || Sewooff Stop ORIGIN
Posiion Time postion load
gLy o awm a2
1 s 333
538 2 som Y
3 soor 203
1315 4 som 2900
s sou 2483
8769 6 505 2050
7 sos 1683
4304 8 57 1167
o 135 0917
o 10 516 0667
1 57 73 1300 5 161 61 053
i n s 0500
Jood 2 sa9 0467
100483 B 526 0467
u s 0467
15 5300 0467
s 1 537 0467
v s 0483
B s o83
¥ sa02 os17
98183 0 sam 0300
2 sao 0367
sars 0550
97.033 a ey —
Time Positon [
i ® Time-Load SAVE csv.
Posiion-Load
04733 cLose
1609 T2 U2s7 Dalss  Dseie  1704%  1sATIe 70
ome

€Y samick | 0

AUTO OPERATION RESULT | PREV | NEXT
Press . WORK
WORK O 0
Mode No operation mede fda
0 FULL L"OA’.\"J\ OFfEf: D!E]‘;A:\‘l:: ZERO Mfds‘ SPt’I:D’aj Set‘L’\im‘\‘i: Sampling Run/HDLd(ms&:()
SCALE uw oW U ser 0 UW O
erAm ofT A9 Al sz Az | STEP | posimion | 10aD TIME | GrpPat]

0.000]  0.000 [weos 000 000 0.0

0
= A|ZHSEC) axaz | ose | 00000 0000 0.0
0 0.00[  0.00fmsme 00| 0 00

e szl mmes| o | 00 00] 000

ed
22| () None 0.000]  0.00[wwse | 00 00| 0

olololoalo

START

SERVO

CLEAR OFF

RESET

STOP ESTOP

LogNumber]|

€Y samick | 0‘ PRESSING RESULT LOG ‘

DATE TIME ‘WorkCode | PressMode .
000000400 00:00:00 0| ( No operation mode
JudgeCode ErrorCode | TimeTotal Hc\dr\f‘ude POSITION | DISTANCE LOAD
{/None 0 0.00 ki START 0.000
DetectLoad LoadLimUp LoadLimDn

om0l 00 appronct | 0.000

DetectDist DistlimUp  DistLimDn

SNUG

000 | 00

PROBE START

0.00 PROBE END

000 | 0.0

0.000 0 0
i v.UW U
PrbRate | PrbRateUp  PrbRateDn PrbTime
oM 0 0
i uw U.W
PrsRate |  PrsRateUp  ProRateDn

0.00 000 0.00

000 | 00

Fustime PRESS START

0.00

PRESS END

000 0.0
000 | 0.0

HOLD

SAMICK |327

<
(2]
—~
e
Q
=3
(=)
3
®
0
<
(]
o
3
=l




Mctuator® & McOmni

Y S50 T2k 8ohel 4 2= F Ager RES B 1Y gL

(=] =3
1 s34 3152 Aofsto] SBAIZ0| SR 5D, 2iS 1Y
2 el 7242 Alot1ol SEA20] S5 HI3HD, 352 THY
5122 Aofatol S0 EZ5HS HAIHD,
3 AYAAEHZHA
AN BtE2 BHY
_ 5122 Aofeiol SEEHE0 SZEHS HAHL,
4 SELEE
515 HRHOINO| 35 H2iS T
. — 5152 Hofeiol SEsHZ0| ELoie A/t
oIS or%
- AHEZ 0140 550|312 Bt AN B33 22IS Y
s 5122 Aofstol SEEHZ0| Z5He! HAIHD,
6 WolmasEAE |
SHEAIT HSI0IA Peaksts 9I210] 51234 A2l B
_ 3152 Aoistol SEAHZ0 £ 3, SEH2I0| LT I
7 Yatzie _
SHHZS RSN 0I5, 015 B2 5 5157 2/ HY
5152 Aof3tol HHE AR S SBAZY) E5HD
8 AZAR7fot
a5 ez T
3IC) 11740 913 B2 BEZSES AXHOR 7|90
g4 Hel/otE A% .
A 8513 52 72| HY

328| SAMICK



Mctuator® & McOmni

S22 AOISH0l SEFIZTIA AME J1et %, OIS 2|7t Ar5ta HeILjol U2 BEKSH0f 219l BZ012S
AL
=20-d

Targetlond [NESEESS— __ - _______SSSSSES

loadLimtyp [IESSm— -~
Load Limit Down - —————————————————————— :

Change Load

FreeRun ' i Target Distance

(o el

7212 AOo510) S H2|TR| AME J1et S, 5120| AsIaH U0 QLA TTksio] 2 AcEE 2
gHLCt
(=] .

<
(2]
~
c
o
~
o
=
®
o
<
a
o
3
5

Load Limit Up |Riaeeii ™02 >® 0 GERS G
Load Limit Down EENRENES ____________TSZSECRol Rl il

Spood = (HENENNNNRENS 2/
Change Load

[ )
Free Run ' [Poskion)

Target Distance

SAMICK |329



ZtA
=

Hel LHOf| RUEA| LSO

gotet

Mctuator® & McOmni

O 472 siz413

SHIISIA| AME 1Y 2, A1 H2|0M 2 5tS0[ oot

5tE2 A 0f5to
YEo.

S H=
A0S 24
[Load]
Approch Step  Probe Step
Targetload -—————————————
Load LImitUp R — ————————————————
Load Limit Down [ - — — ——————————S———————
Specd | /L
Change Load
! r
Free Run : Target Distance [Posttion]

o= A
o ots HuH
* 5SS AO{ot0] SHOHSTA| AME 7HUSH A H=HS HSELIC.
- =0l 7|2t 5tS0] Yoot WO U2 Lot 2 BA0 RS YL
[Load]
Approch Step  Probe Step Press Step
Targetload F————————— ———
Load i Dow, [N """~ TEn r\\ T
Speed Change
Sotchange |/
Free Run Detect Point REZD
Distance Limit Up
Distance Limit Down

330/ SAMICK



Mctuator® & McOmni

(o LELEE

+ 5tS2 HM0fot0] SHSISIA| AME 7Yt EA 2 E ofF 01 50|
« St53 0|2 SIS PeakA| 2| 712|2} 5HS0| f5tSh el LHOil 2

[Load]
| Approch Step Probe Step
Targetload ———————— - ——— - - F———
Load Limit Up [~ ————————— == ———— -
Load Limit Down [————————————————————————
F Load
SpeedChange NS @~/
Load
1
~FreeRun
Free Run Dptect Delta F Load ston]
Distance Limit Down
Distance Limit Up

BHo SR H=
o a4 DA ots 45 z
5
o
+ StSS AI0510 SHSIEIA| AME 71 SIEM 2|1Y B2 51 Peak 212 72|0t StES ASBLIC, .
+ ZESE =P 2 515 Peaka Y2 712194 5t50| 431t Hel Lol QU=A| THSI0] 2 AT S 2RI 2
3
=
[Load]
Approch Step  Probe Step Press Step
Targetload————————————— e ——
Wopbiohd NG S iy
Speed Change|———————————————————— £ _
Load
EiselRun Detect Fleaki Load [Posiion)
Distance Limit Down
Distance Limit Up

SAMICK |331



Mctuator® & McOmni

QO %51z 74l

+ otS 2 AOf5tY SESISTMA| AME 71 =, T A2 7| Lot EI=2 I gLL
I 2
=

20

« ZE 2l B2 & /2|9t 5189 ¢ottt 7|ES THGI0 4Y 402

[Load]
Approch Step Probe Step Press Step
losdimitUp e ___ -
Targetload E=——————" ————————————— ——
Load Limit Down |- ——————————— = — = —— e
Speed |(HENNNNNS 2200000202000/
Change Load
1
[Position]
FreeRun Target Distande
Distance Limit Down
Distance Limit Up

O 1zt 2871

+ 5tS2 A0fot0] HSHA| Yotz

I A
+ THotE =2 & /2|2t ofE 9| Hofet I-E-% TSI 21 FH01FS 2L

[Load]
Approch Step Probe Step Press Step
Lioad|Limit Uy [SE e ,———————————— =db=e
Targetload E==—————— — ———— —— —————————1 —=
Load Limit Down [ — ——————————————+ —
- I - — —— — —— —— R
Change Load
1
FreeRun ' Step Time [Time] !
Distance Limit Down
Distance Limit Up

332| SAMICK



Mctuator® & McOmni

Linear Bushing

Guide Master

McGuide®

PBG

eSS

o

2
=]

IS S22 7HYURLCE

5

ICH 11742 S & 2]/

¢ o

oir

~

Press Step

Approch Step  Probe Step

[Position]

Target Distance1

Target Distance2

Target Distance3

|
=
I

Free Run

L
%

Load Limit Down3 [EESSESESSE: = = “SSSE1ES S

Load Limit Up1
LoadLimitDown? | ———————————________~___

Mctuator®&McOmni

Servo Cylinder

PICA

SAMICK |333



Mctuator® & McOmni

O Mctuator® - C Series

Mctuator® C A|2|2& McGuide®2t FYU B8AIZ7t 2EHE LR2M, Ao, 1244 U nHES
AISI5H o0 0|E{ QLY.

P
ox!

o
o
op>
-
Im

- atole QUE

0

334| SAMICK



Mctuator® & McOmni

|
9
od

AIE-

L1 + Stroke (Lm)

SR

(]
~

®
JZ%\U

[ )
re Huw

Y oX O

oZ

© AH

>
© o

S~
o
w

| 2z0f0]e]

J::
S 3

— 2

O | I
S U

e
I

O|lT|oo |v|o
ra

BN

7|E}

©B/S LEAD

05

5mm

10

10mm

S

EX
=T

0N

OAEZ3(mm)

PR

SHAN

PO

EEIN

SAMICK |335

<
(2]
o)
c
o
o
o
=
®
0
<
a
o
3
5




Mctuator® & McOmni

= McGC-028 McGC-032
2|ch22 (kgf) 200 200 400 400
HEHAZH (kof) 50 100 100 200
2
S (mm/seq) 400/700 200/350 400/ 600 200/300
(H4/z(h)
Max Stroke (mm) ~ 200 ~200

10m/100mm (Free Load State)

10m/100mm (Free Load State)

+0.01 +0.01
8 DE| (KW) 0.4 0.75
=232 24 x 2|E (mm) ?12%x10 @12%5 ?15x 10 @15x5
42 Guide McG-KP-28 McG-KP-32

I L1 (Lm)
McGC-028 208 68
McGC-032 211 86

T2 L2 CxD
McGC-028 268 70 x 155
McGC-032 288 80 x 190

1= oA (@d) Cs oAxB PCD a- @D1 bxc-@D2
McGC-028 70 @278 768 70 x 102 PCD 19 x M4 86 x 45 x (9
McGC-032 80 @321 @70 80 x 120 PCD 23 x M5 100 x 55 x @11
F1) 944 SE 2518 100% 0|5t
2)) Stroke = 2 (Origin)Of| Al +OT 7}A|Y
Z3) H& St & HEA HE 2ol 2%
F4) S U 2H2 NN AFO = ol IS8

336| SAMICK




EXDO
Osz2

@ A& ®

® 280 @

® 280 ®

Mctuator® & McOmni

SAMICK |337

buiysng Jesuiq

13)SBy 3pIng

@9PINYIN

94d

<
()
@
c
o
o
o
=
®
oo
<
()
o
3
5

Japunhg ontag

Vvaid



338| SAMICK



Servo Cylinder Series

2|L|0{5AIS Rod Guide2 At2%t

7aY HUHE A + A= MELRIE

DeiS 23/ D2/ BAY / BHLIS TS U

SAMICK 339



Servo Cylinder

o Servo Cylinder

MoB0| #2I|20 2L} £

[= B N

O 1z 1yperz

- OYE HUE 97|
. DY Y 2 51142 o]

+ Aof7} Hal3t Sajoly RE

ek
Linear Bushing (23t Rod Guide)
Ball Screw (3|H2sS AMREZOZ He
Non Rotation Guide (Rod &|Z1%|0{)
Cylinder Rod (124 Hjo1&1Zh)

kre
N oX
rn
ox!
=}
H

=

2
0|._|_\,'_O_>|'_

1wl

3
Linear Bushing (23t Rod
Ball Screw (3|4 2=2 2IM
Non Rotation Guide (Rod &|Z1|01)
Cylinder Rod (12d #0122

o 0

uide)
£02 W3t

=5

Ho

340 SAMICK

2h)

)

Non Rotation Guide

Ball Screw

Linear Bushing
Motor

Bearing Unit

Cylinder Housing

Cylinder Rod

* £51 55(2014)

B3
Cylinder Housing (212 Hf|oj212)
Bearing Unit (X = H|0{2! 28t (DBER))
Motor (F-S20{|0|E{-0i|0|HS 3t

Motor

Belt & Pulley
Ball Screw

Linear Bushing
Bearing Unit

Non Rotation Guide

Cylinder Housing

Cylinder Rod

B
Cylinder Housing (24 H|0{&Z)
Bearing Unit (14 B0 2
Belt & Pulley (4&st 3|24 MG
Motor (7+527:0]|0|E{-0|0|H =8

QE
o
™
-4
o

[l

foh
tol



Servo Cylinder

wir

o4

H

2A

'

o2

3

S|
[=]

22H IAE 2EJI0|ES 152322 A8

i6d

<N

HEHFoE 7S

oz Azl

I

=]
[=]

S A8

1ol

~

Ao d

Closed Loop #A1S A Z(Closed Loop System)

=

=2
5

A|0180]

S
< m
X O]
oF UH %o
aN o Wr

c _
_._._._ M A._ﬂ X
0 © X XU
) = o
ol o ol <F
RO T wr <J

Servo Cylinder

SAMICK | 341



Servo Cylinder

O/ 22=

- oY dEH AVttt S HF0f0/E
- 0I5 AAEL SUI Y2, 27 AL, UY 2S5 F Ak A|LH0| 28 +~ A= 22H 018

N

i}

EN

HEE2X A+S 710|= 2 YA

—_

J

TeELO[Y Al 2t0]0] 2tRIL| 3= ofF

710|E 8 & =27 LY = 0F
S2E 212273 £z 0=

2 2

Elojz=y CEEUEL 24y CERE
(SAS-T**DS-*xx) (SAS-T**PS-x*) (SAS-S**DS-* %) (SAS-S**PS-xx)

342| SAMICK



Servo Cylinder

o /o= Y = =4 ® TE|EO| Y A|AH

@ =Y |E 9x|2A ® 2|%|0|=

A=
—
'|i_ﬁiil
=

wn
3
o
(%)
=
=
o
1]
=

SAMICK |343



Servo Cylinder

SAS 7|2

o EO|2EY 27 7|2

L1 + stroke

L3 +st

0 SUYH 14

SAS - T/32 D F-03-000L -1

ENESS

Z20f(2E)

OARO|Z 132, 40, 60, 80

O | 4N
| X

/ ‘ ///”
\\\\\\\\\\\\\‘\\ d

N

344| SAMICK

ZCE ARy

—
ZEY

ok  EA

EYAHG—T)

©B/S LEAD
0AEZET

UM

1

1EA

2

2EA

3

3EA




Servo Cylinder

L1 + stroke (Lm)

o Z4d_EE =¥
@i
- L
] =
7= ?#32(462) @40(527) ?60(752) ?80(100Z)
Ball Screw Lead (mm) (2),3,(4),(10) (2),4, 5 5, (10), (20) 10
Ball Screw Dia. (mm) 10 12 20 25
2|t 3 (kgf) 150 250 500 1,000
A 24 (kgf) 75 125 250 500
Z|ti&E (mm/sec) 250 270 200 330
2EZ23(st) (mm) ~200 ~200 ~500 ~500 §
BCEO) 3|1 MAZ () +0.2 +0.25 +0.25 +0.25 5:2
HLE HEE (mm) +0.02 +0.02 +0.02 +0.02 %
SERVO MOTOR &% (50W), 100W (200wW), 400W 750W (TKW), 1.5KW

1) Ball Screw LeadOf| A B2 210l AtYF2 EFAISY.
Z2) A7) AF¥2 B2 Ball Screw Lead 22 AR

o o.

SAMICK | 345



Servo Cylinder

o 2E2 By
4-@D1 -
A f ) 7‘F‘
oA L2 + stroke (Lm)
B
o 2=y
OA & 3 L1 + stroke (Lm)
R &
@ o _lm+ [ ]
I i BHE (|
¢ \ L d + stroke \
D 2X2-0D2
o B3yl 74
071% : Mo HEAricy
OEHY
T ElO|2EYH
SECPEE)
OAL0|Z 232, 40, 60, 80
ooz
EE
P 1 4¥
ozFaH
EE
=
C | 382y
: T | E3uoy
/ ®B/SLEAD : 32, 40, 60, 80
/ 0AE=Z3

4 g MM
W
\\\\\\\\\\\\\\\\\\\ 1 1EA

2EA

2
3 3EA

346 | SAMICK



Servo Cylinder

SAS EIO|2EH (21Z Type)

rodd(@) | DA @d L1 L2 (Lm) BxC DXEXF axbx@D1 cxdx@D2 G (%)

buiysng Jesuiq

32 46 20 156 | 166 | (45) 79x50 82x56%33 64x32x7 62x129x7 M18x1.5

40 52 25 182 192 | (60) 90x55 90x62%36 72x36X9 70x154x9 M22x1.5

60 75 40 234 | 246 | (83.5) | 120x80 | 125x87.5x50 | 100x50x9 | 100x200.5%11 M36x1.5

13)SBy 3pIng

80 100 50 304 | 324 | (109) | 160x110 | 165x120x70 | 130x76x14 | 130x256x14 M45x1.5

@9PINYINW

94ad

IUWQIN B 101BNIDY

wn
@
<
o
(9}
=
=
o
(]
=

Vvald

SAMICK |347



Servo Cylinder

a="

T i T
L]
LD—A.\ \ d + stroke

2X2- @02 L3 + stroke

oM
N

o Y| 7Y

SAS - T/32 P F-03-000L -1

okl

T | EefUoid

OB/SLEAD : 32,40, 60, 80
0AE=Z3
MM

1 1EA

2 2EA
3 3EA

348| SAMICK



Servo Cylinder

SAS EO|2EH (%

o |2

Nz
2N

— - ff el

L3 + stroke

= |-

rod3 (@) L3 L4 HxJ @D3 K LxM
32 203 213 52x120 10 30 15%20
40 234 244 62x136 12 35 18%x24
60 302 314 88x186 16 40 25x32
80 387 407 130%x260 22 52 30x45

F1) ROD 2T AIY(G)2 EELIAIR| 1 S5 AIY TS 7ts

wn
3
o
(%)
=
=
o
1]
=

SAMICK |349



Servo Cylinder

D 2X2-@D2

B

L2 + stroke

(Lm)

L1 + stroke

(Lm)

_uﬁH

d + stroke

0 SUYH 14

SAS - 532 D F-03-000L -1

Y

350 SAMICK

0715 oo ML
OEHY

T EIO|2EH

S [EZEnEE)
@ Af0|Z 132,40, 60, 80
0ZYA

D[4

P |83
0zFa4

F[2c2 Zaxg

L | ®E9

[ ECEES:

T | E2UAE

©B/S LEAD : 32, 40, 60, 80
0AEET

o euMAE
1 1EA
2 2EA
3 3EA




Servo Cylinder

SAS A AZ Ty

® ELY

L1 + stroke (Lm)

D3

;ﬁl
)]

o

rodd(@)| OA | @d | L1 | L2 | (Lm) BxC DXEXF GxH axbx@D1 cxdx@D2 | (e)x@D3 J (%)

32 46 | 20 | 156 | 166 | (45) | 79x50 | 82x56x33 | 66x90 | 64x32x7 62x129x7 | (103)x12 | M18x1.5

40 52 | 25 | 182|192 | (60) | 90x55 | 90x62x36 | 72x104 | 72x36x9 70x154x9 | (128)x16 | M22x1.5

60 75 | 40 | 234 | 246 | (83.5) | 120x80 |125x87.5x50|105x145| 100x50x9 | 100x200.5x11| (166)x20 | M36x1.5

80 100 | 50 | 304 | 324 | (109) | 160x110 | 165%120x70 | 140x190| 130x76x14 | 130x256x14 | (201)x25 | M45x1.5

JapunAg oalssg

SAMICK |351



Servo Cylinder

L5 + st

18- — i
i oA ‘ ‘i‘ d + stroke |

2X2-@D2 L3 + stroke

Hu

I [

=

M[H

A

ogk

IES

F
L T —0O
C

okl

T | EefUoid

©®B/SLEAD : 32, 40, 60, 80
S —02LEZ3

?): C eMMAY
&‘/ 1 1EA

2 2EA
3 3EA

352| SAMICK



Servo Cylinder

SAS Z¥ (4

o U2y
%% 5 @ E‘%! 9
i&& ) B i} B b o
%)\%ﬂ [Fed ] ©L9
9, i 2 |
oA L3 + stroke M .ﬁ_
K
o E2L|Y
e8!
&& . , 8 gl B
M Z S °9
QT =R e
s ()
H 13+st
rodZ (@) L3 L4 KxL @D4 M NxP
32 203 213 52x120 10 30 15x20
40 234 244 62x136 12 35 18x24
60 302 314 88x186 16 40 25%32
80 387 407 130x260 22 52 30x45

wn
3
o
(%)
=
=
o
1]
=

F1) ROD 2T AIZ())2 BELIAIR| DA TS 7ts

SAMICK |353



354| SAMICK



Picker Actuator(PICA)

Ball Grid C}2td 710
(o]

SAMICK |355



PICA

o Picker Actuator(PICA)

C}zt3 710|E2 M85tn 2SS L5AUC 2 5He Pick & Place® 2200]E

9N, @
Adapter <\_£ F \ § >\

Hzg ’
4
S

Sensor Type
) Vacuum
‘r/v Forward
y X,
. <
/ {\" Reverse
Post & Housing(Polygon Type)<€——_~ -
Ball Cage
Air Cylinder
Adapter ‘\’_% o S Sensor
Aze N %

356 | SAMICK



PICA

sl A

z[Chet

PICA

SAMICK |357



PICA

® Z|$+=(No Sensor)

A
o ST e B i
n HHEP<;-ey P o
2-M2.5TAP, DP3 15 6
NIPPLE : M - 3AU - 4 (SMC) 700 235 M3 TAP, DP4
o g ‘ 25 (34 49) 10.4st
7 r%" =)
| O =
g‘ o) b T
S iy 1z B
M= i ! ~—— = s
i) S — = 5
" 3 5| o
s N S o
= 3
2.5 36.5 4135 10
16 43 13.5 ADAPTOR (B)
(7.4) 725 13
(92.9)
— iy | = o
© SdtHo| 17
| | 071Z : 49| m|7{o430{0]Ef
w L
‘ SN | NO Sensor Type
SO | $iS(Sensor Type)
S1 1EA(Sensor Type)
& ‘ S2 2EA(Sensor Type)
/ | o ERI2)
¥ 4 R [BLACK
P N | 2dsf LA

358| SAMICK




PICA

5| A ( )
® Z|=(Sensor .
o i 15— 5 5ol H=lEarTs
i 1 W = SRR 21j|
2-M25TAP, DP4 15 6
7% 23.5%2 M3 TAP, DP4
= 22w ‘ 25 (34 890 1045
|
B - o - Jmﬂ [
b T o ===~ < L == A 1 4 n
. CAH]] — = — =
ol Bl o =
s N
A ﬂ;;;:;,;:r = _42 ik L — ] o
(T -1
e
L= |
3 5
2 8l
N S
20 36.5 35 35 10
(7.4) 60 135 ADAPTOR (B)
(80.9) 13
(93.9

| 07|12 : Mol I|7{220{0|f
\ L

SN NO Sensor Type

S0 | g3 (Sensor Type)
S1 1EA(Sensor Type)
S2 2EA(Sensor Type)

OEHAZ|

BLACK

ELIE

\I
\ IR,
) [0S
\‘;}
=Z| >

Vvald

SAMICK |359



PICA

B At
g 7j0|E PBGO5 (FAZA5IZ : 250N, SHATIE 1 180N)
20 ~ 40g (27| +& Ad)

30/m O[5t

235x(91.9)x7.5

2A 50.5g
M3 (AR @ M2.5 - 2744, 7|2T(@2) - 2704
A 25 He 0T ~80C

Z|cH Skgf/cm, 2[4 1.5kgf/cr

/0§ 14009, 24 423g

T T
oo, 43 UE M3 Tap
HZIA HE Y +0.02mn
AR AERT 10mm
RFHR ADY Y 30g/m
400 5002t3]
Adaptor (B%) M3 Tap 2%
Sensor KT-36NE
Z1) AER3 A, S2IA| POST 212H &0 2 400g Tension S Q17134 [ 52l 2F
$_2) /\E'I;'(|Eh _Tl_?H Mohog o:lO| 7}%
F3) 2 3Y 2kgf/ ciO|st AHE 2ACZ ALE 20| T2 +H2 Heha 4 U
F4) Adaptor 2 224 Al

>
—u
ra
-|E
w
°©
=3
@

360| SAMICK

o*Tél H OIS A2 ti30| 7ts.



SAMICK |361



),

SAMICK






) sz

SAMICK PRECISION IND. CO.LTD.

N OPRESA EMT SNSHER 322 39 (942721)
TEL : (053)666-7100 FAX : (053)583-4669
Web site www.mysamick.com\
E-mail sales@mysamick.com






